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Questions

In 1764 A.D., spinning machine was invented in:

In Pakistan, out of total cultivated area, over 5 percent area:

Which country ranks first in palm oil production ?

France, Belgium, Netherlands & Germany are famous for:

World's more than 90 precent rice:

Pakistan's physical features and soil is:

In the world, in how many countries, uranium is present ?

Sowing crops is which economic activity ?

About 90 percent woollen textile industry is located in:

Who was head of boundary commission of 'Durand Line'?

The used of uranium at vast level is restricted due to its:

U.S.A's largest gold mine of Home Steak is located in:

Which continent keeps maximum number of cattle:

The ripening period of rape seed crop is:

In Pakistan, the summer in north-eastern & north-western mountain area:

A

A

UPFr U0Wr UO0WP U0Wr U0Wr 0O

nswers Choice

. United States of America
. Germany

. United Kingdom

India

Sugar-cane crop is cultivated
Sugar-cane crop is not cultivated
. Maize is cultivated

. Bajra is cultivated

. Malaysia
Thailand

. Indonesia
Burma

. Potato cultivation
. Dairy farming

. Wheat cultivation
Sheep rearing

. Continent of Asia produces

. Continent of Australia produces
. Continent of African produces

. Continent of Europe produces

. Not suitable for agriculture
. Best suitable for agriculture

C. Suitable to some extent for
agriculture

D

. Absolutely not suitablefor

agriculture

A
B
C
D
A
B
C
D
A
B
C
D
A
B
C
D
A
B.
C
D
A
B
C
D
A
B
C
D
A
B
C
D
A
B
C

. 50 countries

. 100countries

. 39countries

. Only 20countries

. Primary

. Secondary
. Tertiary

. Quinary

. Southern hemisphere
. Northern hemisphere
.US.A
. China

. Sir cyril Red-cliffe Award
. Lord Mountbatten

. Lord Macaley

. Lord Mecanzey

. radioactive property
lack of technology

. lack of raw material
. lack of money

. California state
. Utta state

. Dakota state

. Alaska state

. Europe

. Africa

. Asia

. Antarctica

. 90-120 days
. 200 days

. One year

. 60 days

. In moderate and pleasant
. In severe cold
. Is lot
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In the world, solar energy is a:

Composition of desert regions soil is:

According to 2000 statistics, total labour force of India was:

In 2000, world's nuclear power generation was:

Besides diet requirement, corn is and important:

In the world, second largest gold producer is:

Uranium was named after the planet:

In which year gold was recognized as international currency?

In Pakistan, best suitable time for wheat cultivation is:

Due to limited availability of raw material,potash fertilizer:

Natural growth in population of any region/country becomes:

Annual production of timber in Pakistan is:

Evolution of modern civilization is dependent upon:

For planting one acre of rice crop:

Commercial tea plantation started in India in:

In north-eastern China, Fashon coal mines are:

Hydro-electricity is:

Dow> ©
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oow
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Is warm-humid
Limited source of energy

Most important source of energy
Nominal source of energy

Clayeyin nature
Loamyin nature
Siltyin nature

500million
550million
600million

500 billion Kw

1000 billion Kw
100 billion Kw

Is not a fodder crop
Could be used as fodder crop
Could not be used as fodder crop

Russian Federation
India
China

Mercury
Pluto
Earth+

1750
1850

1950

Spring season
Throughout the year
Beginning of summer

is manufactured in limited countries

is manufactured in a few countries
is manufactured in 50 countries

Due to migration of people

Due to death of people
Due to birth of children

More than demand
According to our demand
Not according to our demand
Agriculture

Education
Human effort

40 kg seed is required

. 30kg seed is required

. 25kg seed is required

1950 A.D
1900 AD

1750 A.D

Recent coal mines in China

. Largest coal mines in China

Deepest coal mines in China

. Most costly energy resource

Costly energy resource
Cheap energy resource

Nnt cniitahla far rica Aran
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Warm and humid climate is:

In haematite iron ore, iron particles content:

Herding, fishing, mining and agriculture is man's:

In 1508, Portuguese introduced tobacco in:

With the gradual increase of population

Which sea is located in south of Pakistan?

In warm and temperate regions evergreen coniferous forests are:

In the continent of Africa, which country is largest producer of petroleum ?

Length of Lahore-Islamabad motorway including bypasses is:

During year 2014-15, 29.1 percent electricity consumption was in:

Wheat cultivated of this era, perhapes was first cultivated

Which country is largest producer of rice in the world?

In Pakistan, transported soil is found:

Cross-breed sheep produce world's:

In 2016, electricity consumption in agriculture sector was:

In Pakistan's plain areas, Roads, Railways and Air service is:

For successful vegetative growth of maize:

Dirina 2014-15 wheat nradiictinn in Pakistan was-

. INUL DUILGVIT 1VI 1I1IVT blU'J

C. Suitable for rice to some extent
D. May be suitable for rice crop
B. Is up to 50 percent

C. Is near about 40 percent

D. Is up to 45 percent

A. Secondary economic activity
C. Tertiary economic activity

D. Quaternary economic activity
B. China

C. Russian Federation

D. Indonesia

A. Forests area is increasing
B. Forests importance is becoming
less

D. Forests areas is expanding
A. Bay of Bengal

B. Persian Gulf

D. Mediterranean Sea

A. Found at low altitude areas
B. Found at high altitude areas
D. Found near coastal areas
B. South Africa

C. Nigeria

D. Angola

B. 400Km

C. 350Km

D. 300Km

B. Agricultural sector

C. Tradesector

D. Homesector

A. In Egypt

C. In China

D. In Germany

A. Indonesia

B. India

C. Pakistan

B. Plateau areas

C. Mountainous regions

D. Desert regions

A. 50 percent wool

C. 10 percent wool

D. Small amount of wool

B. 10percent

C. 15.2percent

D. 20percent

B. Present in ordinary form

C. Not present in any form

D. Present in well-developed from

oo0ow

. Very humid climate is required
. Cold-humid climate is required
. Every climate is suitable

. 15mi|ljpn tons
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At the time of agricultural revolution, would population was:

For tobacco cultivation, regions with 20 - 30 inches rainfall:

In the Baluchistan province, shortage of under cultivation are is due to:

For silk obtaining, silkworm are hatched from eggs in:

Due to industrial development which activity expanded ?

Herrings, mackerel, anchovies and tuna fish like to live in:

In equatorial rain-fed forests region annual rainfall is:

At the time of independence of Pakistan, our share of high type roads was:

In irrigated areas of Pakistan, how many irrigations wheat requires ?

Black and green tea is prepared:

Length of electrified railway line in Pakistan is:

Spinning if silk yarn & weaving of cloth started in China in:

The concentration of caffeine in tea ranges:

Due to continuous use of fertilizers:

In 1947-48, per hectare yield of rice was:

Mineral oil reserves are mostly found as:

Which mountain is located between Kabul river and Kurram river:

C. 10million tons
D. 30million tons

A. One billion
B. Only few lacs

D. 20 lac

B. Are not suitable
C. Are suitable to some extent
D. Are extremely unsuitable

A. Deficiency of resources
C. Physical features of mountainous

terrain
D. Shortage of human terrain

B. September
C. June
D. May

A. Trade
C. Communication

D. Resources

. In pounds of water
. cold and deep ocean water
. In river water

Very less

. Very meagre
. Up to 30 inches

UO0w> UOw

. 15 thousand Km
. 20thousand Km
. 10thousand Km

OooOw

. 10 irrigations
. After overy week
. After long intervals

o0ow

. From leaves of different plants
. From leaves of two different plants
. In fact, from different plants

o0ow

. 250Km
. 300Km
. 125Km

. 1500 B.C.

. Before industrial revolution

. Below one percent

B
C
D
A
C. 1000 B.C.
D
A
B. At very low level
D

. At very high level

o8]

. Air pollution does not take place
C. Air pollution increase to some
extent

D. Air pollution is decreasing

B. 500Kg
C. 1000Kg
D. 1500Kg

B. Metamorphic rocks
C. Igneous rocks
D. Plutonic rocks

B. Siwaliks range
C. Karakoram range
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Rice crop's ripening requires:

Pakistan is divided, in how many administrative districts ?

In the world, China ranks in sugar-cane production:

In Pakistan, per hectare yield of our crops is:

How much area of punjab province in under forests ?

From one pound uranium, we can produce equal to how much coal's energy ?

Soil with pH value, 4 - 7 is called:

Hevea brasiliensis's smuggled rubber seeds from Brazil were propagated in London's:

Colour of soil possessing excessive iron particles:

Soil with excessive organic matter is always:

Hybrid varieties of maize:

Sheep need drinking water:

On the basis of Chemical composition, grade of petroleum are:

Semi-dry regions with 10 - 20 inches rainfall:

Pig Iron refined from Iron ore contains:

In the Sub-continent, sugar-cane cultivation:

In the atmosphere, nitrogen:

O

> OOowp
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o0ow

A

C.
D

OoOow

B.
C.
D.

A

C

OW>» UOW

o0w> UOwW

. Salt range

. 10 months
One year
6 mmonths

. 108 districts

. 105districts
. 110districts

. at 5th position

. at 10th position
. at 1st position

. Not up to international standards

. Up to international standards
More than international standards

. 5.0million hectares
. 10.0million hectares
. Very small area

1000 metric tons coal
. 500metric tons coal

. Only 500 metric tons coal

. Basicsoil
. Neutralsoil
. Alkalinesoil

. LawrenceGardens
. WahGardens
. MayoGardens

. Is always brown
. Is always grey

. Is always white

. Silty in colour
. Red in colour
. White in colour

Are more productive
Are not more productive

. Yields very low

. In very large amount
. Does not need water
. Some time in small amount

5 grades

10 grades

15 grades

. Are not suitable for sheep herding

. Are suitable to some extent for

sheep herding

D

. Are not absolutely suitable for

sheep herding

A
B
C

> OOW

. Only 10 percent impurities
. No impurities
. To much impurities

. Ages-old practice
. Started in the 16th century
. Started after the arrival of Muslims

. is not present
. is present in small amount



D. is present to some extent

B. 5500Mw
C. 6200Mw
D. 4500Mw

85 During June 2016, installed capacity of hydel power was:

A. Agriculture

) . ) . ) o
86 In developed countries, bulk of population does work in which economic sector 7 C. Herding
D. Fishing

B. 1000kg rubber production is

87 From experimental rubber plantation of on hectare: possible
C. 500kg rubber production is possible
D. 5000kg rubber production is
possible

. Sub-surface water
. Rainfall
. Streams

88 In Pakistan, major source of water is:

. Cotton production
89 In the world, Australia ranks first in:
. Silk production

. Are not suitable

. Are extremely not suitable

B
C
D
A
C. Jute production
D
A
90 For development of fishing rugged coastal areas: B
D

. Does not effect

. 200 plants
. 150plants
. 250plants

91 Until 1985, how many nuclear power generating plants were working in the world ?

. 100 million metric tons
. 1000million metric tons

92 In the world, iron ore production in 1990 was: . 500million metric tons

Ow>» TOw

>

. 5 feet

93 In natural conditions,tea plant grows up to: 50 feet

. 100 feet

o0

. First
Fifth
10th

94 According to world's annual natural gas production, U.S.A ranks:

oow

. Not very successful
. Suitable
. Suitable to some extent

95 Between latitudes of 25°-55°, cultivation of wheat is:

1968 A.D

96 Japan's first cotton textile mill was established in southern Kyushu in: 1950 AD

. Fifteenth century

UO0w>» UOwW

. 90.5 million persons
. 75.5 million persons
. 110.2 million persons

97 According to 1981 population census of Pakistan was:

OoOow

. 4thposition
. Not any position
. 3rdposition

98 Maize production and under cultivated area, in KPK ranks in Pakistan at:

o0ow

. 10 million hectares
. 5.0 million hectares
. 15 million hectares

99 In Pakistan, total irrigated area is:

oow

. 25ships
. 50ships
. 30 ships

100 In 2016, private merchant ships in Pakistan were:

5 feet

101 In natural conditions, tea plant grows up to:

JOWP> TOW

. 50 feet

ANN fAnt
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Area-wise largest province of Pakistan is:

Soya bean is called proteins, minerals and vitamin:

According to investigate of agriculture experts, the plant require:

In Pakistan, which province has highest per hectare yield of sugar-cane:

From 3 locations of river Chenab:

In 2014-15, percentage of home consumption of electricity was;

In Pakistan, every year during monsoon and spring:

Excessive use of fertilizer is:

At the time of independence of Pakistan, transport facilities:

Highest peak of Sulaiman mountains is:

In 2001, world's largest iron ore producer was:

Rivers valleys of world, which possesses fertile plains:

United Kingdom's all mineral oil production come from:

In Pakistan, passenger wagons & freight wagons are manufactured in:

In 1908, Muslims achieved a political miles tone.

In Pakistan, Chances of development of Bio-Gas energy are:

Among means of transportation:

WP TOW ooOw oOow>» TOOw ooOw

o0 O

oow

o0ow

B.
C.
D.

UoOwP» UO0wWPE UOWPE U0m
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Sindh

. Punjab

N.W.F.P

. Not major source
. Small source
. Not any source

. 50 basic elements
. hot any mineral element
. some necessary elements

. Sindh province
. Baluchistanprovince

. KPKprovince

. Twocanals have been constructed
. Fivecanals have been constructed
. 10canals have been constructed

. 50percent
. 30.0percent
. 15percent

. Tree plantation is done
. Tree plantation is not done

. Plantation weeks are not celebrated

. Creating problems

. Creating nothing
. Creating severe problems

. Were latest and fast
. Were fast enough and developed
. Were better and latest

. Sad-Istragh
. Seka ram

Agram

USA

. Russian Federation
. Australia
. Are thickly populated

. Are almost totally unhabited
. Are very very thickly populated

. Atlantic ocean
. English channel

. Antarctic sea

. Rawalpindi
. Karachi
. Quetta

Muslim League was founded
Name of Pakistan approved
Quaid-e-Azam present 14 points

resolution

A
B.
C.

B.
C.

Very small
Very nominal
Unlimited

Railway has not any position
Railway has nominal position
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In irrigated regions of the world, wheat crop require:

Pakistan imports iron ore in:

The world Geo-graphy comes from:

The Kirthar hills are located along the boundary of:

In most of the countries of world, agriculture's share in economy:

According to govt. statistics of 2016, population of Pakistan was:

At first British established rubber plantations in:

For rubber plantation, trees and planted apart:

In 1990, world's largest producer of iron ore was:

Merino sheep produce world's:

For cultivation of one acre of sugar-cane:

In India, silk textile manufacturing started in:

In Pakistan, rice cultivation is limited:

For vegetative growth of rice crop:

In the world, which breed of sheep is superior:

In Pakistan, what percentage of labour force is working in agriculture:

Railway has not prominent position
10 irrigations

Only 2 irrigations
Limited irrigations

Large quantities
Small quantities

Not import iron

English
French

Russian
Baluchistan and KPK

Baluchistan and Punjab
Punjab and Sindh

DOwW» TOWP UOWP U0wWP O

Has not much consideration
Has special consideration

@ >

o

Has not any consideration

145million persons
170million persons
200million persons

oow

Maldives
Indaman Islands
Malaysia

One meter
5 meters

CO®m> DO

20 meters

United States of America
China
India

20 percent wool
10 percent wool

W> Uow

o

80 percent wool

B. 20 thousand pieces of sugar-cane
are required
C. 50 thousand pieces of sugar-cane
are required
D. 15 thousand pieces of sugar-cane
are required

B. 10th century A.D.
C. Before Christ
D. After industrial revolution

To un-irrigated regions
To rain-fed regions
Being cultivated in all regions

oow

35°C temperature is suitable
Low temperature remains suitable
High temperature is suitable

Cross breed

Desert sheep
Shropshires

20 percent
30percent
70percent

oW DOUP UOW

A. 100<b style="color: rgb(34, 34, 34);
font-family: sans-serif; line-height:
22.4px;">° </b><span style="color:
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For eleven months, silkworm eggs are kept under:

During 1998-89, Pakistan importing 4 million tons wheat:

Germany a major manufacturing mantion of woollen textile:

For making one ton stainless steel:

Distribution of population in the world:

According to 200 statistics, annual natural gas production of Russian Federation was:

In 1999, United States of America's consumption of petroleum was:

Length of common boderline of Pakistan & China is:

In Brazil, Rio-de-Janeiro is famous for which industry?

In Pakistan, more than 65.4 percent sugar-cane is cultivated:

After industrial processing lint (cotton fiber).

Total plain and desert area of Pakistan is:

According to June 1990 estimates, ironore reserves of the world are:

Uranium and thorium are being in nuclear power plants as a:

rgb(34, 34, 34); font-family: sans-serif;
line-height: 22.4px;">F
temperature</span>

B. 50<b style="color: rgb(34, 34, 34);
font-family: sans-serif; line-height:
22.4px;">° </b><span style="color:
rgb(34, 34, 34); font-family: sans-serif;
line-height: 22.4px;">F
temperature</span>

D. 32<b style="color: rgb(34, 34, 34);
font-family: sans-serif; line-height:
22.4px;">° </b><span style="color:
rgb(34, 34, 34); font-family: sans-serif;
line-height: 22.4px;">F
temperature</span>

B. Expenditure was 1 billion US $

C. Small amount of foreign exchange
was invested

D. Huge foreign exchange was
invested

B. Do not lacks in raw material
C. Have excessive woollen material
D. Imports small quantity of wood

B. No manganese is required

C. 100 poundsmanganese is required
D. Small amount ofmanganese is
required

. Is not uneven
. Is uneven
Is even

. 500 billion cubic meters

. 300 billion cubic meters
. 200 billion cubic meters

UOw» U0Ow

. 5 billion barrels
. 10 billion barrels
. 3 billion barrels

o QN

600 Km
900 Km
750 Km

oow

. Iron and steel industry
. Rubber industry
. Sugar industry

In KPK
. In Balushistan

. In Sindh

. Is preserved
. In stored in godowns

W TOWP U0

. Is brought into ginning mills

. 4,00,000 sq Km
. 5,50,000sq Km

OOow>» O

. 3,35,000sq Km

. 100,000 metric tons
. 50,000 metric tons
. 1000 million metric tons

o0ow

B. Not as a raw material
C. Can be use as raw material



D. Cannot be used as a raw material

KPK
Baluchistan
Sindh

149 According to 1998 census, which province possesses 55.6 percent population ?

1750 A.D

150 Avrtificial fibre nyloone was invented in: 1950 AD

After industrial revolution

DOU» DOD

In Australian continent

151 According to 2002 estimates, world's 60.6 percent population is: In continent of Europe

In continent of South America

oo w»

In very smallquantities
In moderatequantities
In sufficientquantities

152 Maize grains contains vitamins (A):

oow

1500 A.D
1914 AD
1750 AD

153 Rice cultivation began in U.S.Ain

oow

Was 15 thousand Km
Was 20 thousand Km
Was 10 thousand Km

154 At the time of independence of Pakistan, share of Pakistan in average type roads:

Uttar Pardesh
155 India' s largest woollen textile manufacturing center is: Maharshtra
Rajasthan

In revers
In lakes

156 Where does Fish resources exist In streams

Ow» DOUP UOW

A. Australians
B

157 Arabs introduced rice to: - Africans

D. British

Mineral oil
Coal
Natural gas

158 Nuclear power (electricity) is generated with the help of:

Teak plant
Deodarplant

m> OO

159 Important plant of Mediterranean region:

o

Mahoganyplant

For medical students
For engineering students
For arts students

160 For which students, study of commercial Geography has more importance

oow

Uranium 238
Uranium 500
Uranium 1000

161 Which uranium is mostly being used in the world ?

15 percent

162 How much area of Pakistan is under forests: 25 percent

50 percent

DOT> DOW

5,000million
4,500million
3,200million

163 In 2000, population of low income countries was:

oow

810 Km
900 Km
500 Km

164 Length of common borderline of Pakistan & Iran is:

ocow

100 kg seed is required
30 kg seed is required
Only 20 kg seed is required

165 For sowing one acre of wheat:

by Greeces
by China

w> Uow
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Sugar-cane was introduced in the Western hemisphere (America):

U.S.A' s largest gold mine of Home Steak is located in:

The continent of Antarctica and Greenland are:

In the life of Eskimo people:

Soil with pH value, 4-7 is called:

From economic point of view, iron is world's most:

Corn oil was introduced in the world in:

In Europe, largest producer of mineral oil is:

Annual production of timber in Pakistan in:

World's per square Km population density is:

Which district of Punjab is most thickly populated ?

When did world population became 6 billion ?

In South America, largest rice producing country is:

Total labour force of high income countries of the world is:

In the world, use of natural gas was begun from the America town:

Use of mineral oil as energy resource started in:

Quality of coal depends upon:

According to 1981 population census of Pakistan percentage of urban population was:

Ow>» DO

oow

oow

oow

oW
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. by British

California state

. Utta state

Alaska state

Thickly populated
Moderately populated
Very thickly populated

Camel is an important animal
Horseis an important animal
Cattleis an important animal

Basic soil
Neutral soil
Alkaline soil

Costly metal
Rare metal
Rare available metal

1750 A.D
1850A.D

1950A.D
United Kingdom

Denmark
Germany

More than demand
According to our demand
Not according to our demand

500 people
300 people

50 people

Faislabad
Gujranwal
Rawalpindi

December 2000
January 2004
June 1995

Chile
Peru
Argentina

550million
500million
450million

Birmingham

Headen-field
Dublin

1750
1870
1900

. Hydrogen content of coal

sulphur content of coal
Silicon content of coal

25 percent

. 20.5 percent

35 percent



. - . B. Ranks second in the world
184 In woollend textile manufacturing industry, china: C. Ranks no where in the world

D. Have a little consideration

B. Is practice in commercial way
C. Is a limited activity
D. Is not being practiced

185 In Mangolia, Tibet, Sin kiang and Central Asian countries, rearing:

B. There is no need of means of
transport

C. Means of transport has very little
value

D. Means of transport have enough
weight

186 Internal and external development of trade of any country:

A. Opened in Glasgow

187 In 1851, first Industrial exhibition of the world: Opened in New York

Opened in Tokyo, Japan

10% area of the total forests

0,
188 World's evergreen rain-fed equatorial forests covers 5% area of the fotal forests<br>

95% area of the total forests

> Dowm» OO0

Become mature in limited period

189 In coniferous forest region plants:
Become mature within 10 years
Growth is very fast

Forest area is increasing
Forests importance is becoming
190 With the gradual increase of population: less

w>» 0o

D. Forests areas is expanding

B. Kharan and Makran
C. Pishin and Loralai
D. Zhob and Qila Saifullah

191 In Baluchistan province, important tobacco producing districts are:

B. Cannot be used direct in the
reactor

It is found in huge quantity
It is very cheap

192 What specific character, uranium-235 keeps?

dissolve-able
193 In most of the solvents, gold is: .

may be dissolve
cannot dissolve

Indus valley
Tigris &amp; Euphratesvalley
Nilevalley

ow» DOwP 0O

194 Agricultural activity began in the world, from:

Wheat export

195 Sri Lanka's exports are mostly dependent on: Coconut export

Fish export

. Port Darwan region
. River basin of Darling

> Towp

196 In United States of America, which region possesses largest uranium deposit ?

D. North-eastern region

197 Sugar-cane, cotton, rice and maize are: B. Rabi crops
C. Zaid Kharif crops

D. Zaid rabi crops

River Kabul
River Swat
. River Chenab

ow>

198 At which river, 6 barrages and 18 canals have been constructed:

A. 15 percent population is engaged

199 At present, in agriculture activity, world's: C. Only 5 percent labour force is
engaged
D. 90 percent labour force is engaged



. 100 million tons
. 5000 million tons

W >

200 Total production of rice in the world is:
. Only 100 miillion tons

In winter

201 Maize is crop, which is sown: . In every season

. At the start of winter
. 5,000 thousand metric tons
202 According to latest estimates, world's uranium deposits are:

10,000 metric tons
. 1,000 thousand metric tons

Uow» UOowP» O

Eight
Nine
Five

203 How many international airports are in Pakistan ?

. United Kingdom
France

. ) . L ”
204 Which country became first center of silk textile in Europe 7 Germany

om» DO

205 Canada, Brazl, U.S.A, China and Russian Federation together produce world'd hydro-
electricity about:

. 25 percent
. 70 percent
. 40 percent

. After one month

206 In warm humid Equatorial countries, tea picking is done: - After every year

OO w> o0Ow

. After every three months

. about 10 million hectare
. only 5 million hectare
. 50 million hectare

207 In the world, area under cotton cultivation is:

o @ Ny

. Only one lakhhectares
. 5 lakhhectares
. A few lakhhectares

208 At the time of independence, area under sugar-cane crop was:

OooOw

In 1955
. At the time of independence
. During last decade

209 National Shipping Corporation of Pakistan was founded;

. One billion Kilowatt
. 500 billion Kilowatt

210 In 2000, total electricity generation of the world was: 100 billion Kilowatt

OwW>» UOw

. Public sector
211 Is capitalist planned economy, industrial development is mostly in: . The hands of Government people
. The hands of labourers

1914

1890
1805

212 When did Russia, entered among oil producing countries ?

ooT» DOoU»

213 In 1901, present area of Pakistan had population of present area's population was: . Only one crore persons
. More than 2 crore persons

. 5 crore persons

o0ow

. 20 million metric tons

214 In 2013-14, Pakistan's record wheat production was ? " 20.5million metric tons

. 15.2miillion metric tons
China
215 Which country consumes 20 percent, petroleum production of the world ?

. Russian Federation
India

DoOw» UOowp

. 10 percent
. 20 percent
. 25 percent

216 At present, how much energy is generated by nuclear means?

> oOOw

90
217 How many nuclear power stations are present in Japan ?

D

an
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In Pakistan, how many agricultural farms are ?

Pakistan's 25 percent farmers, possesses agriculture land:

Hevea brasiliensis plant provide world's

In agriculture economy, vegetable oil crop:

In cotton production, among the continents:

At the time of Industrial Revolution, important source of energy was:

Which uranium is mostly being used in the world?

One kilogram raw silk is prepared by:

For woollen textile industry, India:

Port Muhammad Bin Qasim is located from seaport of Karachi:

In backward countries, manpower ratio is:

Saudi Arabia's largest petroleum reserve field is:

Is manufacturing nitrogen fertilizer, natural gas is being used:

Out of total GNP, what percentage we earn from rice crop ?

Rice cultivation began in U.S.Ain:

At which year, Orient airways continued it business ?

At the time of Independence (1947), consumption of irrigation water was:

o0ow

oOoOw>» OTOOw

B.

O0wW» UO0W» U0OW

OW» TOW

~100

. 5.0million
. 10.2million
. 7.0million

. Morethan 10 acres
. Less than 15 acres
. More than 20 acres

50 percent natural rubber

. One-third natural rubber
. Small amount of natural rubber

. Have not any, importance
. Have very little importance

. Have no importance

. Australia ranks first
. Europe ranks first

South America ranks first

. Atomic energy
. Hydroelectricity
. Thermal electricity

. uranium 238
. uranium 500
. uranium 1000

. 10 thousands silkworms

. One thousands silkworms
. 500 silkworms

Does not import wool

C. Depends on local wool

D.

Does not depends on imported

wool

UoOw>r "UOow oow ow» UOw

TOw

OU> DO

. 20Km north
. 30 Km south-east
. 10Km south

. Very huge
. Huge
. Very very huge

. Abqaiq
. Safaniya

Ain-Dar

. not as a raw material

. can be used as raw material

. Not being used as raw material
. 1.6 percent

. 5.0percent

. 10.0percent only

. 1500 A.D

1914A.D

. 1750A.D

1957
1960
1965

. 50 million acre feet

. 100million acre feet
D.

20million acre feet
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World's how much natural gas reserves, Russian Federation possesses ?

For cultivation of maize:

Which province of Pakistan is most thinly populated ?

In the world, winter wheat hectarge is:

India's largest iron ore deposits are in:

In the world, sea transportation:

Length of Pak-Afghanistan borderline is:

Merino sheep produce world's

Those sea coastal areas where rivers join:

In Mangolia, Tibit, Sin kiang and Central Asian countries, rearing

Length of Karakoram Highway (N35) is:

Paper manufacturing industry depends upon:

From Malaysia, first time rubber export started in:

Cultivation of Virginia tobacco in Pakistan is being done:

The Economic Geography's book "Principal's of Economic Geography" was written by:

Out of total export of wheat in the world:

When did, demarcation of 'Durand Line' took place ?

. 1000trillion cubic feet
. 500trillion cubic feet
. 32,300trillion cubic feet

Ow>

. Lowtemperature is required
. Moderatetemperature is required
. Severe hot season is required

oo0ow

B. KPK province

C. Punjab province
D. Sindh province
A

. 50 percent of the total wheat
hectarge
B. 90%of the total wheat hectarge

D. Only 20%of the total wheat
hectarge

. Madhya Pradesh
. Maharashtra
. Jabalpur

OooOw

. Is a modern transport service
. Has special importance
Has no importance

2200 Km
1800Km
1850Km

Ow> UOow

. 20 percent wool
. 10 percent wool

W >

D. 80 percent wool

B. Does not contain any food material

C. Not suitable for fisheries
D. Are deficient in sea food

. Is practice is commercial way
. Is a limited activity
. Is not being practiced

o0ow

. 1000Km
500Km
. 750Km

TOw

. Agriculture
Grass
. Desert vegetation

1870 AD

1900 AD
1920 A.D

DOU> DOW

. For hookah
. For chewing &amp; snuff
For medicine

. <u>Ratzal</u>
. Adam Smith
. Marshal

OWP» TOW

. Australia exports largest share
. U.S.A exports 80 percent
. India exports 25 percent

|oN@Nsy)

1857
. 1890
. 1947

o0w
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For best vegetative growth of natural rubber plant:

During refinement the temperature of Open-Hearth furnace can be:

After plantation tea plant, it takes how many years to picking stage?

Woollen clothes are being used by man:

In the World, greatest fish catch is done by:

For how many cities of Pakistan, PIA provide air service ?

In Iron & steel Industry, U.S.A ranked first

Pakistan, China, India and Japan are cotton textile:

Commercially significant coal deposits occur in:

In the continent of Australia, hydro-power generation potential is:

In tobacco production, Punjab province ranks:

In 1960-61, percentage of passengers travelled by railway was:

Due to limited availability of raw material, potash fertilizer:

When did Industrial revolution took place?

Ratio of labour force in agriculture sector in United Kingdom is:

Largest tea producing country of the world, is:

Due to huge population increase by animal means:

Best quality of coal is:

W >

DOwW» TOWP O

DOm>» TOmP» UOWm

oow

oCow

Om>» DO

DOU» TOD

oW DOWP UOW

There is not any need of rainfall
Small amount of rainfall is enough

Only 30 inches rain-fall is enough

Increase up to 1000 C°
Increased up to 2000 C°

Increased up to 500 C°
10 years
Only one year

15 years

Since 16th century
Since 18th century
Yest one hundred years back

United Kingdom
India

USA

50 cities
75cities

25cities

1900-1950
1900-2000
Still ranked first

B. Importing countries

C. Not exporting countries

D. Not importing countries

Metamorphicrocks basins
Igniousrocks basins
Plateaurocks basins

Very huge
Very very huge
Nominal

Fourth
First
Third

70percent
30percent
65percent

Is manufactured in limited countries

Is manufactured in a few countries
Is manufactured in 50 countries

1850 A.D
1900 A.D
1675 A.D

10 percent
5 percent

20 percent

Kenya
Japan
South Korea

B. Fat demand is easily being fulfilled
C. Fat demand could be easily fulfilled
D. To fulfil the fat demand will not
possible

B. Bituminous
C. Lignite
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In the world, annual production of Soya bean is:

From economic point of view, sheep is reared for:

In the world, in sugar-cane production, Pakistan:

Important production of Mediterranean sea is:

For wheat cultivation, temperature ranging between 50°-60°F:

In the Sub-continent, cultivation of maize started in:

In Pakistan, roads are:

Coal, petroleum, natural gas, nuclear energy and solar energy are:

At present, generation of solar energy is a:

How much maximum annual average rainfall in Murree ?

At present, how much percentage of electricity is being produced by nuclear stations?

Rearing or herding is a

In Pakistan, every year during monsoon and spring;

The raising of silkworms (sericulture) is a home industry:

During 2014-15, per hectare rice yield in Pakistan was:

Mining is considered as man's:

First cotton textile mill od India was established at:

o

oo0ow

B.
C.

D

OW» UOWP» UOW> U0

Peat

. 100 million metric tons
. 200 million metric tons
. 500 million metric tons

Skins
Meat

. Wealth

. is first largest country
. is an important country

. is 10th largest country

. Corn &amp; sugar cane
. Cotton &amp; ground-nuts
. Banana &amp; pineable

. Is absolutely not suitable
. Is not suitable
. Is not enough

. 15th century

. 18th century
. Before Christ

Unimportant means of transport
Are better means of transport
. Are not successful means of

transport

oow

oow

oow

COm> DO

DOT» DOTP DOmP DOW

> Do

Not means of energy
Nominal means of energy
Unimportant means of energy

Very cheap mean of energy
Cheap mean of energy
Costly mean of energy

100inches
45.6inches
50inches

50 percent
30 percent

35 percent
Secondary economic activity
Quinary economic activity

Quaternary economic activity

Tree plantation is done
Tree plantation is not done

of Pakistani people

of Japanese people
of ltalian people

2050 Kg

2500Kg
3500Kg

Quinary economic activity
Secondary economic activity
Tertiary economic activity

Solapur
Jamshedpur
Telangana

. June 1947

Plantation weeks are not celebrated
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When did demarcation of Pakistan-Iran boderline took place:

Discharge of Indus river in the Arabian Sea, is annually:

Before 1991, in wheat production, Russia was:

In Pakistan, spring maize cultivation is done:

During fifteenth century, cultivation of wheat, barley & oat was:

Which country of the world, produces lowest rice production ?

In the continent of Africa, which country possesses largest petroleum reserves:

What is basic diet of fish ?

In the Sub-continent, cultivation of maize started in

During 2014-15, production of oilseeds was:

In Pakistan, Indus plain region's:

In the continent of South America percentage of forest cover is:

In June, 2016, Pakistan's installed capacity of electricity was:

Geography is divided into two major branches and one is

In Pakistan, potash fertilizer plant has bee erected:

At present, percentage of goods transfer by railway is:

More than 77 percent wheat production of Pakistan:

C. December 1857
D. November 1890

. 10 - 15miillion acre feet
. 25million acre feet
. Only 5miillion acre feet

oo0ow

. Second largest producer
. A top ranking country
. Not a top ranking country

o @ Ny

. Every month of the year
. From November to December
. In July-August months

o0Ow

B. Introduced in the Northern
Hemisphere

C. Introduced in the Indian Sub-
continent

D. Introduced in Europe

B. New Zealand
C. Peru
D. Argentina

. Nigeria
. Algeria
. Angola

o0Ow

. Grass
. Mineral particles
. Meat

o QN

. 15century
. 18century
. Before Christ

oow

B. 5.0 millionmetric tons
C. 4.2 millionmetric tons
D. 7.2 millionmetric tons

B. Soil is not suitable for sugar-cane
cultivation

C. Soil is absolutely unsuitable for
sugar-cane

D. Soil is suitable for sugar-cane

A. 10 percent
B. Very small area

. 90percent
. 12700MW

17415MW
. 20000MW

oowp» O

. Military Geography
. Cultural Geography
. Racial Geography

. With he help of India
. With he help of Iran

Oowm>» OTOOW

. With he help of Japan

. Only 20 percent
. Only 5 percent
. 15 percent

OO w

. Comes from Sindh Province
. Comes from Baluchistan Province
. Comes from N.W.F.P

ooOow
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Pakistan's three percent mangrove forests are found:

Holiday resort of Murree is located in:

World's largest sugar-cane producing region is:

Which economic activity is making Iron and Steel and Machinery from Iron ore ?

In the world eastern, south-eastern and southern region of Asia:

In Pakistan, tea production has:

Maize (corn) oil due to low chaloesterol:

Annual rubber production of the world is about:

In United States of America, installed power generating capacity of first nuclear power plant
was:

Who invented the artificial silk ?

Mixture of sandy sand clayey soil is called:

In Pakistan, what percentage of energy is fulfiled by electricity?

Most of natural rubber production in the world is being used:

In the world, largest producer of uranium is:

Length of Ratodero-Gawadar express highway is:

Among lint producing countries, China, India, U.S.A and Pakistan:

In 1990, world's largest producer of iron ore was:

In | Inited States nf America mnst imnartant Indiistrial reainn is-

A. Along the Sindh coast

C. In the N.W.F province
D. In the southern Punjab

B. Pri Panjal range
C. Himalayas ranged
D. Potwar plateau

temperate region
torrid region
every region

Primary
Quinary

CO®m» UOW

Tertiary

Produce 20 percent of world tea
Produce 25% of world tea

@ >

D. Produce only 10% of world tea

Not started
Time, to start
Few years, to start

oow

Is not suitable for humans

Not useable for human beings
Is dangerous for health

More than 100 million tons

50million metric tons
200million metric tons

100 megawatts

150 megawatts
500 megawatts

DOUP DOWP» TOW

Hsi-ling-Shi
Charles Nicolas
Henery Cooper

ocow

Clayey soil
Sandy soll
Silty soil

oow

10 percent
25 percent
50 percent

For manufacturing toys
For manufacturing utensils

China

Canada
Germany

COU» TOWP» DOW

1000Km
550Km
600Km

Stands no where

Absolutely stands no-where
Stand at normal position

DOT> DOD

United States of America
China
India

ocow

B. North-western region

For manufacturing water-proof cloth
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. South-eastern coastal region
. Central region

o0

322 In developing and underdeveloped densely populated countries, which type of agriculture
is being done ?

B. Commercialagriculture
C. Cash cropsagriculture
D. Fruitagriculture

A. Irri-6

B. Irri-12

C

323 Which variety of Pakistani rice has world reputed ? .
. Qulandri

B. second largest producer of cotton

324 In the world, China is: C. not important producer of cotton
D. an unimportant country for cotton
sowing

A. Is not suitable
325 For cotton cultivation, well-drained loamy soil: C. Is highly unsuitable
D. Is suitable to some extent

. Clayey soil
. Sandy soil
. Silty soil

326 Mixture of sandy and clayey soil is called:

OO w

. Reddish
Brown
White

327 In Pakistan, north-eastern mountainous regions soil colour is:

. 10 billion
. 15 billion

> DO

328 World's population in 2015 us expected:

O

. 6 billion

. occurs very heavy
. occurs occasionally
. do not occurs

329 In Baluchistan and Sindh provinces, monsoon rainfall:

OooOow

. In mountain areas
. Along the coast of the sea
. In the areas of Pakistan

330 In Pakistan, Bela forests are found:

o0ow

. maize
. sorgham
bajra

331 In Pakistan, after wheat, second important food crop is:

oO®

. cold climate is necessary
. dry and hot climate is suitable
. climate does not affect

332 For maximum yield of sugar-cane:

. New York
. California

333 Largest woollen textile manufacturing center in U.S.A is: :
. Providence

O>» OOl

. Egypt

i i i i - ?
334 Which country in Africa, produces maximum sugar-cane? _Kenya

. Nigeria

> OOowp

. 25% hydro-power generation
potential

335 Continent of Africa's hydro-power potential is world's: C. Very limitedhydro-power generation

potential
D. Very largehydro-power generation
potential

B. At large scale
C. For local needs
D. For international market

336 In home small scale industry, goods are manufactured:

B. 500thousand hectare

337 In 1947-48, area under rice cultivation in Pakistan was: C. 100thousand hectare
D. 250thousand hectare



B. Hydro-oxygen

338 Mineral oil is a compound of: C. Hydro-sulphur
D. Helium &amp; orogon
B. Pelagic fish

339 Deep sea water fisheries is called: C A?w:grlgnli)usﬁsh
D. Halibutfish

B. Persian wheelmajor source of

340 In mountainous terrain of Azad Kashmir, Gilgit-Baltistan and KPK: irrigation
C. Canals aremajor source of irrigation
D. Irrigation is done by ponds

B. For manufactured tyre &amp; tube
C. For manufactured rubber balls
D. For manufactured rubber goods

341 In 1823, Charles Macintosh established a rubber plant:

342 Out of total world electricity production, percentage of hydro-electricity is: B. Most costly energy resource
C. Costly energy resource

D. Cheap energy resource

B. Mostly costly means of transport
C. Prominent means of transport
D. Ordinary means of transport

343 At land, for transferring heavy goods, railway is:

Lint is no more needed
Raw material is not needed
No struggle is required

344 For cotton textile manufacturing:

oow

L . B. unimportant need
345 Petroleum is important source of energy and present day's: C. not any big need

D. not any important need

. . . B. 10million metric tons
346 During 2014-15, sugar-cane production was: C. 2million metric tons

D. 12million metric tons

. . Lo B. every season is suitable
347 In Pakistan, sugar-cane croping period is: C. dry and hot climate is suitable

D. in the autumn

. . . B. Done by machines
348 In old days, cotton textile manufacturing was: C. Much larger industry

D. Europe's important industry

Continent of Africa
Continent of Asia
Continent of Australia

349 In the world, which continent produce maximum potash fertlizer:

oow

8775Km
6900Km
9500Km

350 In 2015-16, length of railway line in Pakistan was:

July 1971
. . . ”

351 When Port Muhammad Bin Qasim Authority was founded 7 December 1975
January 1990

Europe
Australia
Africa

OW» COUP DOW

352 World's 13.2 percent hydro-power is generated in the continent of:

A. Road transport

353 Which means of transport is most suitable for international trade ?
C. Air transport
D. Railway transport

B. 5 major groups
C. 15 major groups
D. 20 major groups

354 How many major group of fisheries are found in sea waters ?

Nitrogen
Water
. Mineral particles

355 Plants obtain from air

cow
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In woollen textile manufacturing industry, China:

Rice is cultivated mostly in:

Invention of hydro--turbine, provided:

In the world, population growth rate of low income countries is:

In the world, estimated area under wheat cultivation is:

1851's industrial exhibition was opened by:

Among vegetable oil producing countries, china:

Irrigated area in Baluchistan province is:

In the continent of South America, largest natural gas producer is:

During 2014-15, lint production of Pakistan was:

Length of Siachan glacier is:

Mineral oil reserves are mostly found in:

In the beginning Natural rubber plant was discovered:

Close population is that population, where:

The Sulaiman mountains are located in north-south direction in Baluchistan province up to:

In more than 5000 manufacturings, coal is used as:

In New Zealand, per sheep wool production is:

B. Ranks second in the world
C. Ranks no-where in the world
D. Have little consideration

A. Desert regions

C. Tundra region
D. Western European region

B. Limited chance of hydro-power
generation

C. Easiest chance for hydro-power
generation

D. Very limited chance of hydro-power
generation

A. 2.0 percent annual
B. 2.10percent annual
C. 3.0percent annual

A. 5 thousand million hectares

. 1000 million hectares
. 10,000 million hectares

o0

. Indian Viceroy
. President Rose Walt
. Henary Eighth

OooOw

. Ranks at the top
. Is not considerable country
. Is an important country

. 2.0 million hectares
. 5.0million hectares
. 0.80miillion hectares

OWm» OO

. Venezuela
Brazil
. Colombia

ooOm

. 5million bales
. 15.0million bales
. 10million bales

55 Km
60Km

WPH UOw

O

. 45Km

. Metamorphic rocks
. lgneousrocks
. Plutonicrocks

oow

. In the Ganges river basin
. In the Mississippi river basin

O 0w

. In the Congo river basin

. Migration is in progress
. Migration take place occasionally
. Migration is due to any disturbance

300 Km

. 400 Km
500 Km

UOw» U0Ow

. Not as a raw material
Can be used as a raw material
. Cannot be used as a raw material

. Only 10 pound
. 20 pound

W> 0w
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Pakistan' s first woollen textile mill was:

Baroghil Pass located in Hindukush mountains provide linkage between :

In Pakistan, KPK province ranks in tobacco cultivation:

India, Pakistan, Brazil, North Korea, South Korea and China are:

In the world, largest Soya bean producing country is:

Industrial Revolution started in U.K in:

Plants obtain from air:

In Pakistan, among provinces:

In the Indo-Pak Sub-continent, cotton cultivation:

Human intervention and others factors:

Pakistan's largest hydro-electricity project is:

For rubber plant plantation, which soil is most suitable?

In the world, ranking of India in sugar-cane production is:

Coniferous Evergreen forests covers how many percentage of total forest area of the world

forests ?

For silk obtaining, silkkworms are hatched from eggs in:

World's estimated mineral oil reserves are:

D. Very small

. Gulshan woollen mill
. Wali woolen mill
. Ayesha woolen mill

o0Ow

. Herat and Pakistan
. Wakhan and Pakistan
. Sinkiang and Pakistan

o0

B. Second
C. Third
D. Fourth

A. Extremely backward countries of the
world

C. Advance countries of the world
D. Most Advance countries of the
world

A. India
B. France
C. China

. Sixteenthcentury
. Seventeenthcentury
. Twentiethcentury

OoOw

. Nitrogen
. Water
. Mineral particles

oo0ow

B. In wheat production Punjab ranks at
second position

C. Baluchistan ranks top in wheat
production

D. Sindh is largest wheat production

A. is being done, for thousand years
C. began in third century A.D

D. began before a few centuries

. Do not affect the growth of forests
. May affect the growth of forests
. Limit the growth of forests

oo

Mangla
Warsak

Malakand
. Marshy land

. Sandy soil
. Clayey soil

Om» U O

>

. Fifth

. Tenth
st

oo

A. 80 percent

. Very small area
. 5 percent

o0

. September
June
May

. 50 billion barrels
. 100 billion barrels

UOwW» UOw

. 2500 billion barrels
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Non-physical factor's along with physical factors also:

Between 30°-40° latitudes at the western margins of continents:

Zooplankton and phytoplankton are found

In Pakistan, cotton cultivation;

During 2015, Brazil's iron ore production was:

In 2015-16, high type roads length in Pakistan was:

U.S.A, Japan, Germany, France and United Kingdom are:

Due to industrial development which activity expanded

Length of railway line from Karachi to Torkham is:

Until, which century, silk manufacturing was a secret ?

The continent of Asia, produces world's:

In the growth of the Natural vegetation

The continent of Africa, ranks in the world in tea production:

When Port Muhammad Bin Qasim was completed ?

Alfred Weber's Industrial theory was presented:

Affect of air, temperature and humidity on gold is:

Which country became first center of silk textile in Europe?

DOU> DLOWP> DO

W> Uow

o

oow

oW

oow

o>

DOU» DO®

DOU> DOW

DOW» UOW

OWP» DOWP UOW

Do not effect the agricultural activity

Effect the agricultural production
Effect the human efficiency

Equatorial rain forests are found
Tundra vegetation is found
Thick forests are found

In deep river water

In cold &mp; deep oceans
In pacific ocean water

Is limited to Baluchistan province
Is practiced in all areas

Is limited to rain-fed areas

50 million metric tons

100million metric tons

200million metric tons
150500Km

100500Km

200100Km

Backward countries of the world
Developing countries of the world
Advanced countries of the world
Trade

Communication

Resources

1750Km

1570Km

1910Km

First century A.D

1500 AD

20th century

20 percent wheat

50 percent wheat
Only 15 percent wheat

Temperature does not play any role

Role of man is prominent
Role of relief is prominent

5th number
7th number

. 1st number

1985
1975
1990

In 1750
In 1850
In 1950

very frequently
very little

very slowly
United Kingdom

France
Germany

20 percent

2ANnarrant
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Coal reserves of Europe and Russian Federation are, world's total reserves:

During 2014-15, maize production in Pakistan was:

In the world, rock sodium nitrate reservoirs are present:

Japan's woollen textile industry depends on:

Sindhprovince possesses, what percent cotton cultivated area of Pakistan:

Tea plantation is mostly done in:

Agriculture activity began in the world, from:

To how many people PIA provide employment ?

Pakistan's first modern canal "Upper Bari doab" was built:

In spite of huge local fertilizer industry, China:

In Punjab province, irrigated are is:

In Central Asian countries, most important cotton producer is:

World's maximum number of horses are reared in:

In semi-humid regions of the world, sugar-canecrop is cultivated:

Before 1917 revolution, large woollen textile industrial centers in Russia were:

Cotton textile manufacturing is a:

Uranium was first discovered by German chemist:

In 1970's decade, worlds only 1.5 percent energy was generated by:

o0Ow oOw OOw o0Ow Ow>» UDOwP» U0Ow ooOw OOowm>» OTOOW oc

oN@NvY)

O w>

>

oo

OwW>» UOW

Uow» U0Ow

VUPTI LTI IL

. 50percent

. More than 2million metric tons
. 3.0million metric tons
. About onemillion metric tons

. in Afghanistan
. in Pakistan

.inUS.A

. Local wool
. Not on imported wool
. Nota on local wool

. 30percent
. Only 10percent
. About 50percent

. Torrid zone
. Tundra region

. Desert region

. Indus valley
. Tigris &amp; Euphrates valley
. Nile valley

. 15thousand
. 10thousand
. 12thousand

. In 1900
.In 1890
.In 1930

. imports fertilizer at small scale
. do not import fertilizer
. imports fertilizer occasionally

. 10.0million hectares
. 12.0million hectares
. 15.2miillion hectares

. Turkmenistan
. Kazakhstan
. Tajikistan

. Continent of Asia
. Continent of South America
. Continent of Australia

. Without irrigation

May be done without irrigation
Easily done

. Leningrade &amp; Moscow
. Center Volga region
. Providence

. Primary economic activity
. Quinary economic activity
. Quarternary economic activity

. Marie cure
. Antoine Henri Beequerel

Pierre

. Solar energy

. Hydel energy
. Thermal energy

VAL _ i Wt . _._



vvnere only tnreaa Is preparea
Where dyeing is done
Where thread is not prepared

oOwz

424 In cotton textile manufacturing industry, such mills called composite:

20 percent
425 Rice is grown, over total cultivated area's 50 percent

One percent

It is not imported

426 In Pakistan, to fulfil the demand of timber: .
It can be imported

Its import is not necessary

France
Japan

i ?
427 Which country, possesses largest number of nuclear power plants? Russian Federation

OWm» COUP DOB>

United Kingdom
Russian Federation
. Germany

oOw>

428 In the continent of Europe, which country is largest producer of nuclear power ?

A. Every day
429 In Sri-Lanka, tea picking is done: C. After every three months
D. Twice in one year

Remains enough hot
. Remains small and moderate
. Remains hot and moderate

430 In Pakistan's plain and desert regions, summer season:

oOw

1972
1951
1981

431 In which year, population of Pakistan was 42.9 million persons ?

. Quinary economic activity

432 Which category is the Fishing economic activity - Quaternary economic activity

DOW» UOW

. Tertiary economic activity

. Nomadic herding is in practice
. There is no herding
. Herding is at beginning stage

433 In Australia, New Zealand, Argentina and Uruguay:

. one hundred
434 Today, how may countries are mining gold? fifty
. One hundred &amp; ninety-five

. English
435 The word Geo-graphy comes form French

. Russian

. 20 million metric tons

436 In the world, total production of cotton is: - 10 million metric tons

UOw» UOwWP U0OwP U0Ow

. 100 million metric tons

B. Not suitable for wheat cultivation
437 Upper and lower Indus plains are: C. Suitable to some extent for wheat

cultivation

D. Absolutely not suitablefor wheat

cultivation

. basic metal
. beautiful metal
. rare metal

438 Gold is regarded as:

439 When did Iron & steel industry began in Austraila? - 1890

. 1950

. More than 10 percent

B
C
D
A. 1850
B
D
A
B. At least 20 percent

440 From economic point of view, iron ore is useable, which contain iron particules:
D. More than 50 percent



441

442

443

444

445

446

447

448

449

450

451

452

453

454
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457

The population of the areas that from Pakistan at present in 1901 was:

Russian Federation and United States of America produces world's:

In Brazil, most important cotton cultivation region is:

Up to June 2016, how many planes PIA possesses:

Due to their woollen body, sheep

In 1949, maize production of Pakistan was:

In 1929, U.S.A's first modern Iron & steel mill was established:

In the world, which continent ranks first in phosphate manufacturing?

After Industrial Revolution, in the world:

In the world,which element produce maximum potash fertilizer:

Due to Pakistan;s location, in north of tropic of cancer:

In Pakistan, during last 70 years, production of maize has:

In 2015, volume of Pakistan's external & international trade was:

Wheat cultivation is done over:

In maize production, Pakistan ranks among nations:

At the time of first century A.D., world population was:

In the world, largest producer of wheat is:

B.

One crore 50 lakh &mp; 50

thousand

C.
D.

OooOw

oo0ow

OO w

o0ow

B.
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2 crore 60 lakh
One crore 90 lakh

. Two-third natural gas
. 70 percent natural gas
. 45 percent natural gas

. Bahia
. Rio de Jenaroe
. Amazon basin

55
59
63

. Cannot bear cold

. Cannot bear heat
. Could not live in summers

. Only 2 lakh metric tons
. Very small
. Less than 3 lakh metric tons

In New York

. In Florida

. In California

Europe

. Australia
. South America

. Production increased slowy
. Goods availabitlity became slow
. Quality of goods became inferior

. continent of Africa
. continent of Asia
. continent of Australia

it is located in cold temperature

region

C.
D.

|oN@ Ny
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it is located in tropical region
it is located in torrid region

. Increased by 2 times
. Increased many times
. Increased very small

. 50miillion tons
. 20million tons
. 55million tons

. One percent of cultivated area

. Nominal land area
. Very small area

At 10th number
At 2nd number

. Not any important position

50 lacs

. Two billion

One crore

. Russian Federation

Canada
US.A

- One million hectare



458 In the world, area under tea cultivation is: B. 10 million hectare

D. 5 million hectare

Must be in very small quantity
Is not needed
Does not matter

459 In soils under tobacco cultivation, potash and organic matter:

Before the Christ

460 Artificial silk was invented: . . .
Before industrial revolution

In 20th century

TDOU» DOD

5 major groups
15 major groups
20 major groups

461 How many major group of fisheries are found in sea waters

Very fast
within control

462 In developed countries of the world, both birth and death rate are: Not in control

Ow>» DO

>

70 percent natural gas
463 United States of America and Russian Federation consume world's:

C. 50 percent natural gas
D. 45 percent natural gas

In Tundra region
In Europe
In Australia

464 World's natural rubber forests are found:

oow

Saxony
Westphalia
Elber-field

465 France's woollen textile industry is located at:

United States of America

466 Which country has highest labour force ratio engaged in tertiary economic activity ? Russian Federation

COm> DO

Japan

Lower Bari doab
Upper Chenab
Upper Jhelum

467 In the Sub-continent, first modern digged was:

oow

100days
150days
80days

468 During vegetative growth of cotton, how many sunny days are required:

oow

o i .
469 In the Punjab province, out of total area under sugar cane crop: (B: Zl(())"//z m';ldﬂjjzg

D. 90% inPunjab

. . . B. 10percent
?
470 How many percentage of population, Baluchistan province possesses ? C. 8percent

D. 15percent

50000GWh
70500GWh
82500GWh

471 In 2014-15, total annual production of electricity was:

oow

35ships
Only 25ships
70ships

472 At the time of separation of East Pakistan (Bangladesh), Pakistan inherited:

Upper Jhelum

473 Which canal have been dug from Rasool head-works? .
Lowar Bari doab

Upper Bari doab

DOT> DOD

Hsi-ling-Shi
Charles Nicolas
Henery Cooper

474 Who invented the artificial silk?

oow

Europe
South America
North America

475 Which continent possesses least population:

oow



A. Subsistence agriculture is being

done
476 In the equatorial countries, still: C. Irrigated agriculture is being done
D. Commercial grain farming is being
done
A. Prawns are famous in the world
477 In north western Europe's coastal areas:
C. Haddock is famous in the world
D. Fish is not important
478 According to 1998 population census of Pakistan, percentage of urban population was: B. 35.0 percent
’ : C. 40.5 percent
D. 45.5 percent
479 Where does rice plant belong ? B. Itis tropical region plant
' C. Itis torrid region plant
D. It is warm temperate region plant
A. 1,500 Km
480 Length of southern boderline of Pakistan is: C. 1,200 Km
D. 1,250 Km
481 Germany a major manufacturing nation of woollen textile: B. Do not lacks in raw material
C. Have excessive woollen material
D. Imports small quantity of wood
482 With the establishment of Blast furnaces: B. No pror_ninent change took place
C. Iron refinement become slow
D. Minor change took place in Iron
refinement
A. 1000 yards
483 We can obtain usable silk from a cocoon: B. 100 yards
D. Only 50 yards
A. Canal digging is not possible
484 In Pakistan, due to slope of terrain, physical features and soft soil: C. Canal digging is very costly
D. Canal digging is very difficult
. . ) . . B. California state
485 In U.S.A Col, Dracke in 1859, drilled first oil well at: C. Florida state
D. Texas state
. B. 2000
486 In 2015, Pakistan possesses how many passenger wagons ? C 5000
D. 5500
487 Pakistan got its, how much production from American verities ? B. 70percent
C. 50percent
D. 70percent
A. 80 percent area must be under
forests
0,
488 For economy of an agricultural country: B. 50% area must be under forests
D. Forest do not play any role
. . . ) . B. Backwardness in technology
489 Major cause of backward ness of agriculture in Pakistan in: C. Unavailability of land
D. lliteracy of the farmers
A. 20 pounds
490 Per rubber plant, annual rubber production is about: C. 50 pounds
D. Very small amount
491 Percentage of thermal electricity production, out of total electricity is: B. 50 percent
’ ’ C. 30 percent
D. 90 percent
A. Not any progress

492 In developed countries rearing has: PO



. NOT any consiaeraple progress
. Progressed very slowly

1947

493 Water and Power Development Authority was develop in: 1965

1951

. United States of America

494 Modern cotton textile manufacturing industry stated from: Japan

India

common metal

495 Gold is a: . not common metal

. Very rare metal

UOw» UOWP UOwWP OC

Soil

496 The world Geo denotes: Rock

. Sandstone

oow»

not as a raw material
can be used as raw material
. not being used as raw material

497 In manufacturing nitrogen fertilizer, natural gas is being used:

Tobacco

498 Sugar industry is depend on the crop of: Maize

Wheat
. 10 million square miles
499 At present, total cultivated area of the world is:

. 30 million square miles
. 50 million square miles

CDOUP TOWP» UOW

. Increased too much
. Increased in small amount
. Not increasedmuch

500 Since independence of Pakistan, production of wheat has:

oow

. Suitable for forest
. Most suitable for forest
. Suitable for forest to some extent

501 Except mountainous region, climate of Pakistan is:

. Birmingham

502 In the world, use of natural gas begun from the American town: Headen-field

Dublin

UOw» U0Ow

. Becomes slow
Becomes very slow
. Becomes at zero level

503 With the increase of temperature evaporation from plants

1914

504 When did Russia, entered among oil producing countries? 1890

1805
. Australia
505 Which country ranks first in sheep rearing:

India
US.A

. 50 thousands
. 10 thousands

W» TOUP DOUP 00w

506 For best cotton crop, number of plants in one acre must be:
. 30 thousands

. 100 days

507 In one year, for how many days, rubber plant producer rubber ? - 50 days

oOow>» O

. throughout the year

B. 2.0million hectares area was under
forests

508 At the time of independence, Pakistan's: C. 5million hectares area was under

forests
D. 10million hectares area was under
forests

A. Indonesia

509 Which country is largest producer of rice in the world ? E Iﬂfj'a, ,
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522

523

524

525

In Pakistan, out of total cultivated area of tobacco:

In the world, finest cotton fibre is produced by:

In 1839 A.D., Charles Goodyear from rubber prepared:

In Geography, we study about the distribution of things on the earth's surface

In 2000-01, Pakistan's installed capacity of electricity was:

Evergreen oak plant is found in:

United States America's 3,236 billion Kw electricity consumption in 1999:

Japan meets her meat requirements from:

According to 2000 statistics, total labour force of China was:

Which country of world, achieve highest yields of rice per hectare:

Total under-cultivated area of Pakistan is:

In Pakistan, sugar-cane crop:

Mongolia, Ethiopia and Afghanistan are world's:

In 1556, from Santo Domingo, tobacco seeds were brought to:

World's total estimated resources of coal are:

Largest natural silk producer in the world is:

C. FakKistan

B. 50 percent in under desi tobacco
C. 80 percent in under Virginia
tobacco

D. All area is under desi tobacco

A. United States of America
B. Pakistan

D. China

. Vulcanized rubber

. Erasing rubber
. Rubber goods

oo0ow

. Timely
. Climatic
. Environmental

o @ Ny

. 12,700 MW
. 17,415 MW
. 20,000 MW

. Tundra region

. Equatorial region
. Desert region

oOow>» OTOOw

B. Was 50 percent of total electricity
generation in the world
C. Was 10 percent of total electricity
generation in the world
D. Was 70 percent of total electricity
generation in the world

. Beaf
. Mutton
. Camel meat

. 800 million
. 900million

. 750million
China

Japan
. Indonesia

OWP» TOWP» UOw

. 20miillion hectares
. 15miillion hectares

W >

O

. 10million hectares

. Ripen in 8 months
. Ripen in 24 months
. Ripen in limited time

. Most advanced countries
. Advanced countries
. Developing countries

Om>» OO

. Portugal
France
Italy

. 5.0 trillion metric tons

. 20.0trillion metric tons
. 891.531 billion metric tons

Japan

. Brazl
. ltaly

UOwW» U0OwWP U0W



. Is not world famous
. Has not any importance
. Is very famous

526 Basmati rice of Pakistan:

. Western region of river Colorado

527 In U.S.A, important cotton cultivation region is: _ Washington state

. California state

OO0Ow>» OOw

. Not a cash crop
Food crop
. Not a food crop

528 In Pakistan, sugar-can is an important:

o oY

. 50metric tons
. 70metric tons
. Very small

529 In 1947, per hectare sugar-cane yield in Pakistan was:

Egypt

530 Which country in Africa, produces maximum sugar-cane ? Keyna

Nigeria

. 59,917megawatts
531 How much installed capacity, have 60 atomic power plants in 16 countries ? 15,700megawatts
. 25,500megawatts

Ratzal
. Adam Smith
Marshal

OW» DOU> DOWP» DOW

532 The Economic Geography's book "Principal's of Economic Geography" was written by

1550Km
. 1310Km
1015Km

533 Length of Indus super highway is:

. Compound of oxygen &amp; oxygen

534 Natural gas is a: . Compound of many gases

. Not a compound of gases

. Do not need irrigation

535 Those countries of the world where summer rainfall is less, rice: Do not need water

. Irrigation is not necessary

. Mahagany wood is used

536 For building ships: Coconutwood is used

Palmwood is used

UOw» UOwWP UOWP UOw

India
. Indonesia
. Pakistan

537 Rice cultivation began in the world, from:

Japan
538 Largest manufacturer of potash fertilizer in the world is: Germany
. United Kingdom

. Pakistan

. China
. Japan

539 In which region eucalyptus plant is found:

OWw > UTOWP UOW

. 75.0 percent
. 70.0 percent
. 65.0 percent

540 According to 1981 population census of Pakistan, percentage of rural population was:

o0Ow

Rice
Sugar-cane
Cotton

541 Out of total G.N.P., we earn 2.0 percent from:

. 20 percent
542 How many percentage area of the world is barren: . 80 percent
. 10 percent

. 2.5 LakhKv
. 70000Kv
C. 125000Kv

WP UOWP UOW

543 At the time of inception of Pakistan, installed capacity of thermal electricity was:
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In the world, United States of America is:

World's 90 percent children births are taking place in:

In the world, grazing lands over earth's:

Among vegetable oil crops, Soya bean crop:

Iron refinement process of Bessemer, Sir Henary Bessemer:

World's perto-chemical industry depends upon:

In South American continent, top producer of wheat is:

According to Dec., 2015 estimates, world's natural reserves are:

The boiling point of gold is:

World's bulk of fish is caught :

In the grass-lands of temperate & torrid zones:

Residual soil is often found:

Which province is least producer of wheat in Pakistan ?

Which Canadian region possesses largest natural gas reserves ?

In 1949, In Pakistan, there were:

Animal's dung:

. Smallest producer of corn

A
C. Large amount corn producer
D. Enough amount corn producer
A

B

C

. African countries
. Asian countries
. Australia

. 20 percent area

. Only 5 percent area
. Vast area

. Has not any importance
. Has very little importance

> TOwWP

. Is gaining importance

. Introduce in 1800
. Introduce in 1900

. Introduce in 1950
coal

. natural gas
. hydroelectricity

Ow» TOwWP» O

Brazil

Chile
Peru

. 5,000 trillion cubic feet
. 10,000trillion cubic feet

oom» COowP

. 1,000trillion cubic feet

A. 1300<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°C</span>

C. 1064<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°C</span>

D. 1500<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°C</span>

A. In the Indian ocean
B. In the Mediterranean sea
C. In the Atlantic ocean

. Camelsare reared
. Cattleare reared
. Yaks are reared

oo0ow

. Everywhere in the world
. Nowhere in the world
. In the river valleys

Sindhprovince

. Punjabprovince
. KPKprovince

U0ow>» UOw

. Ontario
. Cubic
. Suskhwan

o0ow

. No air company
. Planning was done for air company
. One air company was founded

oo

. Is not important for soil
. Has little importance for soil
. Is not used for soil fertilitv

oo0ow
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In wool production, Australia ranks:

Uranium metal was discovered in:

Rock sodium nitrate fulfill, how many percentage of nitrogen fertilizer:

Coconut plant is native of:

When did regular rubber export started from South America-Brazl ?

Iron ore, after first stage smelting is called:

With the help of one pound uranium, we can produce:

For sheep rearing, best suitable temperature is:

Tropical grasslands are called:

Length of Sukkur-Sibi-Quetta-Highway is:

Which country ranks third in nuclear power generation in the world ?

. First
. Third
. 10th

OoOow

. 1890 AD
. sixteenth century
. twentieth century

oo0ow

. 20 percent
. 50 percent
. fulfil no need

oN@ Ny

. Desert regions
. Cord climate regions
. Hot &amp; dry regions

1750 A.D

1857 AD
1900 AD

Wrought iron
Cast iron

W» DOUP TOWw

O

. Rawiron

. 1 million Kw electricity
. Very nominal amount of electricity
. Very huge amount of electricity

ooOow

B. 30<span style="color: rgh(34, 34,
34); font-family: sans-serif; font-size:
17.5px;">°</span><span style="color:
rgb(34, 34, 34); font-family: sans-
serif;"></span>- 40<span style="color:

rgb(34, 34, 34); font-family: sans-serif;
font-size: 17.5px;">°</span><span
style="color: rgb(34, 34, 34); font-
family: sans-serif;"></span>F

C. 10<span style="color: rgb(34, 34,
34); font-family: sans-serif; font-size:
17.5px">°</span><span style="color:
rgb(34, 34, 34); font-family: sans-
serif;"></span>- 30<span style="color:
rgb(34, 34, 34); font-family: sans-serif;
font-size: 17.5px;">°</span><span
style="color: rgb(34, 34, 34); font-
family: sans-serif;"></span>F

D. 80<span style="color: rgb(34, 34,
34); font-family: sans-serif; font-size:
17.5px;">°</span><span style="color:
rgb(34, 34, 34); font-family: sans-
serif;"></span>- 100<span
style="color: rgb(34, 34, 34); font-
family: sans-serif; font-size:
17.5px">°</span><span style="color:
rgb(34, 34, 34); font-family: sans-
serif;"></span>F

B. Tundra
C. Steppes
D. Prairies

B. 450Km
C. 510Km
D. 550Km

B. South Korea
C. Ukraine
D. China

A. Five thousands vear old



571 Wheat specimen discovered from Iraq are: B. Ten thousand year old

D. Too old

B. Very costly means of transport

572 Fro heavy goods transportation, sea service is: C. Comparatively costly transportation
service
D. Comparatively cheap transportation
service

. Hydrogen content
. Sulphur content
. Phosphorous content

573 Black colour of coal is due to its:

. France

B

C

D

A. India
574 In the world, silk textile industry began from: B
D

.USA

. 25thousand hectares
. One lakhhectares
. 75 thousand hectares

575 At the time of independence, area under tobacco cultivation was:

oo0ow

B. There are no international airports
576 At Karachi, Islamabad, Lahore, Peshawar, Quetta & Gawadar: C. There are no airports

D. International airports are under

construction

. bair companies
. 3air companies
. 2air companies

577 In Pakistan, how many private air companies provide air service ?

ooOow

. Potash impurity exists
. Phosphorus impurity exists

O

578 In the natural gas, naturally:

O

. Not impurity exists

. Falls up to 30 percent
. Falls up to 15 percent
. Falls up to 10 percent

579 In summer, atmospheric humidity in afternoon:

. Very limited
. Unlimited

w > oo

580 For hydro-power generation, equatorial region's potential is:

O

. Unlimited

B. For medical students
C. For engineering students
D. For arts students

581 For which students, study of commercial Geography has more importance:

A. Venezuela

582 Tampico, Tuxpan and Veracraz oilfields are located in: " Colombia

Brazil

oo

. Not very successful
. Suitable
. Suitable to some extent

583 Between latitudes of 25°-55°, cultivation of wheat is:

India
. Russian Federation

> UOw

584 Which country ranks first in wheat production ?

o

US.A

. Commercial herding is being done
. Scientific herding is in practice
. Modern herding is being done

585 In Central Asia, Far East and North Africa still:

OooOw

. 90.5 million persons
. 75.5 million persons
. 110.2 million persons

586 According to 1981 census, population of Pakistan was:

o0ow

. . . . B. A very nominal area
587 Out of total, cultivation area, wheat is cultivated over: C. Very huge area

D. An enouah area
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After melting Iron ore is converted into:

Agricultural activity depends upon, mostly on:

By using balanced agriculture inputs, wheat production could be:

What do you mean by neutral soil:

The highest peak of the central / great Himalayas is:

In 1991, Pakistan closed how many Km railway line ?

In Pakistan, during 1998-99, production of sugar was:

According to opinion of experts, cultivation of maize began in the world from:

Consumption of fish in African countries is:

In KPK, under cultivation area is:

During vegetative growth of cotton, temperature:

Which variety of Pakistani rice has world reputed?

About 73.6 percent area under cotton cultivation is:

World'd 99 percent children deaths are taking place in:

The percentage production of irrigated rice in the world is:

Out of Pakistan's total cotton production, Punjab province:

In the continent of South America, which country is largest producer of fertilizer:

OoOow
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oow
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. Steel
. Cast Iron
. Stainless Steel

. Soil fertility
. Human effort Suitable weather

. Increased to some extent
. Not be increased
. Increased nominally

. Soil with pH value below 7.0
. Soil with pH value above 7.0
. Soil with pH value zero

K-2
. Sad-Ishtragh
. Rakaposhi

. 350Km
. 425Km
. 525Km

. 5million metric tons

. 2.0million metric tons
. 10million metric tons

. Argentina
Brazil
. Bolivia

Very abundant
Abundent

. Too little
. 2.0million hectares

. 2.5miillion hectares
. 1.85miillion hectares

. Must be near about 40°C
Must remain below 15°C
Do not affect the cotton crop

Irri-6
Irri-12
. Qulandri

. In Sindhprovince
. In Baluchistanprovince
. in N.\W.Fprovince

. Developed countries
. Industrial countries

. European countries

. 50 percent
. 85 percent
. Only 10 percent

. Produce 50 percent
. Produce 40 percent
. Produce 70 percent

Chile

Peru
. Argentina

. Up to 50 international cities
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Up 10 NOW many Internatonal Clues FIA runs Its air services ¢

British breed sheep is reared for:

In agriculture economy, vegetable oil crops:

In one hectare, how many rubber plants can be planted ?

Major source of wool:

Population growth rate of high income countries of the world is:

How many fertilizer mills are working in Pakistan?

Among most of the metals, gold is a:

In underdeveloped countries herding is:

Length of southern borderline of Pakistan is:

For sheep, warm-humid climate is:

Which age group of people is considered as manpower?

In Pakistan,potash fertilizer plant has been erected:

Pakistan's physical feature and soil is:

At the time of inception of Pakistan, total length of railway line is Sub-continent was:

In U.S.A, installed nuclear power generation capacity is:

After transplanting rice plants in the field:

In Pakistan, semi-arid sub-tropical forest are found at the elevation of:

oo

oow
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Lle to 40 international cities
More than 100 international cities

Wool

Skins

Milk<div><br></div>

Have not any importance
Have very little importance
Have no importance

100plants
500plants
1000plants

Are camel
Are Angora goats
Are yaks

1 percent annually
1.5percent annually

1.2percent annually
five mills

no mill
20 mills

light metal

very heavy metal
very light metal

Being done commercial manner
Very little important

Being done by rich people
1500Km

1200Km
1250Km

Most suitable

Not suitable
Suitable to some extent

10-40 years
15-45 years
15-50 years

with the help of India

with the help of Iran

with the help of Japan

Not suitable for agriculture

Suitable to some extent for

agriculture

D.

Absolutely not suitable for

agriculture

OOw o0Ow
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. 50000Km
. 75600Km
. 65000Km

. 50,000 megawatts
. 10,000 megawatts
. 100,000 megawatts

. rice crop ripen in about 50 days
. rice crop ripen in very short time
. rice crop ripen in 150 days

. Up to 13,000 feet

. Near about sea level



D. Up to 5,000 teet

. Working in industrial sector
. Working in fishing sector
. Working in transport sector

623 Only 3 percent labour force of United States of America is:

oN@ Ny

. Cash crop of the world
. Industrial crop of the world
. Fodder crop of the world

624 Wheat is most important:

OooOw

B. 30percent
. 80percent
. 20percent

625 Oil reserves of Middle East accounts for, how much, total petroleum reserves of the world ?

o0

. Living since 50 lac years
. Living since crore's years
. Living since many lac years

626 According to the experts on the surface of Earth the man is:

India

627 In the world, largest producer of ground-nut is: USA

Nigeria

Very huge
Huge
. Enough

Ow» COwWP UOW

628 In quinary economic activity, ratio of manpower of:

A. Very small area is under forests

B. Large area is under forests
629 In the province of Sindh:

D. Very very small area is under

forests

A. Primary
B. Secondary

i i i ivity ?
630 Technical experts, performs which type of economic activity 7 C. Tertiary

A. California state
631 In the world, commercial use of natural gas stated in: B. Florida state

D. Washington state

A. Only 10 inches annual rainfall is
required

632 For rain-fed cultivation of sugar-cane crop:
C. rainfall is not very necessary
D. very small amount of rainfall is
needed

A. Mediterranean region
. Western desertregion
. Western Europeanregion

Om

633 Rice, originally belongs to:

. 10percent
. 25percent
. 50percent

634 In Pakistan, what percentage of energy is fulfilled by electricity ?

OO w

. 10 percent
. 20 percent
. 25 percent

635 At present how much energy is generated by nuclear means ?

oo0ow

. 20000
15000
. 25500

636 In 2015, Pakistan have how many freight wagons ?

oXeY:

China
. Indonesia
. Pakistan

637 Where does locate international rice research institute - IRRI ?

Japan

638 Which country of the world invented the Rayon ? ltaly

. United Kingdom

. Dry and hot region
. Cold region

W» UO0wWP U0w

639 Palm oil plant is native of:
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641

642

643

644

645

646

647

648

649

650

651

652

653

654

655

656

In 1839, Charles Goodyear from rubber prepared:

Until 1990, world's largest petroleum producing country was:

For vegetation growth of wheat:

Upper layer of the earth crust formation:

Rhine-Ruhr valley Industrial Region is located in:

It could be very easily accessed, by the density of means of transportation, that:

World's how much natural gas reserves, Russian Federation possesses?

Which continent is largest produce of hydro-power in the world ?

At the time of independence, Pakistan railway was:

Pakistan's largest hydro electricity project is:

Mangla hydel power project has been established:

Agricultural is man's:

At present, Brazl produce world's only:

Population of the world, up to June 2002 was:

In which climate bulk of Fish is catches ?

River Gomal provide boundary to the Wazristan hills?

During 1999, gold production of the world was:

O

> OOW
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. Desert region

. Vulcanized rubber
. Erasing rubber
Rubber goods

. United States of America

. Saudi Arabia
China

150 days are required
. Only 50 days are required
. Not long period is required

. Is due to disintegration
. Is due to decomposition of

vegetation

D.

O w >

W 00w
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B
C
D

Is due to disintegration agents

. Eastern Europe
. England
. Southern Europe

. Country is undeveloped
. Country is backward
. Country is not undeveloped

. 1000 trillion cubic feet
500 cubic feet

. 2000 cubic feet
. Europe
. Africa

. Australia

. A nominal means of transportation
. Not major means of transportation
. Avery ordinary means of

transportation

o0Ow
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. Mangla
. Warsak
. Malakand

. At Neelumriver
At Kunharriver
. At Indusriver

. Secondary economic activity
. Quinary economic activity
. Tertiary economic activity

. 10 percent rubber
. 20 percent rubber

. 30 percent rubber
. 5.5 billion

. 6 billion
. 6.5 billion

. Hot climate

. Cold deep water

. Severe hot climate
. Northern boundary
. Eastern boundary

. Western boundary

. 100 million troy ounces
. 50 million troy ounces

. 150 miillion troy ounces



. At the age of 10 years
. At the age of 3 years
. At the age of 15 years

657 Natural rubber's plant matures for rubber production:

oow

. Not better for human health
. Injurious for human health
. Is suitable for human health

658 According to medical experts, vegetable oil is better than ghee & butter:

. In Pakistan
. In India
In China

OW>» UOW

659 In the world, maximum per sheep wool production is:

Bonn
. Hamburg
. Wuppertal

660 Largest silk textile manufacturing center in Germany is:

. River Kabul
661 Pakistan's most important and largest river is: _River Jhelum
. River Ravi

. Germans
. Portugueses
. French

OW» TUOWP» UOW

662 In North America, wheat cultivation was introduced by:

B. Knowledge of Agri-statistics is
necessary

C. Knowledge of mineral production is
necessary

D. Knowledge of industrial statistics is
necessary

663 For economic planning of a country:

. Second major source of energy
. Fourth major source of energy
. A nominal source of energy

664 In Pakistan, among energy resources, electricity is:

. Arabian sea winds
665 In Baluchistan province, major source of rainfall is:

. Local winds

. Chile
666 In the continent of South America, largest producer of gold is: Brazi

B

C

D

A

C. Monsoon winds
D

A

C

D. Peru

. Have not any position
Rank second
. Have very prominent position

667 In groundnut production, the continent of Asia:

Africa

668 Which continent produces maximum amount of sugar-cane: Asia

UOwP UOw

. Australia

. 3thousand feet
. hot very high latitude
. 10thousand feet

669 Rice crop can be cultivated up to altitude of:

. Agriculture sector
Fishing
. Trade

OwW>» UOw

670 World's 20 percent labour force is engaged in:

. . B. 50% gas is obtained from oil wells
671 In United states of America: C. 70% natural gas is obtained from oil
wells
D. 15% gas is obtained from oil wells

. . B. China
672 In 1508, Portuguese introduced tobacco is: C. Russian Federation
D. Indonesia
A. 300 quadrillion Bru
673 During 1991, total world electricity production was:

C. 250 auadrillion Bru



674 Length of common borderline of Pakistan and India is: ' 2000Km

D
A. 1500 Km
C
D. 1650Km

3,000 feet
15,000 feet
. At lower level

675 Tea plantation is done, from sea level to:

oow

A. Import wool

676 Australia, New Zealand and South Africa: Not import wool

Export wool in small quantity

oo

lack of technology
lack of raw material
lack of money

677 The use of uranium at vast level is restricted due to its:

One hundred

678 Today, how many countries are mining gold ? Fifty

One hundred &amp; ninety-five
500 billion Kw
679 In 2015, world's nuclear power generation was:

1000billion Kw
100billion Kw

DOU» TOwWP» TOW

1st
Fifth
10th

680 In the world, France's rank in nuclear power generation is:

2 million hectares
681 Pakistan's productive forests area is: 5 million hectares

10 million hectares

10 billion barrels
20 billion barrels

682 In the world, annual consumption of minerals oil is: 50 billion barrels

OW» DOWP UOW

Natural gas exporting countries
Not gas exporting countries

@ >

683 Russian Federation, Kuwait, Qatar, Iran, Turkmenistan and Kazakhstan are:
D. Natural gas importing countries
Is very important

Has considerable importance
Is not very suitable

684 For sugar-cane cultivation, Baluchistan province:

oow

10.0million hectares
15.00million hectares
18.2million hectares

685 During 2014-15, area under food crops in Pakistan was:

1945's A.D decade
686 In the world, first nuclear power plant was installed in: 1970's A.D decade

1910's A.D decade

Very large
Very very large

687 In tropical region, coal reserves are: Enough large

OWP» DOWP UOW

Coal
Natural gas

@ >

688 World's petro-chemical industry depends upon

D. Uranium

More than 1500Km
1250Km
2100Km

689 Karachi-Lahore-Peshawar-Torkham Highway's length is:

oow

1953
1959
1962

690 When was Pakistan International Airline was founded ?

oow
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With the beginning of industrial revolution:

World's how many countries are in high income group:

World's evergreen forests

In cold countries, sugar is manufactured from:

In the world, first largest wool producing country is:

Basic purpose of domesticating animals is

Shallow sea water fisheries is called:

In the world, largest manufacturer of chemical fertilizers is:

Manufacturing cloth with the help of weaving fibres is:

Most beneficial animal of Tundra region is

Which country possesses largest oil reserves in the world ?

Phosphorus fertilizer is prepared with the help of:

Soya bean is called proteins, minerals and vitamins:

For development of fisheries how much deep water is required ?

In 2014-15, total length roads in Pakistan was:

In the world, herding started from:

In equatorial rain-fed forests due to heavy rainfalls:

B. Development in means of
communication took place

C. Trade activity became fast

D. Manpower demand increased

A. 25 countries

C. 50countries
D. 70countries

B. Do not remain evergreen year
around

C. Shed their leaves during winters
D. Shed their leaves in summers

. Grapes
. sugar-cane
. Many crops

o @ Ny

. United Kingdom
India
. Russian Federation

. Transporting goods
Riding

. Use as a draught
. Demersal fish

. Herrings fish
. Haddock

. Pakistan
Canada

UOW> U0OwWP UOWP U0w

. United Kingdom

An important industry
. Is not an important industry
Is a modern industry

Camel
Horse
Cow

Ow>» DO

. Saudi Arabia

. Russian Federation
Iran

. different minerals

coal
. chemical matter

DoOw» UOowP

. Not major source
. Small source
. Not any source

oN@NvY)

. 100 feet is enough
. 10 thousand feet is most suitable
. Depth has no effect

o @Ry

. More than 250000 Km
. 150500 Km
. 300500 Km

o0Ow

. Middle East
. Sub-continent
. Far East

oo0ow

A. Soil is very fertile

. Clayey soils are found
. Sandy soils are found

o0
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World's evergreen rain-fed equatorial forests covers:

With one pound of Uranium, how much electricity could be produced ?

In Pakistan, river Sindh plain is composed of:

In the earth's crust, coal formation began during carboniferous period which spanned:

During 2000-01, installed capacity of hydel power was:

In 2015-16, length of average type roads in Pakistan was:

Length of Quetta-Kuchlac-Muslim Bagh-D.l. Khan Highway is:

Largest manufactured of potash fertilizer in the world is:

Which economic activity is trade ?

Natural gas is an:

In Pakistan, maximum rainy days are:

British explorer Sir Henry Wickham in:

In the world, today cotton cultivation is being done:

In the world, wool is mostly used in:

10% area of the total forests
5% area of the total forests

w >

95% area of the total forests
one million Kw

50million Kw
5million Kw

DoU> ©

Clayeysoil
Sandysoil
Localsoil

oow

B. 500 million years before present
C. 100 million before present
D. 50 million years before present

5,500 Mw
6,200 Mw
4,500 Mw

oow

100600Km
250500Km
150100Km

oow

More than 500 Km
750Km
650Km

Japan

Germany
United Kingdom

DOT> DOW

Secondary
Quaternary
Quinary

oow

Not source of energy
Not as important source of energy
Nominal source of energy

150 days
100 days

DCOm» DO

75 days

B. 1820 A.D smuggled rubber seeds
C. 1750 A.D smuggled rubber seed in
UK

D. 1900 A.D smuggled rubber seed

A. between 10<span style="color:
rgb(34, 34, 34); font-family: sans-serif;
font-size: 17.5px;">°</span><span
style="color: rgh(34, 34, 34); font-
family: sans-serif;"></span>latitude
north & mp; south

C. in all regions of the world
D. in cold regions of the world

B. Hot countries
C. Desert countries
D. Mediterranean countries
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In the decade of 1970, due to use of coal in thermal electricity production:

In the thickly populated areas of the world

Australia, New Zealand, Argentina and South Africa are:

In the world, maximum number of sheep are in the:

From nutrient point of view, corn (maize) is:

For hydro-electricity generation:

U.S.A imports wool from:

In Iron and steel industry up to 1900:

In Western developed countries people got their diet's

With the help of coal, petroleum & natural gas:

In Europe, Lorain valley iron ore deposits are:

Area of Pakistan is:

In the continents of Europe, China and America's:

Rain-fed agricultural, is being done in those countries of the world, where:

Merino sheep is native of:

In South Asian region, cotton textile manufacturing is:

Total land area of Pakistan is:

B. A small increase took place in use
of coal

C. No change took place in use of coal
D. Demand of coal decreased slowly

A. Natural vegetation is thick

B. Vegetation covers 80% earth
surface

D. Natural vegetation is absent

. Less wool production
Produce small quantity of wool
. Nomad herding nations

. Continent of Australia

. Continent of Europe
. Continent of North America

UOw» U0Ow

. Not animportant crop
. Not valuable crop
. Important crop

OO w

B. Physical factors suitability is not
necessary

C. Physical factors do not affect

D. Physical factors affect is nominal

A. Afghanistan and Iraq

B. Iran and Saudi Arabia
C. Lybia and Egypt

. China was ranking first

U.S.A was ranking first
Germany was ranking first

. No percentage from animals

. Only 5 percent from animal
. Very little percentage from animal

. Hydro-electricity is generated

. Nuclear electricity is generated
. Solar electricity is produced

. Very important
. Not very important
. Very large

OWP» UOUP UOUP UODUP

. 8,95,095 sq Km
. 5,75,095 sq Km
. 3,10,403 sq Km

. Nomadic rearing is being practice

. Poor people practice rearing
. Rearing is done by majority people

OOow>» OOW

. Desert conditions are present
. Tundra climate is found
. Rainfall is not sufficient

o @ Ny

. Indo-Pak Sub-continent
. South Africa
. Australia

Being done sine 1500 B.C

. Being done from ages-old
. Is a modern industry

. 50 million hectares
. 70million hectares
C. 30million hectares

W»> TOWP» UOwW



A. 91 tons

739 In the world, maximum sugar-cane yield is: B. 64 tons
D. 30 tons
A. India
740 Which country ranks first in wheat production? B. Russian Federation

D. USA

B. No change took place in demand of
741 In 19th century, due to use of petroleum and natural gas: coal
. Coal demand increased
. Coal mining was almost stopped

. 12,000 billion Kw/h
742 During 1999, annual consumption of electricity in the world was:

10,000 billion Kw/h
. 15,000 billion Kw/h

. Australians

743 Portuguese's & Spaniards introduced rice in: - Western Europe

. Continent of Antarctica

. Argentina

744 Where does locate the Sao-Paulo's Iron & steel center:
. Venezuela

. Chile

Uow» UOwP U0OwP U0

. 10000MW
5750MW
. 7500MW

745 During June, 2016, WAPDA's installed capacity of thermal power was:

oXeY:

746 According to populated census of 1998 of Pakistan, which province possesses highest B. Baluchistan province

urban population ratio? C. Punjab province
D. N\W.F province

. Canals
. Persian wheel
. Tube-wells

747 In Quetta, Mastung and Pishin region, major source of irrigation is:

o0ow

B. India, Pakistan &amp; Iran
C. Phillippines, Vietham &amp;
Malaysia

D. Italy, Spain &mp; Portugal

748 Which countries cultivate spring wheat?

. Para rubber plant
. Acacia plant
. Palm plant

749 Major source of natural rubber is:

oo0ow

Europe
. Australia
. South America

750 World's 28 percent reserves of coal are in the continent of:

. 20 percent

751 World's how much energy needs are fulfilled by natural gas ? - S0percent

UOwWw» U0Ow

. 10percent

. comes from wheat crop
comes from cotton
. comes from maize crop

752 About 3.1 percent earnings of agriculture sector:

China

i i ?
753 Which country consumes 26 percent, petroleum production of the world? Russian Federation

India

UoOw» UOw

Mirpur
Kotli
Bagh

754 At which cities, service of PIA is available ?

> 0ow

. Not import gold

755 United Kingdom, France, Germany and Saudi Arabia, India, China:
C. Import gold in small quantity
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In anthracite coal, pure carbon content is:

In Pakistan, out of total cultivated area, irrigated area is:

When did the decision of division of indo. Pak subcontinent took place?

Chemical fertilizers are used:

Brazl's largest iron ore deposits are in:

In 2000, world's total electricity generation amounted:

In socialist economy, economy resources are under control of:

World's 98.7 percent children births are taking place in:

Mozambique's 81 percent labour force is engaged in:

In the continent of South America, largest petroleum producer is:

According to U.S Geological Survey Deptt., total gold deposits of the world are:

Hevea brasiliensis plant provide world's:

On roads, under National Highway Authority, what percentage traffic passes ?

The continent of Europe is largest producer of:

In Pakistan, cotton is:

River Gomal provide boundary to the Wazristan hills ?

Atomic energy and atomic weapon's preparation is:

Ow>» U

oow

oow

oow

ow>

cow

oow

oow
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oow

Export gold

50 percent
25 percent
80 percent

100 percent
70 percent
50 percent

.June 1, 1947

June 15, 1947
July 1,1947

. to decrease the production

for specific purposes
for not any purposes

Paraba valley
Bahia
Mato Grasso

400 quadrillion Bru
200 quadrillion Bru
500 quadrillion Bru

Private sector
Labourers
Entrepreneur

African countries
Asian countries
Australia

Secondary economic activity
Tertiary economic activity
Quinary economic activity

Colombia

Brazil
Ecuador

10,000 metric tons
20,000 metric tons
30,000 metric tons

50 percent natural rubber

One-third percent natural rubber
. Small amount of natural rubber

Very huge traffic
Very nominal traffic
More than 50 percent traffic

Sugar-cane
Rice
Tea

A most important rabi crop
A zaid rabi crop

A most prominent zaid kharif crop

Northernboundary
Easternboundary
Westernboundary

not possible without gold
possible by many metals
present day need

Rainfall is limited

Unmins rainfall talban nlaans



D. rieavy idiildil ldnes place

773 Towards south of Pakistan:

O

. Rainfall is variable

. Rearing has no importance
Has not became major occupation
. Is only profession of few people

774 Nomadic herding, from primitive periods in rain-fed regions

. Russian federation
Canada
. Australia

OwW» UOW

775 Monsoon deciduous forests are commonly found in:

. Up to 10 feet
. Up to 15 feet
. At any level of height

776 For picking facility, tea plant is contained by pruning:

oN@NvY)

No need of rainfall

777 For cotton cultivation, how much rainfall is required:  Small quantity is required

Large quantity of rainfall is required

Sudan
778 Which country produces best lint in the world? Braz

. Pakistan

. From October - February
779 In Pakistan, winter season remains: . From October - April
. From September- February

Trade
. Politics

780 Which factors are responsible for development of international relations: _ Money investment

OwW>» UOwW» UDOW» 0 OW

. Brazl
. Chile
. Argentina

781 Natural habitat of tobacco is:

oOow

. Were fully aware about use of tea
. Began, trade of tea
. Were introduced about tea

782 Till 1559, European:

. United States of America
783 Which country of the world have lowest percentage of labour force in agriculture sector ? - Russian Federation

Japan

. Russian Federation
India

784 In the world, second largest producer of petroleum is: China

OW» UOWP U0

. Source of fish oil
Source of minerals
. Source of vitamins

785 Due to which reason, Fish is best diet for human beings ?

. 1,000 megawatts
. 1,500 megawatts
. 2,000 megawatts

Ow>» TOw

786 Intalled capacity of nuclear power plants, established in the decade of 1960 was:

. It is known as residual soil
. Mountainous soil
. Local soil

787 If parent material has been transported and deposited, often far from its original source:

OooOw

B. Transportation is easily possible
C. Transportation may be made
possible

D. Transportation cannot be made
possible

788 Due to construction of dams and canals, in rivers:

A. Chinese
. . . . B. Indians
789 According to Sir Dadly Stamp, who introduced cotton to Europe:

D. Portugese

A. 100 billion barrels
B. 150 billion barrels

7an Fetimatad natralaiim racaniace nf Qaindi Arahia ara-
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In Pakistan, minimum monsoon rainfall occurs in:

Turkey's Angora goat is

In mountainous regions, maize is:

In the grass-lands of temperature & torrid zones:

According to investigations of agriculture experts, the plant require:

In the continent of Africa, largest producer of natural gas is:

Wheat is Pakistan's most important:

Out of total forest area of Pakistan, two-third area is:

Which country possesses largest oil reserves in the world?

Largest manufactured of phosphate fertilizers in the world is:

Perhaps first domesticated animal was:

In quinary economic activity, ratio of manpower is:

On how many places canal irrigation projects have been constructed ?

Which category is human activity of Fishing ?

In the world, Brazil, Australia, Sweden, Canada, India & South Africa:

In Pakistan, on sea coast of Baluchistan, Gawadar seaport is:

Besides diet requirement, corn is an important

Ow>» O
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oow

oow

oow

oow

oW
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oow
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50 billion barrels
Skardu region

Gilgit region
Chitral region

Famous for milk
Important for meat

. Not famous for anything

. Irrigated crop

. Not a rain-fed crop
. A cash crop

Camels are reared
Cattle are reared
Yaks are reared

50 basic elements
not any mineral element
some necessary elements

Libya
Egypt

South Africa

Not a food crop
Cash crop
Not a food &amp; cash crop

Under private sector

. Not property of any
. Under industrial sector

Iraq
Russian Federation
Iran

India
United Kingdom
Afghanistan

Elephan
Cat

Horse

Very huge
Huge
Enough

25places
30places
10places

Secondary
Tertiary
Quinary

Are iron ore exporting countries
Are not iron ore exporting countries
Can export iron

Constructed by Japan
Constructed by Korea
Constructed by Singapur

Is not a fodder crop
Could be used as fodder crop
. Could not be used as fodder crop
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Toward's north-eastern and north-western side of Pakistan is:

World's 80percent coal production consists of:

World's annual increase / ratio in labour force is:

Latitudinal position of Pakistan is:

In the continents of Europe, Australia and America's

Pakistan's 65 percent rice cultivated area is:

Which region of China is largest sugar-cane producer ?

In 2015, world's largest iron ore producer was:

For tobacco cultivation, climate of Pakistan is:

World's first oil well in 1857 A.D was drilled in:

For vegetative growth of sugar-caneplant:

When was Pakistan resolution approved ?

Tea plantation does better:

In Pakistan which intarnatinnal airnnrt is mnat hiisiest ?

. Deserts are located
. Planteau's are located
. Plains are located

O w>

. Lignitecoal
. Anthracitecoal
. Browncoal

. 1.0 percent
. 2.0 percent
. 5.0 percent

OW>» TOW

B. 24.0<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>-37.0<span
style="color: rgh(84, 84, 84); font-
family: arial, sans-serif; font-size:
small;">°</span>North

C. 22.0<span style="color: rgh(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>-35.0<span
style="color: rgh(84, 84, 84); font-
family: arial, sans-serif; font-size:
small;">°</span>North

D. 23.0<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>-36.0<span
style="color: rgb(84, 84, 84); font-
family: arial, sans-serif; font-size:
small;">°</span>North

A. Nomadic rearing is being practice
C. Poor people practice rearing

D. Rearing is done by majority people

. In Baluchistanprovince
. In mountainous region
. In northern region

o @ Ny

. Western plateau
. North-eastern Manchurian region
Central Szechwan basin

US.A

Brazil
. Australia

DOwWP» TOW

. Not suitable
. Suitable to some extent
. Totally not suitable

France
ltaly

DOmW» OOW

. China

B. 40°F temperature is suitable

C. Suitable temperature is very
necessary

D. Temperature below 40°F does not
suits

A. 1st Feb, 1939
C. 1st June, 1946
D. 3rd December, 1943

. Plain areas
. Deltaic areas
. Desert areas

o0Ow

R | ahnra
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In per capita fish consumption in the world:

In Pakistan, all sugar-cane cultivation is done:

In industrial developed countries, ratio of labour force engaged in primary economic
activity:

Which is rainiest city in Pakistan ?

India's largest gold mining state is:

In the world, largest producer of olive is:

Desert regions soils contain:

Mangrove forests along the coast of Sindh are:

At which places in Gilgit-Baltistan PIA service exists ?

The melting point of uranium is:

Which countries cultivate spring wheat ?

In the world, cotton cultivation is being done:

World's finest wool is obtained from:

Pakistan's first woollen textile mill was established at:

Length of international air route PIA is:

. Islamabad
Peshawar

U.K ranks first
. China ranks first
. Japan ranks first

Ow>» UOt

. In rain-fed areas
. With tube-wells
. With karazes

oo0ow

. Is very high
. Is increasing
. Is high

. Peshawar
. Islamabad

OOowm>» OOW

. Sialkot

Madha Pradesh

Tamil Nadu
. Andhra Pradesh

Turkey
Syria
ltaly

ow» CoUr

. Excessive organic matter
. No amount of organic matter
. May have littleorganic matter

|oN@ Ny

B. 50% of the total mangrove forests
C. Only 10% of the total mangrove
forests

D. Not found

B. Hunza-Karim Abad
C. Yasin
D. Buniji

A. 1000<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>C

B. 2000<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>C

D. 500<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>C

B. India, Pakistan &amp; Iran
C. Philippines, Vietham &amp;
Malaysia

D. ltaly, Spain &amp; Portugal

. in cool temperate regions
. in equatorial humid regions
. in desert regions

. Pakistani sheep
. Desert area's sheep

> OO

. Mountain sheep
. Faisalabad

. Hyderabad
. Rawalpindi

. 1560550Km

JOW>» UOOwpP O

. About 3 lakhKm

At A C A/
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According to expert's opinion, agriculture started about:

Iron ore deposits found in Kalabagh (Mianwali) are:

Tropical Evergreen forests:

For best vegetative growth of rice plant:

How much sea food is required for fisheries for gaining one pound meat

Maximum per hectare yield of rice in the world is in:

In the low income countries of the world, labour force engaged in the primary economic
activity is:

In 2001, Brazl' s iron ore production was:

In the Sub-continent, first modern canal digged was:

Length of common borderline of Pakistan & China is:

According to Alfred Weber's theory, most suitable place for Iron & steel industry is:

According to 1972 census, population of Pakistan was:

For rice cultivation clayey soil is:

When private merchant ships were nationalized ?

. ADOUL £.D IdKIINITI

. 20 thousands year's ago
. 5 thousands year's ago

. 15 thousands year's ago

. Haematite

A
B
D
A. Magnetite
B
C. Limonite

. Are found in desert areas
. Are found in Tundra region

W >

D. Are found cold areas

A. Temperature must remain below
15<span style="color: rgb(34, 34, 34);
font-family: sans-serif; font-size:
17.5px">°</span>C

B. Temperature must remain between
10<span style="color: rgb(34, 34, 34);
font-family: sans-serif; font-size:
17.5px;">°</span>C - 15<span
style="color: rgb(34, 34, 34); font-
family: sans-serif; font-size:
17.5px">°</span>C

Temperature does not affect
20 pounds of plankton

100 pounds of plankton
Plankton is no more required

Dow> ©

Japan
China
Phipippines

50 percent
60percent

40percent

50 million metric tons
100 million metric tons

DOm>» TOmP» UOW

200 million metric tons

Lower Bari doab
Upper Chenab
Upper Jhelum

oow

600Km
900Km
750Km

oow

B. Where Pig Iron is easily available
C. Where limestone is easily available
D. Where coal &amp; calcium

carbonate is available

B. 100 million persons
C. 75.9 million persons
D. 105 million persons

B. Not suitable
C. Suitable to some extent
D. Absolutely not suitable

B. 1st June, 1971
C. 1st September, 1976
D. 1st December, 1970

R Onh/ BKn ecnad ie raniiirad
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For sowing one acre cotton crop:

George Stephon-son invented steam railway engine in:

Pakistan's those area, where rainfall is upto 10 inches:

Wood ash contains very large amount of:

Cotton textile manufacturing industry started/ began:

Which province of Pakistan producers 40 percent rice crop ?

In 18th century, due to use of petroleum and natural gas:

Maximum sulphur content in Mineral oil may be up to:

In Pakistan, all trains from Lahore to Khanewal are run by:

In the world, tea plantation is being done:

When did Crescent airways closed its business?

For cotton cultivation, sandy and clayey soils:

In Pakistan, second largest source of irrigation after canals is:

From economic point of view, iron ore is useable, which contain iron particles:

Maize fodder is:

In river basins and fertile grasslands, wheat crop;

ool

oXeY:

W >

o> DOW

L iy Uiy Suuu 1o ey o
. 20Kg seed is required
. More than 15Kg seed is required

. 1900 AD
1875 AD
. 1895 AD

. Natural vegetation is not grass
Xerophytes vegetation is found
Forest does not exist

Zinc
. Calcium
Iron

. During fifteenth century A.D
. During seventeenth century

C. Before Christ

o0Ow oOw

oo0ow

oow

w >

O

A

oOw>» UoOw UOw» U0Ow

Uo0ow» UOw

. Baluchistanprovince
. Punjabprovince
. N.W.Fprovince

. No change took place in use of coal
. Coal demand increased
. Coal mining was almost stopped

. 10 percent
. 15 percent
. 20 percent

. Diesel engines
Coal engines
. Nuclear power

. Only in 10 countries
. In 20 countries

. In all countries
1950

1955
1959

Are not unsuitable
. Are most suitable
. Are suitable to some extent

. Persian wheel

Wells
Pounds

. More than 10 percent

. At least 20 percent

. More than 50 percent

Not much suitable for animals
. Not liked by all animals

. Liked by all animals

Remains unsussessful

. May be sown
. Cannot sown

. <p class="MsoNormal"><span

style="font-size: 10.5pt; line-height:
107%; font-family: Arial, &quot;sans-
serif&quot;; background-image: initial;
background-position: initial;
background-size: initial; background-
repeat: initial; background-attachment:

in

itial; background-origin: initial;

background-clip: initial;">Teak

pl
B

ant</span><o:p></o0:p></p>
. <n class="MsoNormal"><snan
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Important plant of Mediterranean region:

In any region of Pakistan, equatorial froests:

For Industrial and economic development:

Islamabad and Rawalpindi water requirements are met by:

Japan 's silk fabric's major purchaser is:

World's total wheat production:

Silk textile manufacturing was invented by:

At the time of independence, population of Pakistan was:

Name of highest mountain peak in Hindukush is:

Like all other countries, in Pakistan also:

style="font-size: 10.5pt; line-height:
107%; font-family: Arial, &quot;sans-
serif&quot;; background-image: initial;
background-position: initial;
background-size: initial; background-
repeat: initial; background-attachment:
initial; background-origin: initial;
background-clip:
initial;">Deodar</span>plant<o:p>
</o:p></p>

D. <p class="MsoNormal"><span
style="font-size: 10.5pt; line-height:
107%; font-family: Arial, &quot;sans-
serif&quot;; background-image: initial;
background-position: initial;
background-size: initial; background-
repeat: initial; background-attachment:
initial; background-origin: initial;
background-clip:
initial;">Mahogany</span>plant<o:p>
</o:p></p>

. Are at enough area
. Does not grow in any area
. Cannot grow in any area

oo0ow

. Political stability does not affect
. Political stability is not needed
. Political stability affects negatively

o0ow

Hub dam
. Cherahdam
. Darootdam

. United Kingdom

. Canada
. Brazil

UO0w>» UOw

B. Only small percentage is sold in the
market

C. 50 percent is solid in international
market

D. One-third is solid in the
international market

B. A Russian Kosighen
C. An America George
D. An Indian Ram Dass

B. 4.15 crore
C. 2.50 crore
D. 3.50 crore

A. Rakaposhi
B. Pamir

D. Sad-Ishtragh

B. After every five years population
census took place
C. After every 15 years population
census took place
D. After every 20 years population
census took place
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According to population census of 1998 of Pakistan, which province possesses highest

urban population ratio:

In Pakistan, monsoon rainfalls take place:

Woollen clothes are mostly used:

People are aware about iron use:

During 2014-15, per hectare yield of sugar-cane in Pakistan was:

Among vegetable oil exporting countries, United States of America:

Most prominent advantage of air service is:

World's 30 percent population is:

Average height of Pir Panjal range is:

Rearing or herding is a:

In the world, crop of corn is being cultivated in:

Pakistan's 75 percent imports & exports are being done by:

In 1947, condition of railway line and other railway property was:

For cotton cultivation, soil require organic matter:

Installed capacity of nuclear power plants, established in the decade of 1960 was:

What specific character, uranium-235 keeps ?

In those regions, where annual rainfall is less than 20 inches:

. Baluchistanprovince
. Punjabprovince
. N.W.Fprovince

. Only in winter season

B

C

D

A. Through the year

B

C. Only in summer season

. In hot countries
. In moderate climate countries

. In Tundra region

. For thousand years

Owr» ToOwp

. In 1750 A.D during industrial
revolution
D. Were not aware until 18th century

. 50metric tons
. Very high
. Very small

. Is not very big country

. Is a normal country
. Is not any prominent country

oOow>» OTOOw

. Wastage of time
. Fast service
. Comfortable travelling

o @ Ny

. More than 65 years old
. More than 15 years old
. Less than 40 years old

OoOow

. 5,000 meters
. 6,000 meters
. 5,500 meters

oo0ow

. Secondaryeconomic activity
. Quinaryeconomic activity

. Quaternaryeconomic activity
100 countries

. 50countries

OOow>»ro0Ow

. Allcountries

. Public sectormerchant ships
. Foreignmerchant ships
. Pakistanmerchant ships

oo0ow

. Very excellent
. Not very excellent
. Not useable

[oN@ Ny

. In very small quantity
. No need of organic matter
. Small quantity is more beneficial

ooOow

. 1,000 megawatts
. 1500megawatts
. 2000megawatts

Ow>

B. Cannot be used direct in the
reactor

C. It is found in huge quantity
D. It is very cheap

B. cotton sowing does not need
irrigation

C. rain-fed cotton cultivation is being
done

N Mt t_ 4t
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In ltaly, largest silk fabrics manufacturing center is:

United States of America's installed electricity generation capacity is:

In the backward countries of the world, world's:

In the beginning, silk textile manufacturing was a:

In the quickly populated areas of the world:

Natural gas is energy's:

Largest woollen textile manufacturing center in United Kingdom is:

Which country ranks second in the world, in uranium deposits ?

In the world, from agriculture sector;

In Pied-mount soils, often:

For Industrial development:

Economic & Industrial development of a country:

The estimated sea water species of fish are:

Husk of wheat is:

Estimated Fish species in the world are

Historical Khyber connects:

C

. COToN SoWINg IS NOt possipie
. Burgamo

Geneva
Komo

. 1,110 billion Kw
. 10,000billion Kw
. 5,000billion Kw

oOW» TOW»

. 30 percent population is living
. 50 percent population is living
. Very fast population is living

oow

B. Huge industry

C. Largest industry
D. Modern industry
A
B

. Natural vegetation is thick
. Vegetation covers 80% earth
surface

O

. Natural vegetation is absent

. Costly source
. Relatively costly source
. Not a costly source

Scotland
London

. Hyderfield

. Russian Federation
. China

W»> UDOW» UOW

O

. Canada

A. Only 5 percent is being earned from
animals
B. Animal contribute a little

D. A major portion is contributed by
animals

A. Clayey material is found excessively

C. Loamy material is in abundance
D. Alluvium is absent

B. Nothing is required

C. Land and water is basic need

D. Means of transportation are basic
need

B. Is easily possible without electricity
C. Could be made possible without
electricity

D. Countries have made it possible
without electricity

A. 1000 species
B. 10 thousand species

D. 15thousand species

. Not used as animal diet
Could be used as animal diet
. Not a useful item

. 70 Thousand species
. 5 Thousand species
. 500 species

OW>» UOW

. Peshawar and Lahore
. Peshawar-Islamabad
. Peshawar and Kohat

oow



. At 5th number
. At 20th number
. At 1st number

910 Among wheat producing countries of the world, Pakistan ranks:

oo0ow

911 In India, important tea producing regions are: . Sin Kiang province
. Munchurian region

. Central valley region

oo0ow

. Does not exports cigarettes
. Imports cigarettes
. Does not import cigarettes

912 In huge amounts, Pakistan:

. Punjabprovince
913 Whichprovince yields highest per hectare wheat in Pakistan ? - KPKprovince

. Baluchistanprovince

. 20 percent

914 World's how much energy needs are fulfilled by natural gas? - 50 percent

OOowm>»r DO OO

. 10 percent

. At Ludhiana
. At Dhariwal
. At Ahmadabad

915 In 1876, India's first woollen textile mill was established:

Japan

916 Which country of the world invented the Rayon? ltaly

. United kingdom

UO0w» UOw

. Ayesha cotton textile
. Gulshan cotton textile
. Ali cotton textile

917 First cotton textile mill at karachi was named as:

o0Ow

. Desert conditions are present
. Tundra climate is found
. Rainfall is not sufficient

918 Rain-fed agriculture, is being done in those countries of the world, where:

. Slow increasing
. Steadly increasing

919 In developing countries, now growth rate of population is: Very slow

Ow>» OO

920 In 1908, Muslims achieved a political miles tone: B. Muslim League was founded
C. Name of Pakistan was approved
D. Quaid-e-Azam present 14 points
resolution

. Hindu-Kush mountains
. The great Himalayas
. Siwaliks range

921 Beautiful mountain peak of Rakaposhi is located in:

o0

Not being used as raw material
Could be used as raw material
. Could be used as energy source

922 In the preparation of Nitrogen fertilizer, natural gas is:

. In Kita-Kyushu
923 In 1874, Japan's first Iron and steel mill was installed:

. In Muroran
. In Osaka

. Is very small
. . ’ . ) . Is very very small
924 In industrial and economically developed countries, ratio of manpower: yvery

Is huge

Hydrosphere
925 Our Earth Surface has been encircled by Inosphere
. Mesophere

. Russian Federation
Japan
. United Kingdom

OW» UOUP UOWP UOIPE U0

926 Which country ranks second in electricity generation in the world ?
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In 2015, United States of America's consumption of petroleum was:

At the time of independence, rice production in Pakistan was:

In 1947, Pakistan's tobacco production was:

At land, for transfering heavy goods,railway is:

Soil, possessing minute particles is called:

World's estimated hectarage under rice is:

Name of First Capital of Pakistan was:

Soils of high bar areas is called - scalloped interfluvies:

In United States of America, daily consumption of petroleum is:

During 2014-15, production of pulses was:

For sheep,warm-humid climate is:

World's more than 90 percent rice:

Olive plant is native of:

In the world, which country possesses largest uranium deposits?

In south America, which country is largest producer of cotton ?

In river basins and fertile grasslands, wheat crop:

Out of total cultivated area of wheat, rain-fed area in percentage is:

When did world population became 80 crore:

oow

oow

oow

OW> C"OTF DOWP UOWr U0UP U0W
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COwW» TOWP DOW

6.69billion barrels

10billion barrels
3billion barrels

. 5 lakhmetric tons

10 lakhmetric tons
20 lakhmetric tons

75thousand metric tons
One lakhmetric tons
5 lakh metric tons

. Most costly means of transport

Prominent means of transport
Ordinary means of transport

Sandy soil
Loamy soil
Silty soil

500million hectare
250million hectare
350million hectare

Rawalpindi

Hyderabad
Lahore

Khaddarsoil
Entisolssoil
Inceptisolssoil

10 billion barrels
5billion barrels

15billion barrels
500 thousand metric tons

1000thousand metric tons
1200thousand metric tons

Most suitable
Not suitable
Suitable to some extent

Continent of Australia produces
Continent of Africa produces
Continent of Europe produces

Equatorial region
Saint Lawrance region

Sudani region

Kazakhstan
Russian Federation
USA

Argentina

Chile
Colombia

Remains unsuccessful
May be sown

Cannot sown

10percent
20percent
30percent

. First country A.D.

10th century A.D.

. 500 years before Christ



A. Most of the countries
945 In the world, sunflower crop is being cultivated in: B. All countries

D. 100 countries

. 125.5million persons
. 115.2million persons
. 170.0million persons

946 According to March 1998 population census, population of Pakistan was:

oo0ow

B. More than 10 thousand Km

. 5000Km
. 15000Km

947 In Pakistan, length of roads under National Highway Authority is:

o0

. not a conductor of electricity
. no-conductor of electricity
not a non-conductor

948 Gold is a best:

. no affect on its climate

949 the physiographic division of Pakistan has: - minor affect on its climate

UOm>» 00w

. Not any major affect on climate

Fifth
Second
Tenth

950 China's rank in electricity production in the world is:

. Russian Federation
951 In the world, largest manufacturer of nitrogen fertilizer is: - Unitad States of America

India

Brazil

. Uruguay
952 In South America, largest wool herding country is:

DOm>» DOWP» 0O

Chile

. 100 million troy ounces
. 200 million troy ounces
. 300 million troy ounces

953 In 1850, production of gold was:

Most superior

954 Among all categories lignite coal its: . Not good quality

. Not superior quality

UO0w>» UOw

. In Sindh province
. In Punjabprovince
. In Baluchistanprovince

955 According to population census of 1998, rural populations highest ratio is:

OoOw

. Source of fish oil
. Source of minerals
. Source of vitamins

956 Due to which reason, Fish is best diet for human beings

oo0ow

. Creek of Sir
Near Somanai
. Near Kach

957 Important seaport of Karachi is located at western slide of mouth of Indus in:

. Island of Hokkido

958 Japan's sericulture industry is mostly located at the: - Kuysho Island

. Shikoku Island
. Saudi Arabia

959 In the continent of Asia, largest producer of natural gas is: - Indonesia
. Uzbekistan

50
70

W» UOwWP UOWP U0Ow

960 At present, how many countries are producing atomic power ?

o

75

. United Kingdom
. Russian Federation
ltaly

961 Japan exports its woollen fabrics mostly to:

. Chile and Peru
. Brazl and Columbia

Daramiiav 2amn: Ralivia

YuE UOw

962 Wool exporting countries in South America are:
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According to present growth rate, in 2020, population of Pakistan will be:

India's largest woollen textile manufacturing center is:

At present world'd 40 percent energy needs are met by:

Length of Karachi-Khuzdar, Quetta-Chaman highway is:

In 16 countries of the world, how many nuclear plants are under construction:

In the continent of South America, which country is largest producer of fertlizer:

Total estimated petroleum reserves of Middle East are:

After industrial processing lint (cotton fiber)

Without latest & fast means of transport, defense of a country:

Hevea brasiliensis's smuggled rubber seeds from Brazil were propagated in London' s:

For best propagation of natural rubber plant:

At present, how much Earth's surface is under cultivation?

Pakistan's first woollen textile mill was:

Until 1970, world's only:

. rarayuay wailip, vunvia

170 million persons

250 million persons
200 million persons

Uttar Pradesh

Maharshtra
Rajasthan

coal

natural gas
uranium

COW» TOWP» UOW

800Km
1000Km
1250Km

50

120
70

Chile
Peru
Argentina

oW DOUP UOW

500 billion barrels
2000billion barrels

150billion barrels

Is preserved
Is stored in godowns

Dom» Tom»

Is brought into ginning mills

Is certainly possible
Is possible to some extent
Is easily possible

oow

B. Lawrence Gardens
C. Wah Gardends
D. Mayo Gardens

B. 100<span style="color: rgh(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>F temperature is
suitable

C. 50<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>F temperature is
suitable

D. 32<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>F temperature is
suitable

B. 20 percent
C. 15 percent
D. 5 percent

B. Gulshan woollen mill
C. Wali woollen mill
D. Ayesha woollen mill

B. 25 countries were generating
nuclear energy
C. 50 countries were generating

niirlaar anarnv
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The boiling point of uranium is:

For successful rice crop 45 inches rainfall is necessary, otherwise:

Qaz Saeed Ahmed divided Pakistan in how many climatic divisions ?

The continent of Europe, produces world's:

For heavy goods transportation, sea service is:

Which continent is very thinly populated:

In Geography, along with Earth we study about

Most of the natural rubber production in the world is being used:

How much area of Punjab province is under forests?

At present, how many power generating stations are working in the world ?

After industrial Revolution in the world:

How much area of N\W.F.P is under forests:

In irrigated region of the world, wheat crop require:

In the United States of America, ratio of labour force in agriculture is:

la Afuima Jmvmant isimal mwadiinta; amcmdis fan

Huvivan Ly
D. 10 countries were generating
nuclear energy

B. 5125<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°C</span>

C. 2250<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°C</span>

D. 1575<span style="color: rgh(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°C</span>

B. Irrigation facility must be provided
C. No need of irrigation

D. Rice crop may be affected

B. Five

C. Ten

D. Fifteen

B. 20percent wheat
C. 40percent wheat
D. Only 10percent wheat

B. Very costlymeans of transport

C. Comparatively costly transportation
service

D. Comparatively cheap transportation
service

A. Asia
B. Europe
C. Africa

. Animals
. Plants
. Jungle

. For manufacturing water proof cloth

. For manufacturing toys
. For manufacturing utensils

oOw>» OOw

B. 5.0 million hectares
C. 10.0 million hectares
D. Very small area

A. 436

C. 500
D. 350

A. Iron and steel demand does not

change

C. Iron and steel demand become slow
D. Iron and steel demand increased
slowmy

A. 2.0 million hectares

C. 5.0 million hectares
D. Very small area

. 10 irrigations

A

C. Only 2 irrigations
D. Limited irrigations
A
B
C

. 5.0 percent
. 10 percent
. 15.0 percent

B. Sudan
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INn AITcd, idrgest wool proaucing couriury I1s:

Prominent characteristic of electricity is this, that we can:

U.S.A' s largest iron ore deposits are located in:

Out of world's total area:

In Pakistan, from 1,000 - 3,000 meters from sea level:

How much grasslands area is under forest department:

Industry is an activity, in which we transform raw material:

Today, how much power generating capacity nuclear plants could be established:

Out of agriculture income, from wheat, we earn:

During 2014-15, production of rice in Pakistan was:

For cotton cultivation, temperature requirement is:

In the world, rice is present in:

For cultivation of one acre of rice crop:

Iran's natural gas reserves are:

The larges equatorial rain forests are in

Soils of Indus river delta region is called:

. Kenya
. Zimbabwe

oo

. Not transmit it everywhere
. Not transmit it in hilly areas
. Not transmit it in snowy areas

Alabama &amp; Birmingham state

. Western mountainous region
. Alaska state

gow>» UOw

. 50 percent under forests
. 15 percent under forests
. 70 percent under forests

oo0ow

. Evergreenforests are found
. Very smallforests are found
. Deciduousforests are found

o @ Ny

. 5.0 million hectares
. 10.0 million hectares
. 2.0 million hectares

. Into usable products
. Into unusable products

. For use of people
. 1,000 megawatts

. 3,000 megawatts
. 10,000 megawatts

OOwy»r OO OO

. 15percent
. 20percent
. 50percent

ooOow

B. About 10million tons
C. About 15million tons
D. 20million tons

B. below 15<span style="color: rgb(34,
34, 34); font-family: sans-serif; font-
size: 17.5px;">°</span><span
style="color: rgb(34, 34, 34); font-
family: sans-serif;"></span>C

C. up to 50<span style="color: rgb(34,
34, 34); font-family: sans-serif; font-
size: 17.5px;">°</span><span
style="color: rgh(34, 34, 34); font-
family: sans-serif;"></span>C

D. temperature does not affect

. 5 thousand varieties
. 3.5 thousand varieties
. 2.5 thousand varieties

oo0ow

. 20Kg seed is enough
. at least 40Kg seed is required
. 15Kg seed is more than enough

. 10 trillion cubic feet
. 50trillion cubic feet
. 15trillion cubic feet

OWw>» UOOW

. Germany
India
. Canada

ow>

B. Bangarsoils
C. Khaddarsoils
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In Pakistan, during last 70 years, area under maize crop:

China ranks in tea production, in the world, is:

In the world, Australia ranks in iron ore production:

For cigarette manufacturing tobacco:

For what purpose, Canada, U.S.A, Australia and France does cultivate wheat ?

What percent trade is being done by Port Muhammad Bin Qasim ?

At the time of independence, Pakistan has:

In the world, in cotton production, U.S.A stands at:

Mulberry leaves are used for:

Indus river basin:

Rice crop (plant) does best:

Estimated natural gas production of the world's:

Coal, petroleum, water , natural gas, uranium and solar energy are:

Cod, haddock, halibut and sole fish habitat is:

During fifteenth century, cultivation of wheat, barley & oats was:

D. Aeoliansoils

. Increased by 5 times
. Increased many time
. Increased decreased

o0Ow

1st
10th
. Not prominent country

. At first position

. At fifth position
. At not any position

UOw» U0Ow

. All plant is used
. Stem is used
. Roots are used

. For domestic food

. For industrial purpose
. For home market

. 90percent
. 50percent

OOow» OTOOwWP» OO

. 75percent

. Many merchant seaports
. Threemerchant seaports
. Twomerchant seaports

. first position

. fifth position
. tenth position

OOow>» OOW

. Feeding white ants
. Feeding wild worms
. Feeding camels

o0ow

B. is not important for cotton

C. does not possesses any position in
cotton cultivation

D. may produce cotton

B. In excessive water
C. In shortage of water
D. In dry conditions

A. 10 trillion cubic feet

C. 3,538.6trillion cubic feet
D. 20trillion cubic feet

B. Are not sources of electricity
production

C. Sources with which electricity can
be produced

D. Are possible sources of electricity
can be produced

A. Warm rivers waters
B. Moderate shallow ocean waters
C. In the waters of Arctic

B. Introduced in the Northern
Hemisphere

C. Introduced in the Indian Sub-
continent

D. Introduced in Europe

A. 90% land surface is under forests
B. Natural vegetation has absolutely
finished



(L0794 ACCOraing to latest esumates C Only 10% area is under forests

. Exporting countries
. Importing countries

1023 Japan, South Korea, Germany, U.K, ltaly and U.S.A are iron:
. Not importing countries

. uranium 234
. uranium 235

W OTOWP

1024 In the Earth, 99.28 percent Uranium is:

O

. uranium 250

. Importing country
. Not exporting country
. Not importing country

1025 Till mid of 19th century, China was largest tea:

oow

B. Persian wheel is major source of
irrigation

C. Canals are major source of
irrigation

D. Irrigation is done by ponds

1026 In mountainous terrain of Azad Kashmir, Northern Areas and N.W.F.P:

. Is called crust
. Is called upper layer
. Is called upper crust

1027 Upper layer of Earth's crust, in which vegetation grows:

o @ Ny

Very huge
Less to some extent
. Nominally small

1028 As compared to developed countries, road's network in Pakistan is:

Fourth number
1029 In wheat production, Pakistan ranks in the world as; Secondnumber

Top ranking
. Spercent

. 2percent
. 10percent

Owm» CDOWP DOW

1030 In the last 70 years, agriculture growth rate remain:

>

. June 1947

1031 When did demarcation of Pakistan-Iran borderline took place: C. December 1857

. November 1890

O

. March - July
. February - August
September - February

1032 Summer season remains in Pakistan from:

. Manythousand species
40thousand species
. 5thousand species

OW» UOw

1033 The estimated fresh water (rivers, streams , etc) fish species are:

. smallest gold exporter
. small gold exporter
. not a big gold exporter

1034 South Africa is world's:

OooOw

. Assam-Bengal railway
. North-eastern railway
. Southern railway

1035 In United India, our railway system was called:

o0ow

. 5,105 million
. 4,615 million
. 6,215 million

1036 According to 2000 statistics, labour force of the world was:

o @Nvy)

B. Below 40°Ftemperature is suitable
C. More than 80°Ftemperature is
suitable

D. Temperature does not matter

1037 For tobacco cultivation:

. ) . B. Australia ranks first
1038 In cotton production,among the continents: C. Europe ranks first

D. South America ranks first

A. Very fertile
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1040

1041

1042

1043

1044

1045

1046

1047

1048

1049

1050

1051

1052

1053

1054

1055

The soil of desert regions is always:

Woollen fibre is comparatively:

In Pakistan, sugar content inclimate is not suitable is:

In 1947, per hectare yield of maize in Pakistan was:

In Pakistan, cotton picking work continues:

In Koh-Safed, 4,760 meters high peak is:

Annual average water discharge of three western rivers Indus, Chenab & Jhelum of
Pakistan is:

In irrigated regions of Pakistan, sugar-cane crop:

At present, how much Earth's surface is under cultivation ?

Modern woollen textile industry began in the world:

Which study is important for Trade Geography ?

In the world, with the help of mineral resources of energy:

Which division of Punjab province produces maximum rice:

Until 1972, Pakistan railway was a:

Deep sea water fisheries is called

Eleven thousand years before today

Baroghil Pass located in Hindukush mountains provide linkage between:

B.

D

Oo0Ow ooOw OO w>

o @Nvy)

oN@NvY)

oo0ow

B.

DOwW» UOw

o0w» UO0wW

Veril very fertile

Absolutely infertile

. Heavy than other fibres
. Very heavy than other fibres

. Not light than other fibres

. Up to 5 percent
. Very low
. Near about 14 percent

. 500Kg
. 1500Kg
. 1200Kg

. Throughout the year
. From June to November
. Only in November &amp; December

. Haramosh

Noshaq

. Tirch Mir

. 100 million acre feet
. 150 million acre feet

. 200 million acre feet

. Have to irrigate after two weeks
. Need irrigation after long intervals
. Much water is not needed

. 20 percent
. 15 percent
. 5 percent

From U.S.A

. From France
. From ltaly

. Study of geography
. Study of economics
. Study of demography

About 50 percent electricity is

produced

C.
D.

Electricity production is not possible
In huge amount electricity is

produced

B.
C.
D.

B.
C.
D.

Lahore
Sargodha
Multan

No profit earning department
Department, running in loss
Ordinary income earning

department

B.
C.
D.

A

Pelagic fish
Anadromous fish
Halibut fish

100% land surface was covered

with vegetation

B.
C.

B.
C.
D.

Forests areas was limited
Three was no forests

Herat and Pakistan
Wakhan and Pakistan
Sinkiang and Pakistan
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1057

1058

1059

1060

1061

1062

1063

1064

1065

1066

1067

1068

1069

1070

1071

1072

In the world, largest coconut producing country is:

In cold climate, fish:

How many percent forest are under private sector?

In the world, estimated area under cultivation is:

Anthracite deposits account for how much of global coal deposits ?

Uranium and thorium are being used in nuclear power plants as a:

During nineteenth century, in cotton textile manufacturing U.K:

What, was the population of Muslims at the time of Independence ?

In the world, largest per square mile, rearing of sheep is in:

In the world, largest sunflower producing country is:

In the world, highest per hectare cotton yield is in:

Among all metals of the world, gold is a:

With the help of Bessemer furnace from Pig Iron we:

The world Geo denotes

World's about one fourth hydro-electricity is produced in the continent of:

For cultural, economic & industrial development and political stability of country:

Agriculture is man's:

Ow>» O

>

oo

o @ Ny

w >

wr UowP

oOwW>» UOw

. Philippines

India

. Sri Lanka

. Perishers very soon

Never Perishers

. Perishers soon

. 25 percent
. 50 percent
. 15 percent

. 5 thousand million hectares

. 1000million hectares
. 10,000million hectares

. 10 percent
. 20 percent
. 80 percent

. Not as a raw material
. Can be use as raw material
. Cannot be used as raw material

Was not an important country

. Stands at lower level
. Stands no where

. 50 million

. 70million
. 150million

. United Kingdom

France

C.USA

o0 o0

OooOw

B.

> UOW» UOWP» UOwD

. Ukraine

USA

. Russian Federation

Asia

. Europe

Africa

. hard metal

. not soft metal
. very hard metal

. Cannot refine high quality steel

. Cannot free from sulphur
. Could free from all impurities

. Soil
. Rock
. Sandstone

. Europe
. Australia
. Antarctica

Presence of means of transport are

not necessar

C.

There is no role of means of

transportation

D.

There is very nominal role of means

of transportation

B.
C.

Secondaryeconomic activity
Quinaryeconomic activity
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1082

1083

1084

1085

1086

1087

1088

1089

Which study is important for Trade Geography

How many nuclear power stations are present in France ?

In Argentina, rearing was started by:

World's population in Mid-2016 is became:

How many nuclear power stations are present in Pakistan ?

Industrial Revolution started in the world from:

In woollen textile industry, wool is used as:

Geography is divided into two major branches and one is:

In Summer season, Pakistan's coastal area's:

Ripening period of sugar-cane crop is:

How much seed per acre for wheat cultivation is required ?

In Australia, estimated uranium deposits are:

For successful maize crop, number of plants in one care must be:

For wheat production, the continent of Europe:

In Pakistan, deciduous forests are found in mountainous region up to:

In Pakistan, cotton cultivation is done:

What type of water is most suitable for fist

ow>

>

oow

ocow

cow

oow

oow

ow>» DO

DoOT>» DOm»

CO®m> DO

DOU> DOW

Cw>» DO

Tertiarf/economic activitgl

Study of geography
Study of economics
Study of demography

50 stations
70 stations
90 stations

Asian people
British people
German people

10 billion
15 billion

6 billion
Two

Ten
Fifteen

Indian Sub-continent

China
US.A

Not a raw material
May be used as raw material
May be not used as raw material

MilitaryGeography
CulturalGeography
RacialGeography

remains moist
remain severe hot
remains cold

four months
one year

A few months

only 40 Kg
30 Kg is required
according to the sowing time

500thousand metric tons
1000thousand metric tons
Only 1thousand metric tons

More than 10 thousand
20thousand
In enough members

Ranks first

Ranks third
Ranks forth

Does not exists
At large area
At very small area

In June &amp; July
During spring
In December

Shallow water

Cold water
Hot deep water

Hinh hanlwwmrd ~rnanintrice
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1091

10092

1093

1094

1095

1096

1097

1098

1099

1100

1101

1102

1103

1104

1105

The electric process furnaces are installed in world's:

Animal's dung

Tropical deciduous plain forests are found in:

During 2000-01, WAPDA'S installed capacity of thermal power was:

Which sea is located in south of Pakistan ?

In the world, continent of South America's ranking in sugar-cane production:

Before industrial revolution in the all countries of the world, major part of labour force was:

Total estimate wheat production of the world is:

Highest peak of Salt Range, Sakesar is:

In Pakistan, which province ranks second in wheat production ?

China's largest iron ore deposits are located:

Pakistan' s first woollen textile mill was established at:

In the world, out of total energy, 29.2 percent is being produced from:

In the Punjab province, average per hectare yield of maize is:

Coconut producing countries are:

U.S.A's largest iron ore deposits are located in:

M. 1Yl VAunwalu Luuliunic

C. Where electricity production is
normal
D. Where electricity is costly

. Is not important for soil
. Has little importance for soil
. Is not used for soil fertility

> O0OO0Ow

. Plain area

. Lower plain area
. Bar region of upper ludus

o0

B. 10,000 MW
C. 5,750 MW

D. 7,500 MW

A. Bay of Bengal
B. Persian Gulf
D
A
C
D

. Mediterranean Sea
. is one number

. is third
.is 10th

B. Engaged in secondary economic
activity

C. Engaged in tertiary economic
activity

D. Engaged in quaternary economic
activity

. 500 million metric tons
. 1000 million metric tons
. 200 million metric tons

B
C
D
A. 5000 feet
B. 4950feet
D

. 5325feet

. KPKprovince
. Punjabprovince
. Baluchistanprovince

oow

. In Sin Kiang region
. In Yangtze valley
. In Se-Kiang region

. Faisalabad

. Hyderabad
. Rawalpindi

oOoOw>» OTOOw

. Petroluem
. Natural gas
. Hydroelectricity

oN@ Ny

. Only 1000Kg
3000Kg
1500Kg

. Brazil &amp; Argentina
. Pakistan &amp; Iran
. Japan &amp; Kenya

OW>» UOW

A. Alabama &amp; Birmingham state

C. Western mountainous region
D. Alaska state

R Thraa air ramnaniac



1106

1107

1108

1109

1110

111

1112

1113

1114

1115

1116

1117

1118

1119

1120

1121

1122

At the time of independence, in Pakistan, there was:

For smelting (refinement) of one tone of Iron ore:

In 1970, Pakistan possesses how many cargo ships ?

Hydro-electricity could be produced:

According to 2015 statistics, annual natural gas production of Russian Federation was:

In the growth of the National vegetation;

If we continue to use coal at this rate, its reserves are enough for:

Rice, originally belong's to:

1851" s Industrial exhibition was opened by:

For best propagation of tea-plant, average annual required rainfall is:

Wheat harvesting time in Pakistan is:

Among gold producing countries, Australia ranks:

In the continent of Asia, largest producer of gold is:

Industry is which economic activity ?

Basic purpose of domestication animals is:

In which century Europe became silk textile producer:

In 1995-96, Pakistan faced severe food shortage:

L. 11ncc an bUIIIPGIIIUO
C. One air company
D. Two air companies

A. 10 ton coal is required
B. Only 5 ton coal is required

D. Only small amount of coal is
required

50ships
79ships
90ships

At every place

> 00w

Not at every place
In dry areas of the world

500 billion cubic meters

300billion cubic meters
200billion cubic meters

DoU> DO

Temperature does not play any role
Role of man is prominent
Role of relief is prominent

50 years only
100 years
1000 years

Owm» DO

Mediterranean region
Western desert region
Western European region

ow>

Indian Viceroy
President Rose Walt
Henary Eighth

10 inches
In huge amounts

COm> DO

Below 80 inches

Months of October-November
Beginning months of winter
Autumn

First in the world

Third in the world
Outstanding position

Japan

India
Pakistan

Primary

Tertiary
Quaternary

Transporting goods
Riding

m» CDOUP DOTP TOUH 00O

o

Use as a draught

200B.C
1500 A.D
20th century

oow

B. Due to severe droughts

C. Due to exporting large quantities of
food

D. Due to mismanagement

A Firat centurv A D



1123

1124

1125

1126

1127

1128

1129

1130

1131

1132

1133

1134

1135

1136

1137

1138

1139

114N

Until, which century, silk manufacturing was a secret?

Where does India's biggest/largest Iron & steel center located?

World's total estimated coal reserves are:

Maize crop cultivations require:

Installed capacity of Cashma nuclear power project is:

Due to air crash in 1949, license of air company was cancelled ?

Estimate natural gas production of the world is:

The largest equatorial rain forests are in:

Fisheries of warm water:

Water and Power Development Authority was developed in:

In Economic Geography, we search for the basic question:

The radioactive properties of uranium were first discovered by French physicist in:

Total estimated wheat production of the world is:

Railway engine was invented in:

For eleven months, silkworm eggs are kept under

In India, important tea producing region is:

For cane sugar manufacturing raw material is:

In tho winrld annnal ranciimntinn Af minaral Al ic-

oow

ow>

A

ocow

B.

DOW» DO

UL vy s e

1500 A,D,
20th century

. Durgapur

Bhadravati
Bhilai

. 5 trillionmetric tons

10 trillion metric tons
15 trillion metric tons

. Sandysoil

Clayeysoil
Clay-loamsoil

500MW
715MW
1010MW

Orientairways
Crescentairways
Boajaairways

10 trillion cubic feet
500 trillion cubic feet

20 trillion cubic feet

Germany
India
Canada

Are very costly
Is liked very much
People dislike

1947
1965
1961

Who is responsible for economic

activity

C.
D.

What is output of economic activity
Economic activity relates with which

factors

ocow

w> O

® > 0DOWP DOWP TOIH 00D

1750 A.D
1905 AD
1850 A.D

500million metric tons
1000million metric tons
200million metric tons
1730

1930
1630

100°F temperature
50°F temperature

32°F temperature

Eastern Punjab
Uttar Pradesh

Western Bengal

Prepared artificially

Imported from abroad

Obtained from mineral sector

10 billion barrels
20 billion barrels



[NV HIUIS VWUIIU, allliudl LULIDUTTIPUULT UL TTINSTATL VI 1D, c

. 50 billion barrels

A. 1,500 Km

1141 Length of common boderline of Pakistan and India is: 2,000 Km

. 1,650 Km

o0

. Rohatanregion
. Sabraregion
. Malagoriregion

1142 Kuwait's largest oil reserves are located in:

o @ Ny

Zhob
. Loralai
. Muslim Bagh

1143 Terminal station of Pakistan Railway of Afghan border in Baluchistan is:

100 eggs

1144 One she-silkworm in one season lays: 1000 eggs

. One lac eggs

oO0w> OU0Ow

. Is more than 10 percent
. Is only 2percent
. Is about 2percent

1145 Out of total world's area under cotton cultivation, Pakistan's share:

o @y

. Possible in all regions
. Also possible in rain-fed areas
. Not possible in all regions

1146 Sugar-cane cultivation in Pakistan is:

o0ow

. 30 kg seed is required
. Loamy soil
. Clay loam soil

1147 Rice crop require:

oo0ow

B. Deserts are very important
1148 For nomadic and commercial herding C. Equatorial regions are very

important

D. Monsoon region is important

. 15percent
. 20percent
. 27percent

1149 In 1947, Pakistan inherited what percentage of railway line ?

. Tanzania

B

C

D

A. Libya
1150 In Africa, most important tea producing economy is: B
D

. Morocco

B. Smallest gold mine
C. Medium size gold mine
D. unpresented gold mine

1151 South African gold mine of Witwater strand located in the province of Transvals in world's:

A. 80 percent area must be under

forest

B. 50 percent area must be under
1152 For sound economy of an agricultural country: forests

D. Forest do not play any role

B. In Tundra region
C. In Europe
D. In Australia

1153 World's natural rubber forests are found

A. Saline water

1154 Where does exist, the best quality Fish ? B. Hot water

D. Warm water

A. Subsistence agriculture is being
done

1155 In the equatorial countries still:
C. Irrigated agriculture is being done
D. Commercial grain farmingis being
done

A. Pepal' s leaves

1156 The feed of silkworms is: B. Acacia’ s leaves

D. Delberaia leaves



1157

1158

1159

1160

1161

1162

1163

1164

1165

1166

1167

1168

1169

1170

1171

1172

1173

Until 1985, how many nuclear power generating plants were working in the world?

In Pakistan, how much plantation is done annually ?

According to 1961 population census, Pakistan ranks:

In present days, uraniumis a:

In Economic Geography, we study about

Presence of nitrogen, phosphorus and potassium in the soil for plant growth:

World's huge coal reserves of northern hemisphere are located:

Industrial manufacturing is man's:

Out of total area under tobacco cultivation, 20 percent is under:

In the world, Russian Federation ranks in petroleum production at:

When did the decision of division of indo. Pak subcontinent took place ?

Which continent is most thickly populated:

Due to some specific characteristics, woollen clothes are:

During nineteenth century, U.K was biggest lint:

In rain-fed regions of the world, which type of agriculture is practiced ?

In world, which region has highest yield of sugar-cane?

For cotton crop cultivation, regions with 30-40 inches rainfall:

— e —i g e

B. 200 plants
C. 150 plants
D. 250 plants

A. 40 thousand hectares

C. 30thousand hectares
D. 50thousand hectares

B. Second largest Islamic country
C. Fifth largest Islamic country
D. Not any prominent country

not major source of energy
not an important mineral
becoming an important metal

oow

Agriculture

Political activity
Physical factors

is not necessary

is not very necessary
is absolutely not necessary

DoU» DOw»

Between 5°-10° north latitude
Between 80°-90° north latitude
Between 10°-20° latitude

oow

Primary economic activity
Quaternary economic activity
Quinary economic activity

oow

Desitobacco
Indiantobacco
Americantobacco

Second postion

Fifth position
First position

DOT> DOW

June 1, 1947
June 15, 1947
July 1, 1947

oow

Africa
Australia
South America

Weared in hot countries
Not weared in hot countries
Weared in winter season

ow>» DOw

Exporting country
Consuming country
Manufacturing country
Commercialagriculture

Fruitagriculture
Food cropsagriculture

China

Australia
Pakistan

are not suitable

are not favourable
are favourable to some extent

COT» DOWP» DOUP» 0DOW
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1177
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1183
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1185

1186

1187

1188

1189

1190

In mountainous, desert and plateau regions of Pakistan:

Merino breed sheep is most important for:

During 1960-61, percentage of goods transferred by railway was:

The industrial development:

In the continent of Europe, in iron ore export, Sweden is:

According to 1998 population census of Pakistan, which province possesses 13.58 percent

population ?

In 1947, Pakistan's hydro-electricity installed capacity was:

In Pakistan, winter season remains in Pakistan from:

During 2014-15, production of cash crops in Pakistan was:

In the world, coal reserves are present:

Is Wrought Iron free from all impurities?

How many administrativedistricts Punjab province possesses ?

With the help of uranium:

Gunda Singh Wala, Solaimanki, Islam and Punjnad head-works are constructed at:

In Pakistan, out of total edible oil production, 80 percent is obtained:

In equatorial rain-fed forests region annual rainfall is

Out of total wheat cultivated area irrigation is done over:

B. Means of transportation are latest
C. Means of transportation are
advance enough

D. Means of transportation are latest
and fast

Meat
. Skins
. Milk

o0w

. 50percent
. 90percent
. 30percent

o0ow

B. Nothing is required

C. Land and water is basic need

D. Means of transportation are basic
need

B. Unimportant country
C. An important country
D. Not an important country

B. Punjab province
C. Sindh province
D. Baluchistan province

20,000 Kv
50,500 Kv
One lakh Kv

oow

March-July
February-August
September-February

50 million metric tons
45.0million metric tons

90million metric tons
In 50 countries

In 100countries
In 150countries

Not free from all impurities
Free up to some extend

Cannot purify up to 100%

. 50districts
. 60districts

DOW> DOW» UOU> DOW> UOW

. 40districts

. Thermal electricity is produced
. Hydro-electricity is produced
. Solar electricity is produced

. River Ravi

. River Neelam
. River Jhelum

O0Ow>» OOw

. From rapeseeds
. From sunflowers
. From Soya bean

Very less

. Very meagre
. Up to 30 inches

UO0w>» U0Ow

. 50percent
. 70percent
. 90percent

OO w

AN Nannat haavAd AalA
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1192

1193

1194

1195

1196

1197

1198

1199

1200

1201

1202

1203

1204

1205

1206

1207

Due to their woollen body, sheep:

World population is annually increasing by:

Due to seasonal variation in Pakistan percentage share of water flow in rivers in winter is:

Shallow sea water fisheries is called

When Pakistan National Shipping Corporation was founded ?

When did regular rubber export started from South America-Brazil?

Several hundred thousands years before, the growth of population was:

Pakistan is located, in the monsoon region's

World's best wool is secured from:

In the world, in how many countries, uranium is present?

Which country produces largest amount of nuclear power in the world ?

In the continent of South America, coals reserves are:

Environmental factors affect the growth of natural vegetation:

In 2014-15, area under sugar-cane cultivation was:

About 85 percent steel refinement work is done by:

During summer season, atmospheric pressure:

At the time of independence, Pakistan's

A wdllnut lieailu vuild

C. Cannot bear heat

D. Could not live in summers
A. 15 million people

. 100 miillion people
. A few miillion people

o0

. 25 percent
. 30 percent
. 5 percent

. Demersal fish

. Herrings fish
. Haddock

OO0ow>» OOW

. 1st June, 1980
1st August, 1975
. 15th July, 1977
1750 A.D

1857 AD
1900 A.D

Very fast

. Extremely very fast
. Negative

. eastern margin

. middle region
. outside

UOw» U0OwWP U0OwP U0Ow

. Pakistani sheep
. Mixed breed sheep
. Lohi sheep

. 50 countries
. 100 countries

OOowm>» OOW

. only 20 countries

. Canada
Russian Federation
China

. 20 percent of the total reserves
. About 30 percent of total reserves
. 80 percent of the total reserves

OW» Uow

. Very little
. To some extent
. Not an extent

o @ Ny

. More than 10 lakh hectares
. 20 lakh hectares
. 50 lakh hectares

OooOw

. 20 countries
. 50 countries
. 100 countries

oo0ow

. becomes high
. becomes very high
. becomes moderately low

oo0ow

B. 2.0million hectares area was under
forests

C. 5miillion hectares area was under
forests

D. 10million hectares area was under
forests
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1210
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1222

1223

1224

Organic matter is very important for:

Nomadic herding, from primitive periods in rain-fed regions:

In Pakistan, tobacco is zaid rabi's:

Population of Pakistan, according to 1998 census is:

Major sources of wool in the world are:

In Manchurian Region, China's oldest Iron & steel manufacturing centre is:

According to 2015 statistics, natural gas production of U.S.A was:

Population of high income countries of the world is:

In the continent of Africa, use of woollen fibre is:

In Western developed countries people got their diet's:

In Summer, atmoshpheric humidity in afternoon:

Production of atonomic energy at commercial level began:

At the time of independence, area under maize cultivation was:

How many countries of world produce rubber ?

In Pakistan, per capita electicity consumption is:

In the Continent of South America:

Installed capacity of Ghaz Barotha hydel power:

. Soil fertility
. Soil maintaining
. Soil conversation

OO w

. Rearing has no importance
. Has not became major countries
. Is only profession of few people

o0ow

B. Not a cash crop
C. Food crop

D. Non-food crop
A

th

. 15 crore, 50 lakh &amp; thirty
ousand

C. 15 crore and 90 lakh
D. 12 crore, 60 lakh &amp; 90
thousand

A. Camels

C. Goats
D. Yaks

Mukden
Wuhan
. Chunpking

. 300 billion cubic feet
. 200billion cubic feet
. 500billion cubic feet

OW>» UOW

. 900countries
. 1,000countries
C. 8,0000countries

w >

. Very huge
. Absolutely small
. Very much excessively

. No percentage from animals

Only 5 percent from animals
. Very little percentage from animals

UoOw» UOow

. falls up to 30 percent
. falls up to 15 percent
. falls up to 10 percent

. after 1950 A.D
in 1900

DOm»> OOW

. after1970

. 2lakh hectares
2.5lakh hectares
. 3lakh hectares

. 10 countries

. 50countries
. 100countries

UOw» U0Ow

. 500 units
. 1,000 units
. 750 units

oow

. Brazil ranks first in fish catch
. Argentinaranks first in fish catch
. Chileranks first in fish catch

oo0ow

1250MW
890MW
1500MW

> Uow

. production cannot increase
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With the help of balanced use of fertilizers:

In how many administrative districts Sindh province is divided ?

The raising of silkworms totally depends upon

What, was the population of Muslims at the time of Independence?

During 2014-15, area under cotton crop was:

Total mountainous area of Pakistan is:

In 1991, how many narrow guage railway line was closed :

Human intervention and other factors:

Rice is cultivated in those countries, where climate is:

Iron Age started in the world in:

Among the rice producing countries India, stands at:

What percent of G.D.P was we earn from agriculture ?

Which country, fulfills its 99 percent hydro-electricity needs with the hyro-electricity:

Cotton is Pakistan's:

In which year, Russia got first position in Iron & steel production:

In which year, population of Pakistan was 42.9 million persons?

In Indus basin, cotton cultivation is being done:

In 2015, total electricity generation of the world was:

Cw> DO

DOW» DO

oo

oow

oow> DO UOW>r TOW> 0UOWP UOW

> OO

C. production can be increased to
some extent
D. production becomes double

A. 30districts
B

. 21districts
C. 15districts

Suitable climatic conditions
Better weather availibility
Human skill and labour

50 million
70 million
150 million

5.0million hectares
10.0million hectares
3.0million hectares

4,68,000 sq Km
5,00,000 sq Km

3,35,000 sq Km

@©

. 600Km

500Km
575Km

B. Do not affect the growth of forests

C. May affect the growth of forests

D. Limit the growth of forests

B. Dry &amp; hot
C. Cold temperate
D. Extremely cold

Many thousands years ago
Eighteenth century
Twentieth century

10th position
5th position
First position

15percent
30percent

50percent

. Canada
. Australia
. New Zealand

. Not important cash crop
. Ordinary cash crop
. Not a cash crop

A. 1950

. 1990
. 1850

1972
1951
1981

. More than 3 thousand years
. From many thousand years
. From few thousand years

. One billion kilowatt
. 500billion kilowatt

C. 100billion kilowatt
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At Karachi seaport, there is arragement:

In the sub-continent, canal digging started in:

According to 2016 estimates, world's 59.8 percent population is:

Beautiful lakes of Kallar Kahar, Khabeki and Uchchali are located in:

In Economic Geography, we search for the basic question

At present, world's 80 percent natural rubber is produced in:

Wold population is annually increasing by:

In the world, largest palm oil producing country is:

How much Sea food is required for fisheries for gaining one pound meat:

Agricultural started in such area of the wrold:

In socialist economy, economic resources are under control of:

Pakistan earns its more than 60 percent foreign exchange:

Sowing season of wheat is:

Does Pakistan International Airline provide cargo services ?

In Asian countries, largest wool producing country is:

In the world, Prairies grasslands are:

. For handling 10 million tons goods
. For limited import &mp; exports
. For huge goods for imports

. Sher Shah Suri's period
. Babur's period

. Ahmad Shah Abdali's period
. In Australian continent

. In continent of Europe
. In continent of South America

OOw>» OO OO

. Baluchistan plateau
. South Wazrsitan
. Southern Punjab

oo

B. Who is responsible for economic
activity
C. What is output of economic activity

D. Economic activity relates with which
factors

. Sri Lanka
. Brazil
. African countries

. 100 million people

B
C
D
A. 15 million people
C
D. A few million people

. Nigeria
. Indonesia
. Thailand

20 pounds of plankton

. 100pounds of plankton
. Plankton is no more required

oO0w> UOwW

. Where water was not available
. Where water was needed
. Rainfall was sufficient

oo0ow

. Private sector
. Labourers
. Entrepreneur

o @Nvy)

. By exporting minerals
. By exporting hides &amp; skins

W >

D. By exporting rice

. Beginning of winter season
. During spring
. End of winter season

oo0ow

B. Does not provide cargo services
C. Planning for it

D. Occasionally provide cargo
services

A. India
C.Iran

D. Pakistan

B. Not world's grain basket
C. Center of live-stock farming
D. Dairy farming centers
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Out of total exports of Pakistan, more than 60 percent:

In the world, percentage of hydro-electricity production is:

Spinning of silk yarn and weaving of cloth started in China in:

Sowing of rice is done:

In the continent of North America, potential of hydro-power generation is:

United Kingdom's all mineral oil production comes from:

Mediterranean region is famous for commercial production of:

In Sindh province, cultivated area is:

For the development of international trade, we must develop

Pakistan's first hydropower project was:

In Geography, we study about the distribution of things on the earth's surface:

Semi-dry regions with 10-20 inches rainfall:

Invention of hydro-turbine, provided:

Pakistan is located in subcontinent's:

Where does rice plant belong?

According to hypothesis of Herman Kohan, the Earth can bear:

B. Is earned by rice exports

C. Is earned by leather &amp; leather
goods export

D. Is earned by fruits &amp;
vegetables exports

. 50 percent
. 70 percent
. Only 10 percent

1500 B.C

.1000 B.C
. Before industrial revolution

O0wW» U0OwW

B. in autumn

C. in winter

D. at the beginning of winter
A

. 10% of total hydro-power
generation

C. 25%of total hydro-power generation
D. 50%of total hydro-power generation
A. Atlantic ocean

. English channel
. Antarctic sea

Grain
Cotton

. Edible oils
. 6.0 million hectares

. 10.0million hectares
. 7.2million hectares

gOO0w» UOwWH U0

. Means of communication
. Means of income
. Means of employment

o QN

. Warsak
. Renala khurd
. Chasma

o @ Ny

B. Timely
C. Climatic
D. Enviromental

A. Are not suitable for sheep herding

C. Are suitable to some extent for
sheep herding
D. Are not absolutely suitable for
sheep herding

B. Limited chance of hydro-power
generation

C. Easiest chance of hydro-power
generation

D. Very limited chance of hydro-power
generation

. North-eastern side
South-western side

. South-eastern side

. It is cold temperature region plant

. It is torrid region plant
. It is warm temperate region plant

. Easily 10 billion population

JOWP TOwWP UOWw

. 6 billion population can live easily
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Uranium is most dangerous:

How much percentage of Bangladesh's cultivated area is under rice crop?

In the world, percentage of iron production among metals is:

American cotton varieties were introduces in Pakistan:

At present, seventeen oil seeds are being used:

Which region of India is most important for cotton textile:

How many percent of electricity needs, France fulfils by nuclear means:

In Primary economic activities, human beings got benefits from basic resources:

In U.S.A Col, Drake in 1859, drilled first oil well at:

Among all categories lignite coal is:

In percent Pakistan area, first railway line from Kotri to Karachi was:

Installed capacity of Tarbela hydel power project is:

Which province of Pakistan, possesses largest population ?

Which category is the Fishing economic activity ?

According to 1st January 2001 estimates, world's natural gas reserves are:

Which countries of the world, practice commercial rearing?

During June, 2016, PPI'S installed capacity of electricity was:

L. £5 DIIION popuiation can survive
A. metal in the world

C. due to its non-radio active
properties

D. for life

A. 20 percent
B. 50percent

30percent
Only 25 percent

50 percent
About 70 percent

DoU> O

After independence
In 1950 decade
A few years back

To fulfil the diet of man
For getting protein

For getting vitamins
East Punjab

Assam
Uttar Pradesh

oW DOWP DOW

>

50 percent

C. 25 percent
D. 90 percent

Indirect
. Don not get benefits
Ver little

oW

B. California state
C. Florida state
D. Texas state

A. Most superior

C. Not good quality
D. Not superior quality

B. Constructed in 1875 A.D
C. Constructed in 1905 A.D
D. Constructed in 1935 A.D

4010Mw
3700Mw
2925Mw

oow

KPKprovince
Baluchistan province
Sindh province

Quinary economic activity
Quaternaryeconomic activity

Tertiaryeconomic activity

5,000 trillion cubic feet
10,000 trillion cubic feet

DOW» DOmP» DOW

. 1,000 trillion cubic feet

B. Pakistan, Afghanistan &amp; Iran
C. Mongolia, Turkmenistan &amp;
Uzbekistan

D. Greece, Albania &amp; ltaly

B. 5000MW
C. 3500MW
D. 2500MW
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Oceans and seas where cold and warm current meet:

Perhaps first domesticated animal was

Coniferous evergreen forests are found:

From equatorial plant Cincona:

By using seed of maize in Pakistan, we can yield:

In Sub-continent, Punjab province:

In 1957, Pakistan's first fertilizer mill was established at:

In the Baluchistan province:

Pakistan is located, in the monsoon region's:

Tobacco crop takes:

The continent of Africa, possesses world's mineral oil reserves of:

Out of total GNP of Pakistan, 1.0 is earned from:

In Pakistan, south and South-eastern Punjab is:

In 18th century, due to invention of steam engine & engineering industry:

Due to seasonal variation in the flow of Indus and its tributaries:

During 2014.15, our production of food crops was:

[ RSN SRR S IR SIS ST ] | JURT IR R D I S

A. Are not suitable for fishing
. Are most unsuitable for fishing

. Are extremely unsuitable for fishing

B

D

A. Elephant
B. Cat

. Horse

D

A. Between 0°-5° latitudes
B. Between 30°-45° latitudes
D

. Between 20°-30° latitudes

. Natural rubber is obtained
Qil of palm is obtained
. Wax is obtained

ToOw

B. Up to 150md. per acre yield
C. 50md. per acre yield

D. High amount per acre yield
A. Is not grain basket

C. Can be converted in to grain basket
D. Was grain basket

B. Jaranwala

C. Multan

D. Karachi

A. Large area is under forests
B. Small area is under forests

C. 2.0million hectares area is under
forests
A. easter margin

C. middle region
. Outside

O

. Sixmonths for ripening
. One year for ripening
. Ninemonths for ripening

Only 5 percent

. 10percent
. 20percent

o0wW> UOwW

. Sugar cane crop
. Wheat crop
. Tobacco crop

oo0ow

B. Is an ordinary cotton region

C. Is not important cotton producing
region

D. is small cotton producing region

B. Use of coal increased a little
C. No change took place in coal use
D. Coal use became less

B. River transportation is continued
throughout the year

C. River transportation is limited up to
few months

D. River transportation is not possible

A. 30 million metric tons
B. 25million metric tons

D. 20million metric tons

B. India
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For best rice crop, at planting time nursery must be:

According to 1998 population census of Pakistan, percentage of rural population was:

For rubber plant plantation, which soil is most suitable ?

Ginning Machine was invented in U.Kin:

For cultivation of one acre of maize crop:

In the world, ratio of labour force in agriculture is:

World's 80 percent coal production consists of:

K-2 peak located in Karakoram has height of:

In the world, United states of America:

In 2016, Pakistan National Shipping Corporation possesses:

Primitive period of man on the earth is called:

Our Earth surface has bee encircled by:

Khunjerab Pass located in Karakoram provide international linkage between:

Pakistan's Out, of total agricultural income:

At present, how many nuclear power stations are working in U.S.A?

Where does exist, the best quality Fish

In Latin South America which country fulfils its maximum electricity needs by nuclear power
?

OooOw

>

oOow o0

w >

OO w> ooOw o

o0Ow

oo

B.
C.
D.

Ow>» TUOw

Uow» UOw

UOmP» UOWmP» U0wW» 00w

. United Kingdom
. Afghanistan

. More than 40 days
. Only 20 days
. Age of nursery does not affect

. 70.2 percent
. 75.5 percent

78.0 percent

. Marshy land
. Sandy soil
. Clayey soil

. 1893 AD

.1920 AD
. 1950 A.S

. Only 5 Kg seed is required
. More than 20Kg seed is required
. Small quantity of seed is required

. 35 percent
. 45 percent

. 25 percent

. Lignite coal
. Anthracite coal
. Brown coal

. 8,600 meters
. 8,510 meters

. 8,900 meters

. Not produces vegetable oil
. Can produce vegetable oil
. Cannot produce vegetable oil

. 20ships
. 35ships
. 50ships

. Iron age
. Metals age
. Industrial age

Hydrosphere

. Inosphere
. Mesosphere

. Pakistan and afghanistan
. Pakistan and India
. Pakistan and Iran

11.5 percent is earned by cotton

. 20.0percent is earned by cotton
. 15percent is earned by cotton

. 100 plants
. 50 plants

. 150 plants

. Saline water

Hot water

. Warm water

Al-Salvador
Argentina
Brazil
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Till 1559, Europeans:

Which country is principal buyer of cotton:

United States of America's 3,236 billion Kw electricity consumption in 1999:

Cotton crop cultivation is done:

Punjabprovince, wheat consumption is:

According to June 2015 estimates, iron ore reserves of the world are:

In South America, which country is largest producer of cotton?

The continent of Asia is producer of:

Pakistan's 74.4 percent tobacco production comes from:

In 2015, how many railway stations were in Pakistan ?

In underdeveloped countries herding is

Portugueses & Spaniards introduced rice in:

In 1947, at the time of independence:

In which city, railway head-quarter is located ?

In Peru, per hectare yield of sugar-cane is:

Natural rubber plant remain productive:

. Were fully aware about use of tea
. Began, trade of tea
. Were introduced about tea

OoOow

. United Kingdom
. Germany
. France

o0ow

B. Was 50 percent of total electricity
generation in the world
C. Was 10 percent of total electricity
generation in the world
D. Was 70 percent of total electricity
generation in the world

. during winter season
.in any season
. at the end of summer season

. Highest amongprovinces
. Least amongprovinces

OO w> ooOow

. Hugeamongprovinces

. 100,000metric tons
. 50,000metric tons
. 1000million metric tons

. Argentina

Chile
. Colombia

UOw» U0Ow

. 80% world's sugar-cane
. only 30% world's sugar-cane
. 10% world's sugar-cane

OoOow

. Punjabprovince
. Sindhprovince
. Baluchistanprovince

o0ow

. 808
. 750
. 825

. Being done in Commercial manner

. Being done by rich people

B

C

D

A

C. Very little important
D

A. Australia

B. Western Europe

D. Continent of Antarctica

B. Pakistan was not self-sufficient in
food crops

C. Pakistan was exporter of surplus
food crop

D. Pakistan was food importing
country crop

. Karachi
. Rawalpindi
. Hyderabad

oow

. 100metric tons
. Very high
. 150metric tons

. For 10 years
. For 20 years

OO w> o0Ow

. For 25 years
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Cultivation of Virginia tobacco was introduced in lower Indus plain:

With 163.5 billion cubic meters annual production of natural gas, Canada ranks:

Prominent characteristics of electricity is this, that we can:

Which country of the world, possesses largest reserves of coal ?

In Pakistan, tobacco cultivation is:

Pakistan's second nuclear power project was established at:

In fresh sugar-cane crop, sugar content is:

In Pakistan, at present annual consumption of irrigation water is:

How many percent forests are under private sector:

Indonesia ranks in rubber production in the world:

Oil reserves of Middle East accounts for, how much, total petroleum reserves of the world?

The continent of Asia produces world's:

Due to continues use of fertilizers:

In Pakistan's north-eastern and north-western mountain regions winter:

In 1990, Pakistan railway have how many railway engines ?

In Pakistan, from July to September remains:

Zooplankton and phytoplankton are found:

o0ow

w >

oo0ow

Ow» UOObpP

w >

oo

B.
C.

D

B
C

UOwW> U0Ow

OW>» UOW

In 1910
.In 1930
.In 1873

. Third in the world
. Firstin the world

. 10thin the world

. Not transmit it everywhere
. Not transmit it in hilly areas
. Not transmit it in snowy areas

. China
. Russian Federation

. Brazl

. Done in all regions
. Being done in limited regions
. Also done in rain-fed regions

. Kot Addu
Quetta
Peshawar

. only 5 percent
. 10 percent
. very small

. 100million acre feet
. 150million acre feet

. 200million acre feet

. 25 percent
. 50percent
. 15 percent

. At fifth position
At 10th position

. At 20th position

. 30 percent
. 80 percent
. 20 percent

50percent rubber
Only 20 percent rubber
. 25percent rubber

. air pollution does not take place

. air pollution increase to some

extent

D.

o0 w>

m> 0O

> "owr» O

air pollution is decreasing

. Remains moderate &mp; short

. Remains humid and cold
. Remains moderate and long

750
808
825

Autumn season

. Summer season

. Winter season
In deep river water

. In cold and deep oceans
. In pacific ocean water

1900 AD
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In the world, manufacturing of artificial silk textile began in:

I which province, upper Sindh plain is located ?

In world, Pakistan is:

At present world's 36.1 percent energy needs are met by:

According to latest estimates:

Rice cultivation in China & Sub-continent is being done:

In Pakistan's plain areas, maize is cultivated:

In which year gold was recognized as international currency ?

Husk of rice is a:

Where does Fish resources exist ?

Which continent produces maximum amount of sugar-cane?

Estimated Fish species in the world are:

Due to industrial revolution in the world, in secondary & tertiary economic activity:

Coal reserves are:

Rice grains possesses protein:

In France iron ore deposits are located in:

Woollen textile manufacturing industry require:

At tlan tlman Afimdamamdaman ~f Palintan Alicwn ~Af canda faw Palintac; coima.

oow

> TOUP UOW

. 1950 AD
1866 A.D
Baluchistan

KPK
Sindh

Eighth largest cotton producer
Fifth largest cotton producer
Tenth largest cotton producer

Coal

Natural gas
Nuclear energy

90% land surface is under forests
Natural vegetation has absolutely

finished

C

B
C
D

B.
C.

D

TOow» UOow

O > DO

OwW» Dowp

. Only 10% area is under forests

. After industrial revolution
. Since 16th century
. Since 1900 A.D.

. As rain-fed crop
Very limited
At large areas

1750
. 1850

1950

Not any valuable product
Absolutely not any useful thing
Valuable to some extent

In rivers
In lakes

In streams

Africa

Antarctica
Australia

70 thousand species
5 thousand species
500 species

No increase took place
. Enough increase took place

Small increase took place

Un-exhautable source of energy
Renewable source of energy
. Ever increasing resources of

energy

o0Ow oOw

oN@NvY)

. 10 percent
. in nominal amount
. in huge quantity

. Normandi region
. The basin of River Lore
. Garon region

. Does not need water
. Small quantity of water
. Sufficient amount of water

. 25 thousand Km
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Herding of animals is which economic activity ?

In 1980, Pakistan had how many merchant ships ?

Longitudinal position of Pakistan is:

For wheat crop, such type of soil is required, which:

Potwar plateau cover's about, how much area of Pakistan ?

At the time of independence, area under cotton crop was:

In the world, total production of rape seed is:

Major source of sugar-cane in the world is:

In Brazil, most important sugar-cane producing region is:

In the world, commercial use of natural gas started in:

Until 1985, in how many countries power stations were established ?

In the coastal areas of Pakistan, weather remains throughout the year:

Which nrovince of Pakistan is most denselv nonulated ?

C. 15thousand Km
D. 10thousand Km

A. Secondary

C. Tertiary
D. Quaternary

B. 70ships
C. 35ships
D. 65ships

B. 65.0<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>-71.0<span
style="color: rgb(84, 84, 84); font-
family: arial, sans-serif; font-size:
small;">°</span>East

C. 60.0<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>-72.0<span
style="color: rgb(84, 84, 84); font-
family: arial, sans-serif; font-size:
small;">°</span>East

D. 59.0<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>-73.0<span
style="color: rgh(84, 84, 84); font-
family: arial, sans-serif; font-size:
small;">°</span>East

B. Contain sufficient amount of zine
&amp; potash

C. Contain enough moisture &amp;
phosphorus

D. Contain sufficient calcium
carbonate

A. 15000 sq miles
B. 16000sq miles

D. 10000sq miles

Smillion hectares
2.0million hectares
3million hectares

43 million metric tons
100million metric tons
500million metric tons

o> DO

>

sugar beet

. corn
grapes

oo

Bahia
Minas Gerais
South Coast Plain

1850 A.D

1900A.D
1750A.D

10 countries
15countries
50countries

oW DOUP UOW

Cold
Warm
Warm and humid

oow

) 0

. Sindhprovince
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In the world, largest manufactured of nitrogen fertilizer is:

How many administrative districts KPK possesses ?

How many varieties of tobacco are being cultivated in the world ?

Bluta wood is used for:

In the world, largest reservoirs of potash are in:

At the time of independence, Pakistan had:

During 2015-16, Pakistan railway possesses how many railway engines ?

Maximum monsoon rainfall of Murree is:

In the world, China's position in iron ore production is:

During 2014-15, in Pakistan area under wheat cultivation was:

How many percentage of our cultivated area is rain-fed ?

With the increase of temperature evaporation from plants:

In Economic Geography, we study about:

At the time of independence in 1947-48, area under wheat cultivation was:

Population of China and India is:

In Pakistan's north and north-east region, from 5,000 - 15,000 ft from sea level:

Accordina to nonulation census of 1998. rural nonulation hiahest ratio is:

. KPKprovince
. Baluchistanprovince

. Russian Federation
. United States of America

oow>» OQC

. India

. 30districts
. 50districts
. 35districts

oo0ow

. More than 100
. About 20
. Alot of

oo w

. No use of it
. Paper preparation
. Sports goods

France

India
. China

UOw» UOw

. A very powerful merchant craft
. Many merchant sea-craft
. Only one merchant craft

ooOow

500
625
700

ocow

. 50 inches
. 70 inches
. 100 inches

. Not very important
. Very important
. Very unimportant

Ow>» OO

B. More than 10million hectares
C. 5.5million hectares

D. Less than 5million hectares
A. 15 percent

B. 20percent

C. 30percent

B. Becomes slow

C. Become very slow

D. Become at zero level

A. Agriculture

C. Political activity
D. Physical activity

B. Very small
C. Less than 5million hectares
D. About 2million hectares

A. 50 percent of the World's total
population

C. 25percent of the World's total
population
D. 70percent of the World's total
population

. Monsoonforests are found
. Semi-desertforests are found
. Evergreenforests are found

oo0ow

) 0

. In Sindh province



1407

1408

1409

1410

1411

1412

1413

1414

1415

1416

1417

1418

1419

1420

1421

1422

1423

e mt mig te p e et mmrimm— i hm eyt e mrei— e g e — e a—s

In the world, among most important sugar-cane production countries, sugar content is:

In world, largest manufactured of chemical fertilizers is:

At present, most of the atomic energy is derived from uranium with atomic weight of:

India, largest sugar-cane producing state as:

During 2014-15, area under rice cultivation in Pakistan was:

At present, how much percentage of electricity is being produced by nuclear stations ?

Most of railway line of Pakistan is consist of:

In canal irrigated regions of Pakistan, cotton crop requires:

Due to insufficient rainfall in Pakistan, agriculture is:

Which country produces maximum amount of sugar-cane:

Ratio of labour force engaged in tertiary economic activity is:

How many percent of electricity needs, France fulfills by nuclear means:

In the development of an industry, modern means of transportation:

In Pakistan, maximum monsoon rainfall occurs in:

For tea plant, warm & humid climate:

Which Iranian city is connected with Quetta-Iran railway line ?

In the world, South Africa, Australia, Canada, Peru, Indonesia and Papua New Guinea are:

oc

Dow> ©

oow

ocow

oow

oW
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W Uow

In Punjab province
In Baluchistan province

More than 10 percent
15percent
More than 12 percent

Pakistan
Canada

United Kingdom
Uranium 238

Uranium 234
Uranium 232

Tamil Nadu
Maharashtra
Andhra Pradesh

Smillion hectare
10million hectare
15million hectare
50 percent

30 percent

35 percent

Meter guage railway line
Narrow guage railway line
Small guage railway line

At least 10 irrigations
Irrigation every week
Irrigation is required after 15 days

Possible without irrigation
Not possible
Possible in limited area

Pakistan

China
India

40 percent

50 percent
70 percent

50 percent

25percent
90percent

Does not play any vital role
Have not any important position
Play a little role

Gilgit
Chitral
Skardu

Does not suits
Does not remain better

Suits to some extent

Mushad
Tabrez
Tehran

Important gold exporting countries
Not Important gold exporting

countries

C.

Unimportant gold exporting

countries



1424

1425
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1427

1428

1429

1430

1431

1432

1433

1434

1435

1436

1437

1438

1439

1440

For nomadic and commercial herding:

In the primitive age, man had to collect food for filling his belly:

In Pakistan, per hectare yield of wheat, as compared to the world:

When did world population became 6 billion?

Among which cities double railway tract exist in Pakistan ?

With the start of monsoon, from the seaside:

Uranium can be present in the Earth's crust up to the depth of:

In Indonesia, tea production was introduced by:

In the world, for rice cultivation, monsoon region is:

For international Trade, sea transportation and seaports are:

For the development of international trade, we must develop:

In the world, yak is found in:

According to agriculture expert's investigation, earth's:

For tea plantation, such soil remain better, in which:

In sugar-cane cultivation, Sindh province ranks:

With one pound of Uranium, how much electricity could be produced?

World's how many countries are in low income group ?

B. Deserts are very important
C. Equatorial regions are very
important

D. Monsson region is important

. By hunting
. From fishing
. From agriculture

oo0ow

B. Is very high

. Is not less
. Is equal to other nations

o0

. December 2000
. January 2004
. June 1995

o0Ow

. Lahore-Peshawar
. Quetta-Zahidan
. Rohri-Chaman

warm &amp; dry winds start blowing
. moderate winds start blowing

. cold winds start blowing
. 5 Kilometer

. 50 Kilometer
. 100 Kilometer

UO0w» UOWmP» U0OW

. Dutch
. British
. Spaniards

oo0ow

. Not important
. Important to some extent
. Not veryimportant

oN@ Ny

. Not veryimportant
. Veryimportant
. No moreimportant

o @Ry

. Means of communication
Means of income
. Means of employment

. Desert areas
. Equatorial areas

W> 0w

O

. Temperate plain region

A. 20 percent can be used for
agriculture

B. Only 10 percent earth is available
for agriculture

D. 11 percent can be used for
agriculture

A. Lime is abundant
B. Sulphur is excessive

D. Silt is much
1st

. At no place
. At top level

. One million Kw

. 50 million Kw
. 5 million Kw

> UO0WP» UOwW

. 100 countries

N TNAniintriaa
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. 30countries

1750 A.D

1441 Artificial fibre nylone was invented in: 1950 AD

. After industrial revolution

. Dense forest are found

1442 In Pakistan, due to variation in distribution in rainfall: - Grassland is found

UOw» "UOwpP Oc

. Uniform vegetation is found

. Produces 50 percent
. Produces 25 percent
. Very small percent

1443 Out of total sugar-cane production, KPK province:

OoOow

. 20 percent wheat
. 40 percent wheat
. Only 10 percent wheat

1444 For wheat production, the continent of Europe, produces world's

oo0ow

B. Fat demand is easily being fulfilled

1445 Due to huge population increase, by animal means: C. Fat demand could be easily fulfilled
D. To fulfill the fat demand will not
possible

A. Does not affect fishing
B. Affect on fishing

1446 Does food habits of people affects fishing: C. May affect fishing

B. There is no need of irrigation
C. Irrigation has no importance
D. There is limited need of irrigation

1447 In Pakistan's agricultural economy:

Very limited
Very huge
Very very limited

1448 In Pakistan, chances of development of solar energy are:

oow

western depressions
Arabian Sea winds
northern depression

1449 In Pakistan, major source of rainfall isL

oow

China

1450 In the world, most superior cotton is produced by: India

Sudan
By electric furnaces

By atomic furnaces
By rock coal furnaces

ow> DowmP

1451 Before 1350 A.D, Iron & Steel work was done:

>

. water is necessary

1452 Von Leibig investigated in 1840, that for plant growth: _there is no need of minerals

. organic matter is needed

o0

B. Presence of means of transport are
not necessary

C. There is role of means of
transportation

D. There is very nominal role means of
transportation

1453 For cultural, economic and industrial development and political stability of country:

A. To explain

1454 The word graphy means: _Write

. Extract
. Desert forests
1455 Twelve percent of world's total forests are:

. Equatorial forests
. Mediterraneanforests

Saudi Arabia

1456 World's second largest natural gas reserves possessing country is: - Russian Federation

India

> UOWP» UOWP» U0

. China



B. India

1457 In 1980, which country became first in Iron & steel production:
D. Russia
1458 In Pakistan, wheat is: 2 xtfr:}ymgg‘:g;?ggg’p
D. Not important human food
. . . . B. cannot be used direct in reactor
1459 Due to fissionable property of uranium 235, it can be used for energy: C. can be used in reactor after it is
inenriched
D. cannot be used in any form
. B. 25percent natural rubber
1460 U.S.A consume world's: C. 70percent natural rubber
D. 80percent natural rubber
1461 World's largest producer of coal is: CB: ﬁﬁﬂ:g?(ingdom
D. United States of America
A. Pakistan
1462 Largest rape seed producing country in the world is: C. China
D. United Kingdom
1463 When was "Indus Water Treaty" signed ? 2 11222
D. 1965
A. 100 plants
B. lant
1464 At present, how many nuclear power stations are working in U.S.A ? C 51)%3? :Ira]lnsts
1465 In the world, rearing started: B. From Russian Federation
C. From Japan
D. From Canada
A. directly
1466 Plants got nitrogen from atmosphere: C. at day time
D. at night time
1467 Pakistan's Out, of total agriculture income: g (z)gl(); gepri;ﬁr;; 'Z::];n degybgoi’to;:?n
D. 15 percent is earned by cotton
1468 Lint is basic raw material for manufacturing: (E; E\I/”gc;[ﬁédr:l?e)dile
D. Jute textile
A. 50 million square miles
1469 Total Area of land surface is: C. 15 million square miles
D. 70 million square miles
1470 With one pound uranium, we can produce: 2 %Om'}?;ilg?]n}(}éve?;?rtizﬁgy
D. one million Kv eletricity
1471 In 1947, Pakistan possesses: (B: l,:l/lc;t n?/n%g:gg:ﬁnsth?g;p
D. So many merchant ships
1472 From tea plant, quantity of production depends upon: B. Soil fertility
C. Height from sea level (altitude)
D. Agri-technology
1473 If after disintegration of rocks, soil particle remain at its original place: - ltis known as transported soil

OO w

. It is known as fertile soil
. It is known as sandy soil
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1475

1476
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1478

1479

1480

1481

1482

1483

1484

1485

1486

1487

1488

Bangarsoil of regions of doabs is:

When was Pakistan resolution approved?

Rice cultivation season in the world is:

Soil possessing pH value from 7 - 11 is called:

For tea plantation, average required temperature is:

In 1900, world's only 2 percent energy requirements were met by:

According to agriculture expert's investigations, earth's:

U.S.A, France and Japan produce world's:

Pakistan's northern and north-eastern mountains:

International Paper industry is dependent on:

The word Graphy means

In the establishment of chemical fertilizer industry:

In the world, ratio of women in labour force is:

In peat coal, carbon content may be:

Mineral oil production began in Iran in:

. Fresh alluvialsoil
. Recent age transported soil
. Localsoil

. 1st Feb,1939

. 3rd December, 1943
. Winter season

. Autumn season

B
C
D
A
C. 1st June, 1946
D
A
C
D. Beginning of winter season

. Acidicsoil
. Neutralsoil
. Fertilesoil

o0

B. Not very high

C. About 32<span style="color:
rgb(34, 34, 34); font-family: sans-serif;
font-size: 17.5px;">°</span><span
style="color: rgb(34, 34, 34); font-
family: sans-serif;"></span>F

D. Below 32<span style="color:
rgb(34, 34, 34); font-family: sans-serif;
font-size: 17.5px;">°</span><span
style="color: rgh(34, 34, 34); font-
family: sans-serif;"></span>F

A. Coal
B. Natural gas
C. Hydroelectricity

A. 20 percent can be used for
agriculture

B. Only 10 percent earth is available
for agriculture

D. 11 percent can be used for
agriculture

. 30percent nuclear power
. 25percent nuclear power
. 70percent nuclear power

oo

. Are located in three parallel series
. Are located in five parallel series
. Are located in two parallel series

Herding

. Fishing
. Agriculture

. To explain

Write
Extract

UOw» U0OwpP U0Ow

. raw material has no importance
. raw material do nothing
. raw material has some value

. 50 percent
. 60 percent

. 45 percent
Up to 20 percent

. Up to 80 percent
. Up to 70 percent

1900 AD
1930A.D

W»> UO0WP» UOWP UOm

O

. 1950A.D



B. Fish ports are not needed

1489 For development of fishing industry: C. Fish ports facility does not affect
D. Presence of fish ports are not
suitable

A. Japan
B. China

1490 In the world, largest wool exporting country is: C USA

B. Industrial revolution
C. Trade development
D. High death rate

1491 In 8000 B.C., which factor increases the population growth rate:

Sri Lanka
Brazil
African countries

1492 At present, world's 91.5% percent natural rubber produces in:

oow

Bonn
Hamburg
Wuppertal

1493 Largest silk textile manufacturing center is Germany is:

oow

Tolado
Indiana
. Adirondacks

1494 U.S.A's largest Iron & steel center is located at:

cow

70.2 percent
50.5 percent
. 90.3 percent

1495 According to population census of 1998, urban population ratio of Islamabad is:

cow

B. 4.5million hectares
C. 5.0million hectares
D. 5.2million hectares

1496 During 2014.15, area under cash crops in Pakistan was;

Sumatra
Borneo
. Selebezes

1497 In 1823, Portuguese, introduced tea in Indonesia's Island:

cow

B. winter rainfall occurs
C. spring rainfall occurs
D. autumn rainfall occurs

1498 Due to monsoon winds, in Pakistan:

50percent
70percent
30percent

1499 Punjab & Sindhprovince together, produce what percentage of rice ?

oow

Is hot &amp; dry region's plant
Is hot desert plant
Is tundra region's plant

1500 Tobacco plant:

1520Mw
1710Mw

W> Uow

1501 Installed capacity of electricity of Mangla hydel power is:

o

1225Mw

For best rice crop,at planting time nursery must be: More than 40 days
1502
Only 20 days

Age of nursery does not affect
Public sector
1503 In capitalist planned economy, industrial development is mostly in:

The hands of Government people
The hands of labourers

DOU» DOD

A. Are very thinly populated
1504 River valleys of world, which possesses fertile plains: C. Are almost totally unhabited
D. Thinly populated

A. 100% land surface was covered
with vegetation

1505 Eleven thousand years before today: B. Forest areas are limited
C. There was no forests
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1521

1522

In imports and exports of Pakistan, sea transportation:

According to govt. statistics of 2003, population of Pakistan was:

Areas with high temperature and low rainfall:

Soils between present flood plains and old bar areas are known as:

Those regions of the world, where average annual rainfall is more than 40 inches:

Date of Independence of Pakistan is:

According to 1901 population census, urban population of today Pakistan was:

In Pakistan, 40 percent sugar-cane production:

Cholistan desert is in the:

In 1955, Pakistan possesses how many merchant ships ?

Pakistan's climate and soils for wheat cultivation:

For successful international trade we must aware about:

At the time of agricultural revolution, world population was:

German people's saying is that natural vegetation is:

For successful international trade we must aware about

Including grasslands, how much area of Pakistan is under forests ?

Rice is grown, over total cultivated area's:

. Has nominal importance
. Has not very importance
. Has very little importance

OoOw

. 145 million persons
. 170 million persons
. 200 million persons

oo0ow

. Possesses dense vegetation
. Possesses absolutely no vegetation
. Cannot support vegetation

oN@ Ny

. Bangarsoil
. Alluvialsoil
. Aridisolsoil

oN@ Ny

B. Are not suitable for sugar-
canecultivation

C. Are unsuitable for sugar-
canecultivation

D. Are relatively suitable for sugar-
canecultivation

. 15th August, 1947
. 30th August,1947
. 1st June, 1947

o0Ow

. 15 percent
. 5.5percent
. 17.5 percent

o0

. Is consumed for sugar
. Is consumed for animal fodders
. Is wasted in many ways

oo0ow

. North-east of Punjab
. Between river Jhelum &amp; Sindh
. Between river Ravi &mp; Sutluj

o @ Ny

. Only 10ships
. 50ships
. 90ships

o0Ow

. Are not suitable
. Does not suit
. Are suitable to some extent

o0Ow

. Mineral production
. Agriculturalproduction
Human resources

. One billion
. Only few lacs

UOmW» U0OW

.20 lac

. Major source for industries
. Basic need for human beings
. Not important thing

o0ow

. Mineral production
. Agricultural production
Human resources

. 15 million hectares
. 5miillion hectares

. 20million hectares

. 20 percent
. 50percent

TOW» UOWP U0w

. Less than one percent
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1534

1535

1536

1537

1538

1539

In Pakistan, sugar-cane is an important:

Long time before industrial revolution woollen textile manufacturing:

In lignite coal, carbon content may be:

At which year, Orient airways continued it business?

In U.S.A use of natural gas started in:

In world, second largest gold producer is:

Under National High Way Authority, percentage of roads length is:

Transportation in river Indus is:

During 2001, world's iron ore production was:

The height of Siwaliks range is:

Agricultural started in such areas of the world:

Anthracite deposits account for how much of global coal deposits?

In Baluchistan province, major source of irrigation is:

Pakistan's northern and north eastern mountains:

In hot countries, for vegetative growth of wheat:

In backward countries, ratio of labour force engaged in agriculture is:

Not-physical factor's along with physical factors also:

o

oow

ocow

oOwx>

oCow

o>

DOU> DOW

W> Uow

COm> DO

. Not a cash crop

Food crop
Not a food crop

Was a very small industry
Have not existence anywhere
Was being performed

Only 10 percent

Up to 25percent
Up to 90percent

1957
1960
1965

California state
Florida state

Washington state

Russian Federation
India
China

10 percent
15percent
20percent

Possible from Kotri to delta
Possible from Sukkur to Kotri
Not possible

1000 million metric tons
500 million metric tons

2000 million metric tons

Up to 1,000 meters
Up to 2,000 meters
Up to 500 meters

Where water was not available
Where water was needed
Rainfall was sufficient

. 10 percent

20 percent
80 percent

. Canals

Persian wheel
Tube-wells

. Are located in three parallel series

Are located in five parallel series
Are located in two parallel series

. 15 inch annual rainfall is enough

Sufficient rainfall is required
Very small rainfall is required

. Very high

30 percent
Very small

. Do not effect the agricultural activity

Effect the agricultural production
Effect the human efficiency

Shallow water
NAld Aaan Aaan
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1542
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1544

1545

1546

1547

1548

1549

1550

1551

1552

1553

1554

What type of water is most suitable for fish ?

Russian Federation, Kazakhstan, Ukraine & Uzbekistan possesses how much world's
uranium deposits ?

Due to air crash in 1949, licence of which air company was cancelled?

During 2014-15, area under pulses and oilseed crops was:

In Pakistan, without irrigation facility, rice crop cultivation is:

In Pakistan, major source of rainfall is:

Cultivation of tobacco crop is done:

Among European countries, which century is leading cotton producer:

In 1900 A.D., world population was:

For propagation of rubber plant:

Soya bean crop is cultivated during:

For best vegetative growth of sugar-cane:

In world, which region has highest yield of sugar-cane ?

In the world, largest producer of rubber is:

The native country of tea is:

“UIU UTTY Uccp

. Hot deep water

or

. 33 percent
. 50percent
. 15percent

Ow>

. Orient airways
. Crescent airways
. Boaja airlines

o @Nvy)

. Tmillion hectares
. 2.01million hectares
. 3.01million hectares

OoOow

. Easily possible
. Very easily possible
. Being cultivated

oo0ow

. Western depressions
. Arabian Sea winds
. Northern depressions

o Q@Nvy)

. Direct by seeds
. Both by seed &amp; nursery
. By any method

OO w

. France
. ltaly
. Spain

o0ow

. Four billion
. Five billion
. One billion

oo0ow

B. Desert climate is suitable

C. Monsoon climate is suitable
D. Sudani climate is suitable
A
B

. Autumn season
. Winter season

D. Very cold season

B. 40<span style="color: rgb(34, 34,
34); font-family: sans-serif; font-size:
17.5px">°</span><span style="color:
rgb(34, 34, 34); font-family: sans-
serif;"></span>F is best suitable

C. 15<span style="color: rgb(34, 34,
34); font-family: sans-serif; font-size:
17.5px;">°</span><span style="color:
rgb(34, 34, 34); font-family: sans-
serif;"></span>F is most favourable
D. temperature does not effect

. China

A
C. Australia
D. Pakistan

. Indonesia
. Malaysia
. India

o @ Ny

PR

. Bangladesh

Qril anlka
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1565

1566

1567

1568

1569

1570

During 2015, leading oil producer of the world was:

In the world largest quantity of wool is obtained from:

For linkage between urban & rural areas, means of transportation:

Which country produces largest amount of nuclear power in the world?

Japan's silk fabric's major purchaser is:

Due to Pakistan's location, in north of tropic of cancer:

The Tea plantation in China is being done:

Nippon-Kokan steel mill located in Japan:

In 1947, sugar-cane production in Pakistan was:

The melting point of gold is:

In the world, for silk-farming:

Native country of Hevea brasiliensis plant is:

Natural silk is prepared by:

In Pakistan, mangrove forests are found:

During 2000-01, PPI's installed capacity of electricity was:

Annual tea production in the world is:

[wX¢

o0ow

o

UOW» U0OW
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. VIl Lalina

. Kenya

. Russian Federation
. Saudi Arabia

China

. Rambouilets sheep
. Merino sheep

. Linclns sheep
. Are not necessary

. Are necessary to some extent
. Are absolutely not necessary

. Canada
. Russian Federation

China

. United Kingdom

. Canada
. Brazil

. It is located in cold temperate

region

oN@Nvy)

> OoOw

. It is located in tropical region
. It is located in torrid region

C
D
A
C
D

From thousands years

. Before a few centuries
. Since 500 B.C.

. Is Japan's important steel mill
. Is China's largest steel mill
. Is not world's largest steel mill

. 10lakh tons
. 15lakh tons
. 20lakh tons

. 1000<span style="color: rgb(84, 84,

84); font-family: arial, sans-serif; font-
size: small;">°</span>C

B.

1500<span style="color: rgb(84, 84,

84); font-family: arial, sans-serif; font-
size: small;">°</span>C

D.

500<span style="color: rgb(84, 84,

84); font-family: arial, sans-serif; font-
size: small;">°</span>C

A

oow

PR

DOom» U0

DOU> DOW

South Korea has world fame

Iran has world fame
Brazil ranks at the top

Nigeria
Congo

Zambia

Not silkworm
Caterpillar
Many worms

In the Punjab province
Nowhere in the country

In KPK at some places

5000 MW
3,500 MW
2,500 MW

. 5 million tons

Nna millinn tAne
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1582

1583
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1586

For stability of prices in the country:

New Zealand fulfils, how much its electricity needs by hydro-electricity ?

In developed countries rearing has

Ground-nut/peanut cultivation is being done:

When did Crescent airways closed its business ?

World's per square mile population density is:

Most important sugar-cane producing area in Australia is:

For preparation of one ton stainless steel:

Brazl produces world's:

Population of the world, up to June 2016 was:

In 1948, where Valika cotton textile mill was established:

In the world, from agriculture earned from animals

Colour of northwestern & western mountainous region soil is:

In Pakistan's agricultural position:

Soil possessing pH value from 7-11 is called?

In Pakistan, glucose is manufactured at large scale:

. VLIS TNV WLED

D. 10 million tons

B. Means of transport are not needed
C. Means of transport are absolutely
unnecessary

D. There is no importance of means of
transport

A. 50 percent
B. 25percent

80percent
Not any progress

Not any considerable progress
Progressed very slowly

Dow> O

In cold countries
In extremely cold countries
In warm-humid equatorial countries

oow

1950
1955
1959

500 people
300 people

DOW» UOD

50 people

. <div>New South Wales</div>
. South-Western region
. Central Australia

. Small quantity of water is required
. Large quantity of water is required

> OOW

There is no need of water

. Five percent sugar-cane
. sixteenpercent sugar-cane
. largest amounts of sugar-cane

oOw» O

. 5.5 billion

. 6.5billion
. 7.418billion

. Hyderabad
. Peshawar

> TOwWP

D. Faisalabad

A. Only 5 percent is being earned from
animals
B. Animal contribute a little

D. A major portion is contributed by
animals

Brown
. Dark Brown
. Gray

oOw

. There is no need of irrigation
. Irrigation has no importance
. There is limited need of irrigation

OooOow

. Acidic soil
. Neutral soil
. Fertile soil

o0ow

. From sugar-cane
. From grapes
. From sugar-beet

oow



. Major source for industries
. Basic need for human beings
. Not important thing

1587 German People's saying is that natural vegetation is

OO w

. 100Km
. 150Km
. 75Km

1588 Length of Faislabad-Pindi Bhattian motorway is:

oo

B. Silk fabrics importing countries
1589 China, Japan, France and ltaly are: C. Silk fabrics are manufactured for

home

D. Do not export silk fabrics

B. United States of America
C. Japan
D. Russian Federation

1590 Which country produces largest amount of electricity in the world ?

A. hot and moderate region
1591 In the Sub-continent, Jacobabad, Sibi and Turbat are: C. moderateregion
D. severe humidregion

B. Pakistan, Afghanistan &amp; Iran
C. Mongolia, Turkmenistan &amp;
Uzbekistan

D. Greece, Albania &amp; Italy

1592 Which countries of the world, practice commercial rearing ?

. Animals
Plants
. Jungle

1593 In Geography, alongwith Earth we study about:

oow

. Not very important
. Very important
No more important

1594 For International Trade, sea transportation and seaport are:

. Pakistan
India

1595 Angora goats are reared in: " Western Asia

OwW>» UOw

. Very vast
. Very limited
. about 3 lakh sq Km

1596 In Pakistan, Indus river and its riverines basin area is:

OooOow

. Sandy soil
. Clayey soil
. Transported soll

1597 Region of Potwar plateau is composed of:

o0ow

A. Is up to 60 percent
1598 In magnetite iron ore, iron particles percentage: B. Is near about 50 percent

D. Is about 90 percent

B. 8570Km
C. 7500Km
D. 9500Km

1599 At the time of independence, Pakistan inherited how many Km railway line ?

B. There is no change in vegetable oil
demand

C. Demand of vegetable oil is not
increasing

D. Vegetable oil demand is increasing
slowly

1600 Due to fast increase in human population:

B. 650Km
C. 850Km
D. 500Km

1601 Length of Makran-Gawadar coastal highway is:

B. Eastern Texas
C. Southern Louisiana
D. Florida

1602 In United States of America, which region is famous for sugar-cane production:

A. Are thickly populated
B. Are very thickly populated

1RN WiArld'e aviramahs hat aviramahs hiimid aviramahs ~Ald and euwmmnug arcac:
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1618
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In India, most prominent cotton producing region is:

Silkworm cultivation, started in U.S.A in:

In the continent of Europe, France:

Length of common boderline of Pakistan & Iran is:

In the world, important herding regions are:

Most beneficial animal of Tundra region is:

Russian Federation's most important cotton textile center near Moscow:

Sheep rearing is man's:

Corn contains protein content:

North-eastern and north-western mountains of Pakistan were formed:

World's largest natural gas producer is:

In Egypt, cotton is being cultivated over:

In Pakistan, first nuclear power station was established at:

The raising of silkworms totally depends upon:

In the world, which continent ranks first in phosphate manufacturing ?

After industrial processing, raw material is used:

In the world, China is largest producer of:

ocow

ow>

oow

oow

oow

oow

CO®m> DO

Ow>» DO

Cw>» DO

Are very very thickly populated

Maharashtra
Tamil Nado
Karnataka

200B.C
5th century A.D

After industrial revolution

Imports wheat
Export small amounts of wheat
Does not export wheat

810 Km
900 Km
500 Km

In the continent of Africa
In the continent of Europe
In the continent of Antarctica

Camel
Horse
Cow

Stalinabad
Tashkent
Leningrad

Secondary economic activity
Quinary economic activity
Quaternary economic activity

. At very low level

At very high level
Up to 20 percent

. In quaternaryera

In pre-cambrianera
In Cambrianera

. Russian Federation

Saudi Arabia
China

. 10 percent of cultivated area

Very small area
25 percent of cultivated area

Hyderabad
Multan
Faisalabad

Suitable climatic conditions
Better weather availability
Human skill &mp; labour

Europe
Australia
South America

In its unnatural form
In the form of manufacturings

. In the shape of usable goods

Corn oil
Soya bean oil
Sunflower oil
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1635
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In KPK and Baluchistan provinces area under cotton crop;

Tropical Evergreen forests

During 2015, world's iron ore production was:

World's largest Iron & steel manufacturing mill is in:

Legume crops increase/provide soil:

How much area of Baluchistan province possesses, out of Pakistan's total area ?

Among soil forming factors:

For successful cotton crop, number of plants in one acre

Presence of nitrogen,phosphorus and potassium in the soil for plant growth:

World's percent coal reserves are present in the continent of:

For economic planning of a country:

Australia produce world's:

World's 75 percent of wool come from:

Electricity:

Canada, Brazil, U.S.A, China, India and Russian Federation together produce world's

hydro-electricity about:

During 2014-15, Pakistan's total area under cultivation was:

In which climate bulk of Fish is catches

OOw ooOw
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C.
D.

A

C.
D.

B.
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. Is very large
. Is very nominal
. Is large enough

. Are found in desert areas
. Are found in Tundra region

. Are found in cold areas

. 1000million metric tons
. 500million metric tons

. 2000million metric tons

China
US.A

. Russia

. sulphur

copper

. no thing

. 10 percent
. 8 percent
. 15 percent

. Physical features are important
. Natural vegetation is very important
. Time factor is important

. Must be 10 thousand
. Must be more than 25 thousand
. Must be 15 thousand

. is not necessary

is not very necessary
is absolutely not necessary

Africa

Europe
Australia

Knowledge of agri-statistics is

necessary

C.

Knowledge of mineral production is

necessary

D.

Knowledge of industrial statistics is

necessary

o0ow
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. 10 percent wool

. 50 percent wool
. 15 percent wool

. Tundra region
. Australia

China

. Is ages-old invention
. 1st invention of 20th century
. Is an unimportant invention

. 25percent
. 70percent

. 40percent
. 20million acre feet

15million acre feet

. 10million acre feet

. Hot climate
. Cold deep water

. Severe hot climate
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1653

1654

At the time of inception of Pakistan; installed capacity of thermal electricity was:

For tobacco cultivation hot and severe cold climate:

Historians believe that coal is first commercially mined in:

Maximum length of Pakistan is:

Brazl's Iron ore deposits are located at:

World's annual increase/ratio in labour force is:

World's evergreen forests:

From one pound uranium, we can produce equal to how much coal's energy?

For best quality, woollen textile manufacturing, Pakistan imports wool:

Indonesia's largest natural gas reserves are located in Sumatra Islands region of:

Lower Indus plain is located in the province of:

In bituminous coal, carbon content may be:

Wheat, linseed, masoor and gram are:

In the world, rearing started

In most of the Pakistani areas during winter air pressure:

In United Kingdom, use of coal started:

Coal, petroleum, water, natural gas, uranium, wind and solar energy are:

ooOw oOw
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. 70,000 Kv
. 1,25,000 Kv
. 2.5 lakh Kv

. Does not suit absolutely
. Does not affect
. Does not affect much

. United Kingdom

India

. United States of America

. 1,900 Km
. 1,850 Km
. 1,600 Km

Santa Catarnia

Sao-Paulo
Curumba

1.0 percent

2.0 percent
5.0 percent

Do not remain evergreen year

around
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. Shed their leaves during winters
. Shed their leaves in summers

1000 metric tons coal

. 500 metric tons coal
. only 500 metric tons coal

. From India

From China

.FromU.S.A

Borneo
Sambang
Dumbang

Sindh

. Punjab

KPK

. 20 percent
. 50 percent

. 30 percent

. Kharif crops
. Not rabi crops
. Not kharif crops

. From Russian Federation
. From Japan
. From Canada

become very low

. become moderate
. remains normal

. Before 1000 B.C

. In 18th century A.D
. In 19th century A.D

Are notsources of electricity

production

C.

sources with which electricity can

hAa neAadiiAnA
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1669

1670

1671

In 1790 A.D., U.S.A's first cotton textile mill was established at:

Which city of Pakistan is called as Manchester:

According to expert's opinion, agricultural started about:

If there is very heavy rainfall in any region:

How much area of KPK is under forests:

Which continent is smallest producer of hydro-electricity ?

First nuclear power plant was constructed in:

After crushing cane, sugar-cane bagasse:

When did, demarcation of ' Durand Line' took place?

World's 25% area is:

In maize production, Sindh and Baluchistan provinces:

Length of Islamabad-Peshawar motorway is:

Prairies grass region is located

Population growth rate of Pakistan is:

Where does locate Quinary Economic activity centers ?

During nineteenth century, in cotton textile manufacturing U.K.

During 2015, how much imports & exports were handled at Karachi Port ?

Ve pruuuccu

D. Are possible sources of electricity
production

A. California

C. Washington

D. Miame

A. Hyderabad

B. Rawalpindi

C. Peshawar

A. 20 thousand year's age

B. 5thousand year's age

D. 15thousand year's age

A. There will exist no forest

C. There will be only grass

D. There will be small vegetation
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. 2.0million hectares

. 5.0million hectares
. Very small area

. Australia
. South America
. Asia

. Russian Federation
. France
. Germany

. Is used for manufacturing produce
. Is not used as a fuel
. Is used as fodder for animals

1857

. 1890
. 1947

. Covered by deserts
. Covered by plateaus
. Covered by mountains

. Have prominent position
. Have significantposition
. Have very prominentposition

200Km
250Km
100Km

From 5°-10° latitudes

. Within equatorial region

. Along Mediterranean coastal belt

. 3 percent per annum
. 10 percent per annum
. 7 percent per annum

. Trade cities
. Seaports
. Universities

. Was not an important country
. Stands at lower level
. Stands no where

. 10million metric tons
. 30million metric tons
. 15million metric tons
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1673

1674

1675

1676

1677

1678

1679

1680

1681

1682

1683

1684

1685

1686

1687

1688

1689

Which age group of people is considered as manpower ?

Manchester (U.K) has world fame for which industry?

Spinning yields the yarn and weaving fileds:

In the world, at present, 450 atomic power stations production capacity is:

In 1947, population of West Pakistan was:

In 18th century, due to steel industry & railway in Europe and U.S.A:

Shandur Pass located in Hindukush provide linkage between:

During 2014-15, area under tobacco cultivation in Pakistan was:

In india, finest silk is obtained from:

In 1947, cotton, production in Pakistan was:

In Pakistan, amount of rainfall in rice cultivation areas is:

In equatorial rain-fed forests due to heavy rainfalls

In the world, wheat cultivation started from:

Which country, possesses largest number of nuclear power plants ?

Automatic power loom was invented in U.Kin:

In the establishment of fertilizer industry, location has:

In present Pakistan area, first railway line from Kotri to Karachi was:

When did Qasim International container Terminal start working ?
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.10 - 40 years
.15-45 years
. 15-50 years

. Woollen textile industry
. Silk textile industry

. Steel industry

Lint

. Thread
. Clothes

. 5 lakhMw
. 3 lakhMw
. 10 lakhMw

. 4 crore persons
. 5 crore persons
. 4.5 crore persons

Demand of coal became less

. Use of coal increased slowly
. No change took place in use of coal

. Hunza and Gilgit
. Gilgit and Chitral

. Gilgit and Laddakh

. Only 30 thousand hectares

75thousand hectares

. About one lakh hectares

. Tamal Nadu state
. West Bengal state
. East Punjab state

. 1.1million bales
. 5.0million bales
. 10.0million bales

. Absolutely absent
. Very small
. Not up to requirement

. Soil is very fertile

. Clayey soils are found
. Sandy soils are found

. Southern India

Sindh province
Cholistan

France
Japan

. Russian Federation

1943 AD

.1902 AD
. 2000 AD

. no importance
. importance to some extent

. absolutely no importance
. Constructed in 1875 A.D

. Constructed in 1905 A.D
. Constructed in 1935 A.D

. 1st June, 1975
. 1st January, 1995
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In Pakistan, cotton picking work is done:

The estimated fresh water (river, streams, etc.) fish species are

In the Punjab, Potwar plateau region is:

Who was head of boundary commission of '‘Durand Line' ?

Temperate region grasslands:

In Pakistan, spring maize crop is being cultivated in:

In the Sub-continent, Jacobabad, Sibi anb Turbat are:

The coastal areas of Norway are:

Maximum wool is produced in which region of the world:

Ripening period of sugar-cane crop in Indonesia is:

Tropical regions warm-humid climate for sugar-cane is:

During the cultivation of cotton crop:

In the world, Mediterranean climate region is:

For manufacturing modern machinery of cotton textile, Japan, U.K, Germany and U.S.A:

When did natural rubber production started in Sri Lanka (Ceylon)?

In Pakistan, winter rainfall occur due to:

In 1930, world's greatest barrage:

D. 15th July, 1999

B. With the help of machines
C. By hands &amp; machines
D. By latest technology

A. Many thousands species
B. 40 thousand species
C. 5 thousand species

B. Not important for rain-fed wheat
region

C. Important for irrigated wheat crop
D. Least rain-fed wheat producing
region

B. Lord Mountbatten
C. Lord Macaley
D. Lord Mecanzey

A. Are not important for rearing

B. Has little importance for commercial
herding

C. Has no importance for rearing

. Baluchistanprovince
. Allprovinces
. Not in anyprovince

. hot and moderate region

. moderate region
. severe humid region

OO0ow>» OOW

. Not suitable for fisheries
. Suitable to some extent for fisheries
. Extremely unsuitable for fisheries

. Tundra region

. Northern hemisphere's countries
. Western hemispheres

oOoOw>» OTOOw

. only 6 months
. 24 months
. one year

o @ Ny

. Absolutely not suitable
. Suitable to some extent
. Not suitable

OoOw

. 100 sunny days are required
. weather does not count
. ho need of sunny days

oo0ow

. Important for horse herding

. Important for donkey rearing
. Important for cattle rearing
Have not any position

. Have not any importance
. Have a little importance

1900 A.D
1850A.D

1857A.D
. local winds

. Arabian Sea winds
. Monsoon winds

UOw» UOwWwP U0OwP U0Ow

B. Jinnahbarrage was constructed
C. Chashmabarrage was constructed
D. Tounsabarrage was constructed
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North-eastern and north-western mountains of Pakistan were fromed:

Excessive use of fertilizers is:

In 1947, for running railway system:

For cultivation of sugar-cane crop:

At the time of independence, in 1947-48, production of wheat was:

In the world, installed power generating capacity of 450 power stations is:

The continent of Africa produces world's:

In the world, which country possesses largest uranium deposits ?

During 2014-15, Pakistan's tobacco production was:

Until 1985, in how many countries nuclear power stations were established?

In the world, largest gold deposits are in:

Sugar-cane crop is native of:

Pakistan's 90 percent internal trade & passenger transport:

In Pakistan, Deodar, Kail, Supruce and Fur forests are:

In Pakistan, sugar-cane is:

World's largest natural gas reserves are in:

Length of first railway line from Kotri to Karachi was:

B. In quaternary era
C. In pre-cambrian era
D. In Cambrian era

A. creating problems

C. creating nothing
D. creating severe problems

B. There were no deficiency of trained
people

C. Sufficient trained force was
available

D. Trained people were not available

Monsoon climate is not suitable
Equatorialclimate is not suitable
Desertclimate is not suitable

oow

Very small
More than 5million metric tons
10million metric tons

25,000 megawatts
31,718megawatts

W> Uow

o

450,000megawatts
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. 20percent rubber

C. 50percent rubber
D. 10percent rubber

Kazakhstan
Russian Federation
US.A

ocow

70thousand metric tons
50thousand metric tons
30thousand metric tons

10 countries
15 countries
50 countries

Ow>» DO

Canada
Brazil

@ >

D.USA

. West Indies Islands
West Africa
Indonesia

cow

Is done by water ways
Is done by by railway
Is done by air service

Found everywhere
Found at some places

w> DOow

D. Found nowhere

A rabi crop
A zaid rabi crop
Not a kharif crop

oow

Kazakhstan
USA

@ >

D. Canada

B. 150 Km
C. 200 Km
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Plains regions climate, of Pakistan for sugar-canecultivation is:

Which region of U.S.A possesses largest gas reserves ?

Out of total population of the world, percentage of Pakistan's population is:

In north-eastern mountainous regions soil:

Largest wool exporting country of the world in Africa is:

During 1999, China's rank in electricity generation in the world was:

Which regions of the world are most suitable for commercial herding ?

From Brazl and Congo's forests:

The estimated sea water species of fish are

Natural vegetation of any region depends upon:

U.S.A, France, and Japan produce world's:

Iron ore, after first stage smelting is called

What is basic diet of fish

Out of total, under cultivated area of Pakistan, 13.5 percent is under:

D
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B.
C.

D
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. 250 Km

. Absolutely not suitable
. Suitable to some extent
. Not suitable

. North-western Texas
. Oklahoma state
. Arkansas state

. 5 percent
. 10 percent
. 7 percent

. Iron is in large amount
. Organic matter is excessive
. Organic matter is less

Sudan

. Zimbabwe
Kenya

. 1st in the world

. Fifthin the world
. Tenthin the world

. Tundra region
. Tropical region
. Desert region

. Gold is obtained
. Petroleum is obtained

. Olive is obtained

. 1000 species
. 10 thousand species

. 15 thousand species

. Types of soil
. Human intervention
. Physiography of the area

. 30 percent nuclear power
. 25 percent nuclear power
. 70 percent nuclear power

. Wrought iron
. Cast iron

. Rawiron

. Grass
. Mineral particles
. Meat

Sugar canecrop
Peanutcrop
. Soyabeancrop



